- ELEMENTS

OoF

QUATERNIONS.

BY

A. 8. HARDY, Pu. D,

PROFESSOR OF MATHEMATICS, DARTMOUTH COLLEGE.

BOSTON:
PUBLISHED BY GINN & COMPANY.
1887.



PREFACE.

—_——

HE object of the following treatise is to exhibit the
elementary principles and notation of the Quaternion

Caleulus, so as to meet the wants of beginners in the
class-room. The Flements and Lectures of Sir William
Rowan Hamilton, while they may be said to contain the
suggestion of all that will be done in the way of Quater-
nion research and application, are not, for this reason, as
also on account of their diffuseness of style, suitable for
the purposes of elementary instruction. Tait’s work on
Quaternions is also, in its originality and conciseness,
beyond the time and needs of the beginner. In addition
to the above, the following works have been consulted:

Caleolo dei Quaternione. Bellavitis; Modena, 1858.

Ezposition de la Méthode des EBquipollences. Traduit
de I'Italien de Giusto Bellavitis, par C.-A. Laisant; Paris,
1874. (Original memoir in the Memoirs of the Italian
Society. 18564.)

Théorie Elémentaire des Quantités Complezes. J.
Hotiel ; Paris, 1874.

Fssai sur une Maniére de Representer les Quantités
Imaginaires dans les Construction Géométriques. Par
R. Argand; Paris, 1806. Second edition, with preface



iv PREFACE.

by J. Hotiel; Paris, 1874. Translated, with notes, from
the French, by A. S. Hardy. Van Nostrand’s Science
Series, No. 52; 1881.

Kurze Anleitung zum Rechnen mit den (Hamilton'schen)
Quaternionen. J. Odstréil; Halle, 1879.

Applications Mécaniques du Caleul des Quaternions.
Laisant; Paris, 1877.

Introduction to Quaternions. Kelland and Tait; Lon-
don, 1873,

A free use has been made of the examples and exercises
of the last work; and, in Article 87, is given, by permis-
sion, the substance of a paper from Volume I., page 379,
American Journal of Mathematics, illustrating admirably
the simplicity and brevity of the Quaternion method.

If this presentation of the principles shall afford the
undergraduate student a glimpse of this elegant and pow-
erful instrument of analytical research, or lead him to
follow their more extended application in the works above
cited, the aim of this treatise will have been accomplished.

The author expresses his obligation to Mr. T. W. D.
Worthen for valuable assistance in the - preparation of
this work, and to Mr. J. S. Cushing for whatever of

typographical excellence it possesses.
A. S. HARDY,.

HanNovEer, N.H., June 21, 1881.
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QUATERNIONS.

—_—

CHAPTER 1.

Addition and Subtraction of Vectors, or Geometric Addition and
Subtraction,

1. A Vector is the representative of transference through a
given distance in a given direction.

Thus, if A, B are any two points, vecfor AB implies a trans-
lation from A to B.

A vector may be represented geometrically by a right line,
whose length denotes the distance over which transference takes
place, and whose direction denotes the direction of the trans-
ference. In thus designating a vector, the direction is indicated
by the order of the letters.

Thus, aB (Fig. 1) denotes transference
from A to B, and Ba from B to A.

Retaining the algebraic signification of the signs + and —, if
AB denotes motion from A to B, then —aB will denote motion
from B to A, and

Fig. L.

B

AB= —BA, —AB==BA . . . . (1).

Hence, the effect of a minus sign before a vector is to reverse
its direction.

The conception of a vector, therefore, implies that of its two
elements, distance and direction; it was first defined as a directed
right line. Tt is now applied more generally to all quantities
determined by magnitude and direction. Thus, force, the path
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of a moving body, velocity, an electric current, ete., are vector
quantities.

Analytically, vectors are represented by the letters of the
Greek alphabet, o, 8, vy, ete.

2, It follows, from the definition of a vector, that all lines
which are equal and parallel may be represented by the same vec-
tor symbol with like or unlike signs.
If equal and drawn in the same
direction, they will have the same
A B £ F sign. Hence an equality between
\ two vectors implies equality in dis-

¢ tance with the same direction.
Thus, if as (Fig. 2), cp, BE, EF
and na are equal and drawn in the same direction, they may be
represented by the same vector symbol, and

Fig. 2.

AB=CD=BE=FF=HG=0a . . . . (2).

3. It follows also from the definition of a vector that, if vec-
tors are not parallel, they cannot he represented by the same
vector symbol.

Thus, if the point o (Fig. 8) move over the right line B,
from 4 to B, and then over the right line Bc, from B to ¢, and

AB = ¢, BC must be denoted by

some other symbol, as G.
¢ The result of these two succes-
7 sive translations of the point A is
8 the same as that of the single and
direct translation ac=y, from a to
a B ¢; in either case a is found at the
extremity of the diagonal of the
parallelogram of which a® and Bc are the sides. This combina-
tion of successive translations is called addition, and is written

in the ordinary way, at+B=y . . . . . . . 3.

Fig. 3.
D

This expression would be absurd if the symbols denoted mag-
nitudes only. It means that transference from A to B, followed
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by transference from B to ¢, is equivalent to transference from
Atoc. The sign + does not therefore denote a numerical ad-
dition, or the sign = an equality between magnitudes. If is,
however, called an equation, and read, as usnal, “a plus B is
equal to y.” This kind of addition is called geometric addition.

4. If the point s (Fig. 8), instead of moving over the sides
AB, BC of the parallelogram sscp, had moved in succession over
the other two sides, oD and pc, the result would still have been
the same as that of the single translation over the diagonal ac.
But since ap and Bc are equal in length to pc and ap respect-
ively, and are drawn in the same direction, we have (Art. 2)

AB=pc and BC= AD,

and if the first two translations are represented by as and =Bc,
the second two may be represented by Bc and as, or

at+B=B+a=y I (O F

Hence the operation of wector addition is commutative, or the
sum of any number of given vectors is independent of their order.

5. If the point & (Fig. 4) move in succession over the three
edges AB, BC, ¢ of a parallelopiped,
we have Fig. 4,

AB 4 BC = AC, " G
and ! e
AC 4 CG = AG, 1 7/
or ! //
(4B + BC) 4 CG = AG. | Vi
/! 2 C
4 //
. ]
In like manner o) I AP N ;')
F
BC - 0G = BG, K //
AB -+ BG = AG, ////
or A
AB -+ (BC + €)= AG. B
Hence

(AR +BC)+ca=4aB+(BC+0e) . . . (5),

and the operation of vector addition is associative, or the sum
of any number of given vectors is independent of the mode of
grouping them.
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6. Since, if ac=7y (Fig. 3), then ca = —vy, we have
atp—y=0,
or, comparing with equation (3),
o+ = 7

a term may be transposed from one member to another in a vector
equation by changing its sign.

Also, in every triangle, any side may be considered as the
sum or difference of the other two, depending upon their direc-
tions as vectors. Thus (Fig. 8)

y—B=gq,
Yy—a=
It is to be ohserved that no one direction is assumed as posi-
tive, as in Cartesian Geometry. The only assumption is that
opposite directions shall have opposite signs. The results must,
of course, be interpreted in accordance with the primitive as-
sumptions. Thus, had we assumed BA=a (Fig. 8), y and 3
being as before, then

7. If two vectors having the same direction be added together,
the sum-will be a vector in the same direction. If the vectors
be also equal in length, the length of the vector sum will be twice

~ the length of either. If n vectors, of equal length and drawn

in the same direction, be added together, the sum will be the
product of one of these vectors by n, or a vector having the same
direction and whose length is n times the common length., If
then (Fig. 2

en( g ) AF = XAB = XCD = Za,
where A, B and F are in the same straight line, cp = aB, and =
is a positive whole number, # expresses the ratio of the lengths

of ar and o. From the case in which 2 is an integer we pass,
» by the usunal reasoning, to that in which it is fractional or in-
' commensurable. Vectors, then, in the same direction, have the

same ratio as the corresponding lengths.
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If AB = a be assumed as the unit vector, then
AF = Ma,

in which m is a positive numerical quantity and is called the
Tensor. It is the ratio of the length of the vector ma to that
of the unit vector a, or the numerical factor by which the unit
vector is multiplied to produce the given vector.

Any vector, as 8, may be written in general notation

B=TRUR.

In this notation, T3 (read ¢ tensor of B7) is the numerical
factor which stretches the unit vector so that it shall have the
proper length ; hence its name, tensor. It is, strictly speaking,
an abstract number without sign, but, to distinguish between it
and the negative of algebra, it may be said to be always posi-
tive. UB (read ¢ versor of 87) is the unit vector having the
direction of B; the reason for the name versor will appear later.

T and U are also general symbols of operation. Written be-
fore an expression, they denote the operations of taking the
tensor and versor, respectively. Thus, if the length of 8 is =
times that of the unit vector,

T(B)=n,
where T denotes the operation of taking the stretching factor,
i.e. the tensor. While

U(3)=18
indicates the operation of taking the unit vector, that is, of
reducing a vector 8 to its unit of length without changing its
direction.

8. If ro (Fig. 5) be any vector, and BA = yBC, then
— BA = AB= — ¥BC; Fig. 5.

and, in general, if BA and BC be B c A
any two real vectors, parallel and

of unequal length, we may always conceive of a coefficient y
which shall satisfy the equation

BA = ¥/BC,
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where ¥ is plus or minus, according as the vectors have the same
or opposite directions. y may be called the geometric quotient,
and is a real number, plus or minus, expressing numerically the
ratio of the vector lengths. This quotient of parallel vectors,
which may be positive or negative, whole, fractional or incom-
mensurable, but which is always real, is called a Scalar, because
it may be always found by the actual comparison of the parallel
vectors with a parallel right line as a scale.

It is to be observed that tensors are pure numbers, or signless
numbers, operating only metrically on the lengths of the vectors
of which they are coeflicients: while scalars are sign-bearing
numbers, or the reals of Algebra, and are combined with each
other by the ordinary rules of Algebra; they may be regarded
as the product of tensors and the signs of direction.

Thus, let
a= aUa.

Then Ta=a. If we increase the length of o by the factor b,
b is a tensor, but the tensor of the resulting vector is ba. If we
operate with — b, — b is not a tensor, for o is not only stretched
but also reversed ; the tensor of the resulting vector is as before
ba ; in other words, direction does not enter into the conception
of a tensor. As the product of a sign and a tensor, —bis a
scalar. The operation of taking the scalar ferms of an expres-
sion is indicated by the symbol 8. Thus, if ¢ be any real alge-
braic quantity,

S(—bala+c)=c,
for — baUa is a vector, and the only scalar term in the expres-
sion is ¢.
9. It is evident from Art. 7 that if a, b, ¢ are scalar coefli-
cients, and « any vector, we have
(a+b+c)a=aa+t+batco . . . . (6).
Furthermore, if (Fig. 6)

OA=aqa, AB=Pp, BC=vy, OA'=ma,
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then, a'B' being drawn parallel to aB and B'¢c’ to Be,

A'B'=mp, B'd=my.

Now
oc=oa+4 B+, Fig. 6.
and - 2
od'=moc=m (a+B+7v). B
o Al A
But we have also \
oc' = oa! 4 A'B' + B/ o
= ma + mB -+ my. ©
Hence
m(a+ﬂ+y)=ma+mﬁ+my .o (D,

or the distributive law holds good for the multiplication of scalar
and vector quantities.

10. It is clear that while

a—a=0,

a % B cannot be zero, since no amount of transference in a direc-
tion not parallel to a can affect a.
Hence, if
na 4 mB =0,

since o and B are entirely independent of each other, we must
have

na=0 and mB=0,
or

n=0 and m=0.
Or, if

mao. 4-nf =m'a + n'B,

then

f

m=m' and n=n'

And, in general, if

then

Sa+38=0,
} ..

So=0 and 38=0
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Three or more vectors may, however, neutralize each other.
Thus (Fig. 7)

Fig.7. 0«+,3+‘)’+3=O,
e—B—a=0,

and this whether ABcp be plane or
gauche. In any closed figure, there-
fore, we have

0‘+18+7+8+ ..... =O,

where o, 3, 7, 8, - , are the vector sides in order.

11l. Examples.

1. The right lines joining the extremities of equal and parallel
right lines are equal and parallel.

Fig. 8.
0 N Let oa and Bp (Fig. 8) be

A the given lines, and oA = a,
Y BO = f3, DA = vy. Then, by
A condition, BD = a.
B D Now,
BA=BO+40A=f-}a;
also, BA=BD+DA=a-+vy;
or, equating the values of Ba,
BH+a=a+y.
Hence (Art. 2), y =3, and Bo is parallel and equal to Da.

2. The diagonals of a parallelogram bisect each other.

In Fig. 8 we have
BD = OA = OP + PA;

also ,
BD = BP -+ PD ;

*. OP + PA = BP + PD.
But, op and pp being in the same right line,
OP = MPD.

Similarly PA — NEP
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Hence
MPD + NBP = PD -} BP,
m=1, n=1,
and
OP = PD, BP = PA.

8. If two triangles, having an angle in each equal and the
including sides proportional, be joined at one angle so as to have
their homologous sides parallel, the remaining sides will be in &
straight line.

Let (Fig. 9) AB=a, A= 8. Then, Fig. 9.
by condition, D¢ = xa, DB = 3. R
Now A
a 33
B=CD+DB=2 (B—a). & X B

But
BE=f3 —a.

Hence (Art. 2), B being a common point, ¢ and BE are one
and the same right line.

4. If two right lines join the alternate extremities of two
parallels, the line joining their centers is half the difference of
the parallels.

We have (Fig. 10) | Fig. 10, . .,
AB = AD -} DC + OB,
and, also, 4 B
AB = AE 4 EF -} FB.
E T

Adding
248 = (4D + AE) + (pC + EF) 4 (0B 4 FB)

=EF — CD;
or, as lines,
AB =} (EF —CD).
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5. The medials of a triangle meet in o point and trisect each
other.

Let (¥ig. 11) Bo=a, cp=g8. Then

OC—-a, pa=g.
b -

. BA=2a+2B=2 (a+f),
LN
(o]

Fig 11.

and, since op = (a4 3), BA and oD are
parallel.
Again
BP + PA=BA = 20D =2 (OP 4 PD).
But Bp and pp, as also op and pa, lie in the same direction,
and therefore ‘
BP=2PD and PA=20P.

Hence the medials oA and pB trisect each other.
Draw cp and pE. Then

BP=2PD=%BD=%(20+ f8),

cp=cB+pP=3% (2a+B)—2a=% (B8—0a),
PE=PB+BE=a+B8—%(2a+pB)=%(B—a).

‘Hence pE and cp are in the same straight line, or the medials
meet in a point.

and

6. In any quadrilateral, plane or gauche, the bisectors of
opposite sides bisect each other.

We will first find a value for op (Fig. 12) under the supposi-
tion that » is the middle point of
GE. We shall then find a value for
op, under the supposition that » is
the middle point of ra. If these
expressions prove to be identical,
these middle points must coincide.
In this, as in many other problems,
the solution depends upon reaching
the same point by different routes and comparing the results.

Fig. 12.
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Let oA=a, 0B=(, 0c=1y.

1st. 0C 4~ €& = OE + EG.
But
ce=4%ce=1%(B—7)
which, in (a), gives

Y44 (B—) =hatro.

. P = 4u6 =} (7 + B —a),

oP=0E+EP=3%a+% (y+B—0)
=1(a+B+7)-

2d. FH — 4 AB = FO 4 OA,
or

F—}(B—a) = —}7+o
FP.—_%FH—_—%(Q.{_ﬂ_Y),
OP:OF'}_FP:%Y"‘%(G'*'IB—‘Y)

=%(e+B+7)

11

(@)

(®)

which is identical with (b). Hence, the middle points of ¥m

and GE coincide.

7. If ascp (Fig. 18) be any parallelogram, and op any line
parallel to Do, and the indicated lines be drawn, then will MN

be parallel to AD.

Let aM=a, BM=f3.

Then
AO = 1Mo,
AD = na + PP,
oD = — ma + na+ pB.
‘We have
NM = NO + OM = NP - PM,
in which

No = 2 (— ma + na + pf),
0M=(1—m)a,
Np =z (— mfB + na+pB),
pu = (1 —m)B.
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Substituting in the above equation, we obtain, by Art. 10,

Substituting this value in

NM = NO -} OM,

1-—

NM =

mm (—ma+na+pB) + (1 —m)a

1—
m

m _1—m
(na +pB) = o AD.

Hence Ap and xum are parallel.

8. If, through any point in o parallelogram, lines be drawn
Dparallel to the sides, the diagonals of the two non-adjacent

barallelograms so formed will intersect on the diagonal of the
original parallelogram.

Fig. 14. Let (Fig. 14) 04 = q, 0B = B.
Then oR = ma, oE=nf.
We have

RD=RO-+OE+ED=n8+ (1—m) q,
ES =EO-+OR+RS =ma- (1—n) 8.

Also

F0=.FR+RO=:Z:RD+RO=:E[nﬂ—l—-(l-—m) a] —ma, (&)

and FO=FE-+E0=yBS +EO =Yy [ma+ (1 —n) B] —nB. (b)
From (a) and (d)
n=y(l—n)—n and «(l—m)—m=ymn.
Eliminating y
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Substitating this value of « in (a)

m
Fo—m[ﬂﬁ—"(l—m)a] — Mo
mn
“{_m—n (B+a),

or, Fo and oc = (B + «) are in the same straight line.

9. If, in any triangle oas (Fig. 15), a line op be drawn to
the middle point of AB, and be produced to any point, as ¥, and
the sides of the triangle be produced to meet AF and BF in H and
R, then will HR be parallel to AB. -

Let 0A=a, oB=f3. Then OR = Za,
or=1%yB, AB= 8 —a. Fig. 15.
Now o B L)

0D=0A+%AB=_-—§—(a+B).

Also, or =2z (a+ ), that is, some R
multiple of ob.
Then, 1st.
BR = pBF,

— B+ wa=p (—p+0F)
=p[—B+z(a+th)];

.zx=pz and —1=pz—p. (a)
Eliminating 2
_p = +1.
And, 2d.
AH = QAF,

—a+yB=q (—a+oOF)
=q[—a+z(+Al;
coy=¢s and —1=9qz—gq. (b))
Eliminating 2
g=y+1.
From (a) and (b)

z_—:?_;_—:?_/’
b q
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and, since p=x+1 and ¢g=y41,

Fig. 15. z=y and p=q,
o B 7 .. RH=RO + 0H = yf — 2a =2 (8 — a)
Ly = %AB,
4 or, Ra and AB are parallel. .
R

10. If any line Pr (Fig. 16) be drawn, cutting the two sides
of any triangle aBc, and be produced to meet the third side in Q,

then
Fig. 16. PC.BQ.RA=CR . AQ . BP.
c

Let B =q, cR=p. Then P¢= pa,

? B Ra=17f3 and BA=BC+ca=(1-+p)a
3 R +(147)B.
We have
5 AT xe=wma=a[(L+p)at(1+7) A,

as also
AQ=AR+RQ=—rﬁ+yPR=—1',8+y(pa+,8).
o (l+p)=yp and 2 (1+7)=—r+y.

Eliminating y x= (1+ 2) pr;
whence
AQ_BQ PC RA
BA BA BP CR
or

PC.+BQ.RA=CR.AQ.BP.

11. If triangles are equiangular, the sides about the equal
angles are proportional.

Let (Fig. 17) B¢ = q, ca=p. Then BE = ma, ED = nf3,
BD = ma + nf3 and BA =a 4 B.
Now
BD = pBA,
ma no = .
‘Whence FrE=p(th)
m=p, n=p and m=n.
« BE!BC::ED: CA.
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12. If; through any point o (Fig. 17), within o friangle Anc,
lines be drawn parallel to the sides, then will

ED |, GF  HI Fig. 17.
ca s aB
Let ca= 8, ¢cB=o0a. Then As=
o— B, ED=mfB, 5= p (e« — ) and
GF = Na.
‘We have

€0 = ¢ + GO = CH +- HO. (a)
Now, as lines,

GF  GA
—=—=n s cG=CA— Ga= (1—n) B.

B oA s ( 1) B
EIE_:E:m, .*. GO=CE = ¢B — EB =(1—m) a.

CB  CA

DB DE

—_— == .. = = — =(1—-—m -_ .
ST ™ HO = AD = AB — DB = ( ) (a—P)

Substituting in (a)
(1—n)B+(A—m)a=pB+(1—m)(a—Pp),

or (Art. 10) n + /]n_}—p = 2,

12. Complanar vectors are those which lie in, or parallel to,
the same plane. If a, 8,y are any vectors in space, they are
complanar when equal vectors, drawn from a common origin,
lie in the same plane.

If o, B8, y are complanar, but not parallel, a triangle can al-
ways be constructed, having its sides parallel to and some mul-
tiple of a, B, v, as aa, 0B, ¢y. If we go round the gides of the
triangle in order, we have

aa 4+ bB + ¢y = 0.

If a, B, y are not complanar, conceive a plane parallel to
two of them, as a and 8. In this plane two lines may be drawn
parallel to and some multiple of « and B8, as aa and 88; and
these two vectors may be represented by pd (Art. 3).
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Now p3, being in the same plane with aa and 583, cannot
therefore be equal to vy, or to any multiple of it; pé and y can-
not therefore (Art. 10) neutralize each other. Hence

P8+ ¢y = ao + 0B +cy cannot be zero.
If, then, we have the relation
ae 4088 +cy=0

between non-parallel vectors, they are complanar; or, if a, B, y
be not complanar, and the above relation be frue, then, also,

a=0, b=0, ¢=0.

13. Co-initial wectors are those which denote transference
Jrom the same point.

(@). If three co-initial wectors are complanar, and give the
relations, (@) aa+bf4cy=0 } o)
@) a+db+c=0 e ’
they will terminate in o straight line.
For,let oA =a (Fig. 15),08=8,0p=y. Then paA=a—v,

BA=oa— .
From Equation (9), ()

(a+b+¢)a=0,
from which, subtracting (a) of Equation (9),

bla—p)+c(a—y)=0,
bBA + cpA =03
and, since these two vectors neutralize each other, and have a
common point, they are on the same straight line. Hence,
A, D and B are in the same straight line.

(b). Conversely, if a, B, y are co-initial, complanar and ter-
minate in the same straight line, and a, b, ¢ have such values

as to render ta 4 BB 4 ¢y = 0,
then will a+b4+c=0.
For

paA=o—7y and BA=oa—f.
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But, by condition,
a—B=x (e —7),

A—a)a—BF+2y=0,
(l—2z)y—14+2=0.

or

in which

14, Examples.

1. The extremities of the adjacent sides of a parallelogram
and the middle point of the diagonal between them lie in the same

straight line. )
Fig. 18.

Let 0A = a, 0B = 8, OC = y. A D
Then
. OD = OB - BD,
2y—B—a=0. o B
But, also, 9—1—1=0,
hence, B, ¢ and A are in the same straight line (Art. 13).

9. If two triamgles, aBc and sux (Fig. 19), are so situated
that lines joining corresponding angles meet in a point, as O,
then the pairs of corresponding sides produced will meet in three
points, Py Q, R, which lie in the same straight line.

Fig. 19.

Let oA=a, 0B=f, oC=1.
Then 08 = ma, OM = nf3,
ON= py, BA=a — f3,
Ms = ma. — nf,
BR = % (o — 8) and
MR =y (Mo — nf).

1st. BM = BR — MR,

or
nf—p=2(a—f) —y (ma—np),
con—1=—x+yn, & —my=0.
Eliminating ¥ m(n —1)

m—"n
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Also
m (n—1
0R=OB+BR=B+w(a—,G)=p__m(____T)
whence nm—1)B—mn—1)a
or = m—n
2d. CN = CP — NP,
or :
py—y=v(B—y)—w (B —py).
o p—1l=—v+4+ wp, v — wn = 0.
Eliminating w n(p—1)
Also v:—W-
n(p—1)
op=octer=y+v(B—y)=y——=p B
whence

_p(r—Dy—n@-1B
n—p

oP

3d. In the same manner, we obtain

_m(p—Da—p(m—1)y
- p—m

0oQ

(a = B),

(@)

©®)

(©)

From (a), (b) and (¢) we observe that, clearing of fractions,
and multiplying (@) by p — 1, (b) by m — 1, (¢) by n — 1, and
adding the three resulting equations, member by member, the
collected coefficients of a, B8, y, in the second member of the
final equation, are separately equal to zero. Hence the first

member

OrR (m—n) (p —1) + op (n— p) (m —1) + 0@ (p—m) (n —1)=0.

But

(m—mn) (p—1) + (n—p) (m—1) +(p—m){n—1)=0.

Hence, R, P and q are in the same straight line.
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8. Given the relation
aa + b8 4 cy=20.

Then «, 8, y are complanar; but, if co-initial (as they may
be made to be, since a vector is not changed by motion parallel
to itself, i¢.e. by translation
without rotation), and a +
b + ¢ is not zero, they do
not terminate in a straight
line. Hence, if o is the ori-
gin, and A, B, ¢, their ter-
minal points, 4, B and ¢
are not collinear. Let these
points be joined, forming
- the triangle aBc (Fig. 20),
and oa, 0B, oc prolonged to
meet the sides in a! B! ¢! To find the relation between the
segments of the sides, let

oA'=a'=wa, oB'=p=yB, od=y=2y,
whence '

Substituting these in succession in the given relation,

%a’—l— bB + ¢y =0,
ao + gﬁ’—l— ey =0,

4]
aa + bﬁ—{—gy’: 0,
whence, since A} ¢, B are to be collinear,

Zrv+o=0,
&x
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and, for a like reason,

b
a+g—/+c=0,
a+b+§=&
‘Whence
a b o C
m_—b—f-c’ y= atc “= a+b
and
—___a — _ b Y
= b-f—ca’ B a-l—c’B’ Y a+b7’

or, from the given relation,

ol bB + ¢y = ey + ao . ta+4 b8

T b4e’ ct+a’ YETaxe
‘Whence
b (d—B)=c(y —d),
¢ (B—y)=a(—p),
a(y—a)=0(B—7),
and
BA' ¢ o' a ac’ b
Ae™ b Ba ¢ OB d

or, multiplying,

BA'. o', A, = A'c . B'A . B,

4. If o (Fig. 20) be any point, and ABC any triangle, the
transversals through o and the vertices divide the sides into seq-
ments having the relation

BA', cB'. AC'. = A'c . B'A . C'R.

Let A'c=a, B¢ =aq, cB'=, cA=5B. Then BA = aa -+ bf.
3

Also let

BO = XBB] 0A = yala, BC/= mBA, cc'= zco.
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Then
Bo = 2BB’ = 2 (BC + ¢B') = 2 (a4 3),
oa=ya'a=y (A'c+0cs) =y (a+b08),
BC'= mBA = m (aa + bB),
=200 =2(CB+BO)=2[—aa+x(ac+S)].

From the triangle BoA we have

BO 4 OA +AB =0,
2 (aa+B)+y (a+5B8)—bB8—ae=0.
z2a+y—a=0, x+yb—0=0.

Eliminating ¥ _b(—wa)
r=——"".
1—ba
From the triangle Boc'
BC 4 cc’+ o'B =0,
aa+2[— aa+z(aa+ B8)]— m(aa+08)=0,

whence, as usual, and substituting the above value of z,

. b(1—a) _1—a
B v A v 7
or
1—m 1-—0
m  1—a

Substituting for m, b and a,

! !

c¢'a as' oA
ppey ey polll By o
B¢ wB'c  A'm

which is the required relation.

5. If (Fig. 20) lines be
drawn through A) B, ¢} and
produced to meet the opposite
sides of the triangle in P, Q,
R, then are p, Q and R col-
linear.
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With the notation of the last example,

BC'=mBA = _-f-b_— (aa 4 0B3).

1st. From the triangle ¢'sa'
¢'A'=¢'B + BA’
—— (aa+ B+ (e—1)a

a—f—b
a—1
=21 [(b—2)a—08].
L [e—2)a—p)
Also
Ar=wcA'=A'c+cr=4'c— 9B,
a—1
b—2)a—bRl=a —
o ST (0= a—tgl=a—yp,
=0
Y b_2
and BR=BC+CR=OLa-——b—b—§B. (@)

2d. From the triangle ¢'as’

¢'B'=¢'a + aB'

= (1—m) (aa+b03)+(1—0)B

= s laa—(a—2)A].
Also
B’Q:mC'B’:B'C—f—CQ:B’C-{—ya,
wa—_%[“a—(“—%ﬂ]=—ﬁ+?/a’
_a
-?/—a_2,
and a(a—1)
BQ=Bc+CQ=(a+y)a=—ma. (%)
3d.

A'r=aa'8'=2 (a4 B),
AP=AB+BP=(1—0a)a+y (aa+bB),

y_a—l
CY=—p
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and

pr = yoa =123 (da+B6). ©

Multiplying the second members of (a), (b), (¢), by (a—1)
(b —2),— (s —2) (b —1), (a — b) respectively, their sum is
zero. Hence

(a—1)(d—2)Br—(a—2)(0—1)BQ+ (¢ —b)BR=0.

But .
(a—1)(b—2)—(a—2)(b—-1)+(a—0)=0.

Hence r, @ and p are collinear.

6. If rc (Fig. 20) and po be produced to meet AA' and BC,
then t and s are collinear with ¢! A similar proposition would
obtain for ¢ and r.

‘With the following notation,

BA=a, BA'=f, BB'= aa + BB,
we have
BO = BA + AB'+ 8’0 = BA'4- 'O,
a+b8—(1—a)a+2(ea+08)=L+y(e—p).
. F— a ‘
oy A
B0=bﬁ+aa.

3

a+bd

also

BP =BA'+ A'P =BA 4 4aP;
B+z[aa+ (b—1)B] =a-+wa,
_a—1+b

and

BC = BA'+} AlCc = BA + AC,

B+vB=a+ul(1—a)e—0B], .,
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o =t —l
1—a

po=_0B

: 1—-a

?

Now to find Bs, B¢’ and BT, we have
9 k]

1st.

BS = 2'BA'= BP + ¥'PO,
e 2= —#
1—2b—a

BS =

2d.

BC' = ¥'BA = BC + ucCo,

b8

T1—%2b—a

U’:._a_

: 2a+b—1’
BC':—(ML———.
20 4+b—1

ad. BT = BA'+ A'T = BA'+ 2'a’0 = BP 4+ w'PC,
a4b
2= ,
a—0b

BT:M,
b—a

Clearing of fractions and adding

(1—26——a)Bs+(2a+b—1)Bc’+(b—a)BT=0,
as also

(1—2b—a)+(2a+b—-1)+(b—a)=0.
Hence s, ¢’ and T are collinear.

15. A medial vector is one drawn from the origin of two co-

initial vectors to the middle point of the line joining their
extremities.
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Thus (Fig. 21), if p is the middle point of aB, or is a medial
vector. To find an expression for it, let 0A = a, 0B = 3, then

OP = OA -+ AP == o -} AP,
OP = 0B + BP =f3 — AP,
or, adding,

or=2F8 . . .. (o).
2
The signs in this expression will, of course, depend upon the
original assumptions. Thus, if 40 =q,

OP=—a-+ AP=[3 — AP,
OP:B_a.

16. An Angle-Bisector is a line which bisects an angle.
To find an expression for an angle-bi-
sector as a vector, let or=a (Fig. 21)
and oF = 3 be unit vectors along oA and
oB. Complete the rhombus oEDF. Since E -
the diagonal of a rhombus bisects the
angle, op is a multiple of or. Now op
= a4+ f3, hence

op=2(a+B8) . . (11). & P B

Fig. 21.
o

In this expression op is of any length and @ is indeterminate.
If op is limited, as by the line aB, then

AP=w(a—|—,8)—aa,

AP = yan =y (bB — aa), (a)
. 2(a+B) — o= y(bB — aa),
or
r—a=—ya and a=yb.
Eliminating =
y=—"
a+b

Substituting in (a) - .
ap=_2% 4. . . ... (12).
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17. Examples.

1. If parallelograms, whose sides are parallel to two given
lines, be described upon each of the sides of a triangle as diago-
nals, the other diagonals will intersect in a point.

Let aBc (Fig. 22) be the given tri-

K Fii‘ 2. o  angle. Let the diagonals B'F and a'p
intersect in P, and suppose ok to meet
G A'D in some point as p!
| J Let oa=a, oB'=f, whence oa'=
w4 % ma, oB=ng.
/ P\Q Now
, B'P.— DP=a. (a)
v b B/ But
B'P=yB'Q=y.% (8'c + B'B) (Art. 15)

=1y [ma+(n—1) B].

DP=2DH =2 .% (DC - cA')
=42 [(m—1) a—f].

Substituting in (@), we obtain, as usual,

And

pe 2 (1—mn)
1+mn—n
Again
OP'— DP'=a + 3. )
But

oP'= 206 =2 .4 (0 } 0B)
=4 (a +nf).

Substituting in (b) this value of op' and pp'= vpH, we obtain

as before,
v 2 (1—mn)

T i14mn— n
Or, vpH=2pH =DP'=DP. Hence, P and P’ coincide, and
the three diagonals meet in a point.

2. A triangle can always be constructed whose sides are equal
and parallel to the medials of any triangle.
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In Fig. 23 we have
AA'= AB 4 BA'= AB + }BC.
BB'= BC + CA.
c¢’'= cA + 4B,
‘. AA'+ BB+ c0'= 4(aB + BC + ca)= 0. (Arxt. 10).

3. The angle-bisectors of a triangle meet in o point.

Let a, 83, y be unit vectors along sc,
Ac, aB (Fig. 28).
Then (Art. 16)
ar=u(y+8),
pe=y(a—y). (0)
BC = AC — AB,
ao=08—cy (d) A

where @, b, ¢ are the lengths of the sides.
Substituting o from (b) in (@)

Fig. 23.

Now

‘We have also

cp=4aP—ac=x (y+ B)—bB, (c)
b8 —
CP=BP+CB=y<Bacy—‘y>+0y——b,8.
b
..a::—y—cf—y+c, m—b~y——b
Eliminating y b
Tatbto
Substituting in (¢)
___«cb
Cp = +b+c(7+ﬁ) b8 |
= lr—(a+1) ]
=  (_gu-—
_a—}-b—{—c( a0 —af)
=p (a+B).

Hence (Art. 16) cp is an angle-bisector.
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18. The Mean Point of any polygon is that to which the
vector is the mean of the wectors to the angles.

Hence, to find the mean point, add the vectors to the angles
and divide by the number of the angles. Thus, if ay, a5 az ...
be the vectors to the angles, the vector to the mean point is

a=“1+“2+“;j+""+“". C .13,

where n is the number of the angles.

The mean point of a polyedron is similarly defined. It co-
incides in either case, as will appear later, with the center of.
gravity of a system of equal particles situated at the vertices
of the polygon or polyedron.

19. Examples.

1. The mean point of a tetraedron is the mean point of the
tetraedron formed by joining the mean points of the faces.

Let (Fig. 24) oa=aq, oB=f, 0Cc=
y. The vectors from o to the mean
points of the faces are

3(a+B+7),
¥(at7),

- 3 (e+B),
% (')’+B)’

and that to the mean point of the tetraedron formed by joining
them is

%[“+B+7+“§B+“+7+7§ﬂ=%(a+ﬁ+y),

3 3

which is the vector to the mean point of oasc.
The same is true of the tetraedron formed by joining the mean
points of the edges AB, B¢ and ca with o, since

%[“§B+B;7+“§7]=i(a+ﬁ+v)-
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The above is, of course, independent of the origin, and would
be true were o not taken at one of the vertices.

2. The intersection of the bisectors of the sides of a quadri-
lateral is the mean point.

Let (Fig. 25) oA =a, 0B= 8, 0C=1, ;T‘E"‘ %
op=39, oR=p. Then (Art. 15) o c
3 E
(oF + OE) ! / .

(3 @+ +3G+A)]
z@+ﬁ+y+®

= Lo|>—- w]»—n

If ois at A; then oA =a =0, and
p=1(B+v+9).

8. If thesides (in order) of a quadrilateral be divided propor-
tionately, and a new quadrilateral formed by joining the points
of division, then will both quadrilaterals have the same mean
poind.

Let a, B, y, & be the vectors to the vertices of the given
quadrilateral, from any initial point o.
Then, for the vector to the mean point, we have

t(e+B+y+9).

If m be the given ratio, and «} ) y; &' the vectors to the ver-
tices of the second quadrilateral, then

a=a+m(B—a)=1—m)a+mng,
B'=(1—m) B+ my,
= (1—m)y+ md,
3'=a—|—(1—m)(3—-a)=3—m(3-—-a);
whence
FB+ Y8+ o)=L (@+B+y+9).
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4. In any quadrilateral, plane or gauche, the middle point
of the bisector of the diagonals is the mean point.

Let (Fig. 26) 0A=1a, 0B=f, oc =1y, 0s = Ty

Fig. 26. ¢ Then (Art. 15)
< op =} (0q + 0s)
[ =3[} (a+p) +1y]
o =} (a+B+y).

5. If the two opposite sides of a quadriluteral be divided pro-
portionately, and the points of division joined, the mean points
of the three quadrilaterals will lie in the same straight line.

Let ¢} a’ (Fig. 27) be the points
of division, and m the given ratio.
Then, if 0A=a, BC= ¥, OA'= ma,
c'c=my, aB=# and o is the in-
itial point, the vectors to the mean
points p, P} " are

Fig. 27.
!

%(3"-'!'23"*‘7)7
~l[(m+2)a+2,3+(2‘m))’]’
orP'' = 4[(1’)2,—|—3)¢l+2ﬁ+(1—m)7] ’

1—m
... pp/ —_—
1 (y—a),

?''p %L( —a).

Therefore, ) P P are in the same straight line.

20. Exercises.

1. The diagonals of a parallelopiped bisect each other.

2. In Fig. 58, show that B¢ and cu are parallel.

3. If the adjacent sides of a quadrilateral be divided propor.
tionately, the line joining the points of division is parallel to the
diagonal joining their extremities.
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4. The medial to the base of an isosceles triangle is an angle-
bisector.

5. In any right-angled triangle aBc (Fig. 58), the lines BE,
CF, AL meet in a point.

6. Any angle-bisector of a triangle divides the opposite side
into segments proportional to the other two sides.

7. The line joining the middle point of the side of any paral-
lelogram with one of its opposite angles, and the diagonal which
it intersects, trisect each other.

8. If the middle points of the sides of any quadrilateral be
joined in succession, the resulting figure will be a parallelogram
with the same mean point.

9. The intersections of the bisectors of the exterior angles
of any triangle with the opposite sides are in the same straight
line.

10. If aB be the common base of two triangles whose vertices
are ¢ and D, and lines be drawn from any point £ of the base
parallel to ap and Ac intersecting BD and BC in ¥ and 6, then is
Fa parallel to pc.



CHAPTER II.

Multiplication and Division of Vectors, or Geometrie Multipli-
cation and Division.

21l. Elements of a Quaternion.
The quotient of two vectors is called a Quaternion.
We are now to see what is meant by the quotient of two
vectors, and what are its elements.
Let o and B' (Fig. 28) be two vec-

Fig. 28. R tors drawn from o and o' respectively
and not lying in the same plane; and
. @ let their quotient be designated in the

os E__. usual way by 5
\\\ ‘Whatever their relative positions, we
0"—“7‘—"1;’ may always conceive that one of these

vectors, as 3, may be moved parallel
to itself so that the point o’ shall move over the line 0’0 to o.
The vectors will then lie in the same plane. Since neither the
length or direction of A’ has been changed during this parallel
motion, we have 8= £, and the quotient of any two vectors, a,
B, will be the same as that of two equal co-initial vectors, as a

and 8. We are then to determine the ratio g, in which o and 8

lie in the same plane and have a common origin o.

Whatever the nature of this quotient, we are to regard it as
some factor which operating on the divisor produces the dividend,
i.e. causes f to coincide with o in direction and length, so that
if this quotient b g, we shall have, by definition,

g8=a when —=gqg. . . . . (14).

32

5
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If at the point o' we suppose a vector o'c=7y to be drawn,
not parallel to the plane AoB, and that this vector be moved as
before, so that o’ falls at o, the plane which, after this motion,
y will determine with a, will differ from the plane of a and f3, so
that if the quotient

a
S=0

g and ¢' will differ because their planes differ. Hence we con-
clude that the quotients ¢ and ¢’ cannot be the same if o, 3 and
y are not parallel to one plane, and therefore that the position
of the plane of o and 8 must enter into our conception of the
quotient q.

Again, if y be a vector oc, parallel to the plane aos, but
differing as a vector from g, then when moved, as before, into
the plane 40, it will make with « an angle other than BOA.
Hence the angle between o and 8 must also enter into our con-
ception of g. This is not only true as regards the magnitude of
the angle, but also its direction. If, for example, y have such a
direction that, when moved into the plane AoB, it lies on the
other side of a, so that Aoc on the left of a is equal to 408, then

the quotient ¢} of %, in operating on y to produce a must turn y
Y
in a direction opposite to that in which ¢ =§ turns 8 to produce

a. Therefore ¢ and ¢ will differ unless the angles between the
vector dividend and divisor are in each the same, both as regards
magnitude and direction of rotation. Of the two angles through
which one vector may be turned so as to coincide with the other
is meant the lesser, and it will therefore, generally, be < 1807

Finally, if the lengths of 8 and y differ, then §= q will still

differ from & = ¢! Therefore the ratio of the lengths of the vec-
Y
tors must also enter into the conception of q.

We have thus found the quotient ¢, regarded as an operator
which changes 8 into a, to depend upon the plane of the vectors,
the angle between them and the ratio of their lengths. Since



84 QUATERNIONS.

two angles are requisite to fix a plane, it is evident that ¢
depends upon four elements, and performs two distinct opera-
tions :
1st. A stretching (or shortening) of 8, so as to make it of
the same length as o
2d. A turning of 8, so as to cause it to coincide with o in
direction,
the order of these two operations being a matter of indiffer-
ence.
Of the four elements, the turning operation depends upon
three ; two angles to fix the plane of rotation, and one angle to
fix the amount of rotation in that
Fig. 28. plane. The stretching operation de-
pends only upon the remaining one,
(1 i.e., upon the ratio of the vector
5 lengths. As depending upon four
< B elements we observe one.reason for
N calling ¢ a quaternion. The two ope-
0\.‘—-———757—];' rations of which ¢ is the symbol being
entirely independent of each other, a
quaternion is a complex quantity, decomposable, as will be
seen, into two factors, one of which stretches or shortens the
veetor divisor so that its length shall equal that of the vector
dividend, and is a signless number called the Tensor of the
quaternion ; the other turns the vector divisor so that it shall
coincide with the vector dividend, and is therefore called the
Versor of the quaternion. These factors are symbolically repre-
sented by Tg and Ug, read ¢ tensor of ¢” and ““versor of q,”
and ¢ may be written

q="Tq . Ugq.

22. An equality between two quaternions may be defined di-
rectly from the foregoing considerations.

If the plane of o and 8 be moved parallel to itself; or if the
angle aoB (Fig. 28), remaining constant in magnitude and esti-
mated in the same direction, be rotated about an axis through o
perpendicular to the plane ; or the absolute lengths of o and 8
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vary so that their ratio remains constant, ¢ will remain the same.
Hence if

then will

when

1st. The vector lengths are in the same ratio, and

2d. The vectors are in the same or parallel planes, and

3d. The vectors make with each other the same angle both as
to magnitude and direction.

The plane of the vectors and the angle between them are
called, respectively, the plane and angle of the quaternion, and

the expression 2. a geometric fraction or quotient. It is to be

observed that ¢ has been regarded as the operator on 8, produc-
ing a. This must be constantly borne in mind, for it will sub-
sequently appear that if we write ¢8 = a to express the operation
by which ¢ converts 8 into a, g8 and B¢ will not in general be
equal.

23. Since g, in operating upon 8 to produce a, must not only
turn 8 through a definite angle but also in a definite direction,
gome convention defining positive and negative rotation with
reference to an axis is necessary.

By positive rotation with reference to an axis is meant left-
handed rotation when the direction of the axis is from the plane
of rotation towards the eye of a person who stands on the axis
facing the plane of rotation.

[If the direction of the axis is regarded as from the eye
towards the plane of rotation, positive rotation is righthanded.
Thus, in facing the dial of a watch, the motion of the hands is
positive rotation relatively to an axis from the eye towards the
dial. For an axis pointing from the dial to the eye, the motion
of the hands is negative rotation. Or again, the rotation of the
earth from west to east is negative relative to an axis from north
to south, but positive relative to an axis from south to north. ]

On the above assumption, if a person stand on the axis, fac-
ing the positive direction of rotation, the positive direction of
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the axis will always be from the place where he stands towards
the left.

If i, k, j (Fig. 81) be three axes at right angles to each other,
with directions as indicated in the
figure, then positive rotation is from ¢
to j, from j to &, and from % to ¢, rela-
tively to the axes %, ¢, j respectively.
A precisely opposite assumption would
be equally proper. The above is in
accordance with the usual method of
estimating positive angles in Trigo-
nometry and Mechanics.

Fig, 31 (bis).

24. Let oa and oe (Fig. 29) be any
two co-initial vectors whose lengths are a and b, o and B being
unit vectors along oA and og, so that

0A = (la,
Fig. 29. . OB = bf3.
Let the angle Boa between the
¢ J vectors be represented by ¢; also
o g draw ap perpendicular to om, and
J/ DB let the unit vector along pa be 8.
L The tensor of op is evidently

acos ¢ and that of pa asing. If
we assume that, as in Algebra, geometrical quotients which
have a common divisor are added and subtracted by adding and
subtracting the numerators over the common denominator, so
that

then, since
OA = OD + D4,

we have
OA___OD-{-DA_OD DA
oB oB  oB ' oB
_acosd.B asing.d
- b.8 b.pB
_g<005¢.8+sin¢.8
e )
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We have already defined (Art. 8) the quotient of two parallel
vectors as a scalar, and in the first term of the parenthesis, 8

being a unit vector, 'g =1, and

% %(cos ¢ +sing . ,8> (@)

The last term contains the quotient g of two unit vectors at

right angles to each other. This quotient is to be regarded, as
before, as a factor which, operating on the divisor B, produces
8, i.e., turns B left-handed through an angle of 90°; and this
quotient must designate the plane of rotation and the direction
of rotation. If we define the effect of any unit vector, operating
as a multiplier upon another at right angles to it, to be the turn-
ing of the latter in a positive direction through an angle of 90°
in a plane perpendicular to the operator, then the unit vector e,
drawn from o perpendicular to the plane of 8 and 8, and in the
direction indicated in the figure, will be the factor which oper-
ating on S produces 3, and

=06 or —8—

= €.

The unit vector e, as an axis, determines the plane of rotation ;
its direction determines the direction of rotation, and by defini-
tion its rotating effect extends through an angle of 90°; as a
quotient, therefore, it completely determines the operator which
changes 8 into 8. Equation (a) thus becomes

=%(cos¢+ e sin ¢),

or, if 0a and oB be themselves denoted by a and 8, and the ten-
sors of o and B8 by Ta and TS,

q=:‘—‘§(cos¢+esin¢) e ... (18),
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in which %% is the tensor of g, being the ratio of the vector

lengths, and cos ¢ + ¢ sin ¢ is the versor of g, its plane, deter-
mined by the axis ¢, and angle ¢ being the plane and angle of

the quaternion.
Ta

When a and 8 are of the same length, or Ta=Tg, Tq:l‘—,8=1’
and the effect of ¢ as a factor, or operator, is simply one of
version.

Like T, the symbol U is one of operation, indicating the oper-
ation of taking the versor, so that

Uqg = cos ¢ + ¢ sin ¢.

This operation takes into account but one of the two distinct
acts which we have seen the quotient ¢ must perform, as an
agent converting 8 into o, namely, the act of version; it thus
eliminates the quantitative element of length. In this respect it
is similar to the reduction of a vec-
tor to its unit of length, an opera-
tion which also eliminates this same

@ g element of length, and has been
designated by the same symbol U.
DB When o and S are at right angles
y to each other, ¢ = 909 and the ver-
‘ sor cos ¢ + esing reduces to the
unit vector ¢, which has been- de-
fined, as an operator, to be a versor turning a line at right
angles to it through an angle 90° Any vector, therefore, as a, _
contains, in its unit vector in the same direction, a versor
element or factor of which Ua is the symbol, U indicating the
reduction of a to its unit of length or the taking of its versor
factor. Hence the appellation versor of o (Art. 7).

If in Equation (15) the vectors be reduced to the unit of

length, '

Fig. 29.

I—]'—m=Uq=UE.

ug B
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25. We may now express the relation

a Ta

B=T—B(cos¢+e sing)=g¢ (Eq. 15)
in the symbolic notation
& _p2 y2 '
or B B BY . . .. . .16,
g="Tq.Ug

and say that the quotient of two wectors is the product of a tensor
and « versor; and that

1st. The tensor of the quotient, (Z‘ﬁ), is the ratio of their
tensors; 8

2d. The versor of the quotient, (cos¢ + € sing), is the cosine
of the contained angle plus the product of s sine and a wunit
vector, at right angles to their plane and such that the rotation
which causes the divisor to coincide in direction with the dividend
shall be positive.

26. If, for E =q, we write 2= ¢/ it is evident that ¢' differs
a

from ¢ both in the act of tension and ver-
sion ; the tensor of ¢' being the reciprocal
of the tensor of g, and the unit vector ¢,
while still parallel to its former position,
is reversed in direction (Art. 23) since
the direction of rotation is reversed (Iig. 5
30). Hence

Fig. 30.

e

§=%§(cos¢—esin¢) .. . (A,

a

a
positive direction of € is a matter of choice. It is only neces-

B is called the reciprocal of g As already remarked, the

sary that if we have + ¢ in U%, we must have — ¢ in U@ , Or
a

conversely.
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27. Let <, j, & (Fig. 31) represent unit vectors at right angles
to each other. The effect of any unit vector acting as a multi-
plier upon another at right angles to it,
Fig. 31. has been defined (Art. 24) to be the
j turning of the latter in a positive direc-
tion in a plane perpendicular to the ope-
rator or multiplier through an angle of
907 Thus, ¢ operating on j produces k.
This operation is called multiplica-
tion, and the result the product, and is
expressed as usual

d=k . . . . . . . (18).

The quotient of two vectors being a factor which converts
the divisor into the dividend, we have also

7—6= 2 ¢ !

7 (19),
either the product or quotient of two unit vectors at right angles to
each other being a unit vector perpendicular to their plane.

This multiplication is evidently not that of algebra; it is a
revolution, which for rectangular vectors extends through 902
Nor is & in Equation (18) a numerical product, nor ¢ in Equa-
tion (19) a numerical quotient. This kind of multiplication and
division is called geomeiric.

In accordance with the above definition we may write the fol-
lowing equations :

=k 7—c.=l
J

Jh=i 2=i

ki=j =k ... L ().
—k

E
I
l
=
.
A

I
.

&
Il
|
<
Il
=
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- —J
th=—j == W
N —k_
(=) =—Fk &y
i(—k)y=j _-_7—k=z
R(=i)=—j E%:k}. L. (20).
E(—f)=1 —-—J:_k
J=m=—i i
J(=0=k *—j
=7

Since the effect of ¢, k, j as operators is to turn a line from one
direction into another which differs from it by 90; they are
called quadrantal versors.

28. Since
iXj=k and iXk=—j=—1X/J,
we have
IXiXJj=—1X/,
or
1 Xt=—1.

‘We may denote the continued use of ¢ as an operator by an
exponent which indicates the number of times if is so used.
This is consistent with the meaning of an exponent in algebraic
notation. In both cases it denotes the number of times the
operator is used, in one instance as a numerical factor, in the
other as a versor. Thus

o g
gitii=j%%, =1, ete.
g
In conformity to this notation the above equation becomes

P=—1. . « . . . . (2D,
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and in a similar manner,

«5:1}......(22).

Hence the square of a unit vector is — 1.

The meaning of the word ¢ square ” is more general than that
which it possesses in Algebra, as was that of the word ¢ product”
in Art. 27, The propriety of this ex-
tension of meaning lies in the fact that
for certain special cases, the processes
above defined reduce to the usual alge-
braic processes to which these terms
were originally restricted. The conclu-
sion 7?=—1 is seen to follow directly
from the definition, since if ¢ operates
twice in succession on either + j or £+ %,
it turns the vector, in either case suc-
cessively through two right angles, so
that after the operation it points in the opposite direction. A
similar reversal would have resulted if the minus sign had been
written before the vector. Thus—(+j)=Fj. Hence ¢ X i,
or {% as an operator, has the effect of the minus sign in revers-
ing the direction of a line.

Fig. 31

29. It is to be observed that so long as the cyclical order i, j,
ks 4, jy &, i, ... is maintained, the product of any two of these
three vectors gives the third; thus

=k, jk=i, ki=j;
and therefore
Nk =kk=F=-1,
(JE)i=d =#=—1,
k)j=jj =j=—1;
as also
(k)= i = ’=—1,
J(kD) = jj = ji'=—1,
k(?j) =kk=k2=—1,
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hence
i(jk) = (%) ks
J (i) = (jk)i,
k (i) = (ki) s

which involves the Associative law.
We may therefore omit the parentheses and write

= jki=lij=—1 . . . . i (28),

or, the continued product of three rectangular wnit vectors is the
same so long as the cyclical order is maintained.

But
k() =k(—k)y=—KF=1 . . . . (24),

or, a change in the cyclical order reverses the sign of the product.

30. In Equation (24) we have assumed that
k(—k)=—Fk.

That this is the case appears from the fact that ¢ operating on

— j produces — k, or
(=J)=— k,

and that the same result would be obtained by operating with ¢
on j, producing k, and then reversing k. That is, to turn the
negative, or reverse, of a vector through a right angle, is the
same as turning the vector through a right angle and then re-
versing it. The negative sign is, therefore, commutative with i,
Jy &y or

(—NHN=—=—k . « « « . (25).

31. It follows directly from the definition of multiplication,
as applied to rectangular unit vectors, that the commutative prop-
erty of algebraic factors does not hold good. For

U=ka
but
Jji=—k.
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Hence, to change the order of the factors is to reverse the sign
of the product. The operator is always written first; and, since
the order cannot be changed without affecting the result, in
reading such an expression as ij = k, this sequence of the factors
must be indicated by saying 7 into j
equals k" and not ¢{ multiplied by j
equals %,” the latter not being true.

Hence also the conception of a quo-
tient as a factor requires a similar dis-
tinction, which in Algebra is unneces-

Fig. 81.

sary. In the latter, from £—=a we

have, indifferently, ab =¢ and ba=c.

But from I—C.=z', while 4j =1k is true,
J

Jji=1F is not true. In expressing therefore the relations be-
tween %, j and & by multiplication instead of division, care must
be taken to conform to the definition, the guotient being used
as the multiplier or operator on the divisor. This non-com-
mutative property of rectangular unit vectors, which results
directly from the primary definition of the operation of multipli-
cation, will be seen hereafter to extend to vectors in general
and to quafernions, whose multiplication is not commutative
except in special cases.

The quotient then being a factor which operates on the divisor
to produce the dividend, we have

kien, thatis,/l—?/——k. .. (26),
J

the cancelling being performed by an upward right-handed stroke.
Buﬁj%\: k is not true, for this would involve ji = ¢j.

32, Tt follows also that the directions of rotation of a fraction,
as l—c_, and its reciprocal are opposite. Thus
J

‘—7.=l, °l_7c=—’b . . . E) (27)7
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and therefore that the reciprocal of the quotient ¢ is — ¢, or
= e e e e (28)5

that is, the reciprocal of a unit vector is the vector reversed. This
may be written

T CL)

the exponent denoting that, as a factor or versor, 1 is used once,
while the minus sign before the exponent indicates a reversal in
the direction of rotation.

33. If o be any unit vector, we obtain from the preceding
Article

al=a(—a)
o
= —ao = -—‘(1.2=1.
But
}/: 1,
hence
1

—a=a1. e e e .. (80),

or, a unit vector and its reciprocal are commutative and their
product plus unity.
If « is not a unit vector,

I Ve ... (8D,

_the tensor of the reciprocal of a vector being the reciprocal of its
tensor. k
Tt must be carefully observed that a fraction, as —, cannot be
)

written indifferently k—lt- or % %, for this would involve ki~! =ik,

which is not true.
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By definition & (—{)=—j, or ki-'= k-l_-= —j= 7—0 Hence,
Lt i
z—f=kl_ or ki~'. From the meaning attached to the ordinary
i )

notation of algebra, P
i—_ = ) (a)
i

would appear to be correct; for, cancelling, we have k=£k.

‘Whereas, since I—C must be written Icl,, we should have
) i

ki~ [=—iki]=kiti[=k]
or
jil=—k]=k,

which is not true. Of course that equation (a) is false is
directly evident from the fact that

Fig. 31

75: —j,and () involvesi (—j) = (—j)¢
or ij =ji. 'The above, however, shows
that, as cancelling must be performed
by an upward right-handed stroke
when the expression is in the form of
a quotient or fraction, so when ex-
pressed in the form of multiplication,
the cancelled factors must be adjacent.
In such an expression as

J.o=l g1 5
R Ji =g (_)

it might be supposed permissible to write also

TNGT T —.—.="‘17 (C)

since in either case the correct result is obtained. This arises,
however, from the fact that both the fractions in the first mem-
ber of (b) are equal to k, and therefore may be permuted so as

to read kk = :7%: :;—l= —1. The process of (¢) is, how-
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ever, illegitimate, and the result is correct, not because the
process is so, but because the factors are in this case commu-
tative.

34. Since the act of tension is independent of that of version,
and their order is immaterial,

wioy=xy .=y ..G=2k . . . (32),

where 2 and y are any two scalars and oy =2z. Hence the com-
mutative principle applies to tensors. If then a, 8, y are in the
direction of i, j and % respectively, and a, b, ¢ are their tensors,

af =TaTB. ij=uab . k,
ay =Taly « tk=—ac . j, etc.,

or, the product of any two rectangular vectors is the product of
their tensors and a unit vector at right angles to their plane.
So also

a_Taci_Ta 1 ___ ag
B 185 TR b
E—T“'i-—gj ete.
y—’l‘y.k—c’ ’

or, the quotient of two rectangular vectors is the quotient of their
tensors times a unit vector at right angles to their plane.

35. If, as above, a = at, then

ao = ai « ai,
?=ai?,
E=—a? . . . . . . . (33).
Hence, the square of any vector is minus the square of its tensor.
Since Ta = a is the ratio of the lengths of o and Ua, the square
of any wector is the square of the corresponding line, regarded as
a length or distance only, with its sign changed.

If ai=a and bi=f3,

off = abi®*=—ab.
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36. That the multiplication of rectangular vectors is a dis-
tributive operation may be seen

Fig. 32. directly from Fig. 82 by ob-
TN T 1 serving that
\\. ~ { >
N a i) =i ik (34),
> )
RS e g 1 being perpendicular to and in
3 *—“‘7 front of the plane of the paper.

37. Exercises in the transformations of iy Jy K

1. j(—i)="F. 2. j(—k)=
8. k(—j)=1. 4 T (—1) =
5. —k(j)=1i. 6. (—k)i=
T (= k=—i. 8. (—))(—k)=
9. (=N (=)= 10. (=) (=) =
11, 4 =, 12. —/—
— 1 1
—I —j
18, =F_ 14, =7 =
J ke
15, =4 — 16. K j.
=k J
.3 4
17. L= 18. K=
p J
19. % 1, 20. % =
J i
21. F 90. 1 K _
Ji Joi
23, Yt~ 24. L. B
%ji PR

25. Is it correct to write, in general, the product of any frac-

tions, as I_c . 3.,_ in the form @'P
J . M ..
26. State whether —kl = —k_zj is correct or not, and why.
7

1
27. 22k = — (ijk)*
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38. Resuming Equation (15),
qg= a_Ta (cos ¢ + esing) ;
B T8

the quaternion ¢ was shown (Art. 25) to be the product of a
tensor and a versor. It may also be regarded as the sum of two
parts, the first of which E;——; cos <;l>j] is a scalar, whose sign is
that of the cosine of the angle (¢) between the vectors, while the
second lii—aﬁ sing « e:l is a vector at right angles to their plane,

whose sign depends upon the direction of rotation of the fraction

%, This may be expressed symbolically in the notationt

a a a
_—= - - . . - . . 5
q 3 SB+V3 (35),
so that we have both

q="TqUq
and

g¢=8q+ Vq

The second member of this last equation is read ¢ scalar of ¢
plus vector of ¢,” 8¢ and Vg being respectively symbols for the
scalar and vector parts of the quaternion. As already explained
in the case of the symbol 8, V is a symbol of operation, denoting
the operation of taking the vector terms of the expression before
which it is written.

The quotient of two vectors is, therefore, the sum of a scalar
and a vector.

The scalar of the quotient [Sq: ';—CLB cos ¢] is the ratio of the

tensors times the cosine of the contained angle. The tensor of
the vector part l:TVq = %;g sin ¢:| is the ratio of the tensors times
the sine of the contained angle. The versor of the vector part
[UVg= €] is a unit vector perpendicular to their plane, having o
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direction” such that the direction of rotation of the divisor is posi-
tive or left-handed.

Letting a and b be the tensors of « and 8, and collecting the
preceding expressions for facility of reference, we have

N

Tg=2
=
Ug=cos ¢ + e¢sin ¢
Sg=2
q 5 Cos ¢
Vq=% sing . ¢
... . (88).
TVq:% sin ¢ . (36)
UVg=¢
SUg=cos ¢
VUg=sin¢ . ¢
TVUg=sin ¢ )

These expressions require no further explanation than that
derived from a simple inspection of Equation (15) in connection
with the meaning already assigned to T, U, 8 and V as symbols
of operation.

39. De Moivre’s Formula.

The following considerations will explain why the parenthesis
(cos$ +esing) as a versor turns 8 left-handed through an
angle ¢. They also contain the quaternion interpretation of
imaginary quantities.

Let v = sin ¢ and z = cos ¢.

Differentiating,

dv=cos¢ d¢, dz=—sing d¢,
or
dv = zd¢, )
dz = — vdé. ®)
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Multiplying (a) by v/—1, and adding the result to (b),

dz4dv V1= (—v 42V —1) dg,
or

de+dv N —1= (v =1+ z)\/_——l de,
whence

d@+oV—1)_ .. =
PR =d¢ . V—1,

which may be written
240N 1= et
or
cos +sing « V—1=eov1,
wheénce
cosmep + sinme « V/ — 1= emo=1,

But we have from (d)
(cosp +sing « V—1)m= emb~-I,

and therefore, from (e) and (f),

61

©

(@
©

)

(cos ¢ +sing « V—1)m=cosme + sinmep « V—1 (87),

which is the well-known formula of De Moivre.

This formula may be made the basis of a system of analytical
trigonometry. Thus, for example, to deduce the formulae for
the sine and cosine of the sum of two angles, we have from (d)

cos +singp vV —1=e?v"1
cosd 4-sin vV —1=efv L

Maultiplying member by member,

cos ¢ cosf + cos sind .V —1 4 cosf sing o V—1—
sin ¢ sin g = e +OvL
But from De Moivre’s formula

cos (¢ + ) + sin (¢ + ) V1= @ +OV=L

)

)
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Equating the first members of (g) and (%), since in any equa-
tion between real and imaginary quantities these are separately
equal in the two members, we have

cos (6 + ¢) = cosd cos¢ — sin 6 sin .
sin (0 4 ¢)=sin 6 cos ¢ + cos b sin ¢.

These formulae, while they may be of course demonstrated
independently of De Moivre’s formula, are here deduced from
imaginary expressions. It would therefore appear that these
expressions admit of a logical interpretation.

If any positive quantity m be multiplied by (v —1)? the re-
‘sult is —m. That is, in accordance with the geometrical inter-
pretation of the minus sign, we may regard the above factor
- (v/=1)? as having turned the linear representative of m about
the origin through an angle of 1802 1If, instead of multiplying
m by (V—1)? we multiply it by vV —1, we may infer from
analogy that the line m has been turned through an angle of 90°

about the origin. If, too, we ob-

Fig. 13;3' serve that each of the four expres-
e sions

/'/ mvV~1 ‘\\ my, mNV—=1, —m, —mv—1
X ';" —m___ |0 m :'X is obtained from the preceding by
Y i multiplying by the factor v/ —1, they
\ —my “f," may be regarded as denoting in
‘\\___ ‘__‘,/ order a distance m on the co-ordi-
g nate axes OX, 0Y, 0X, OY'

. (Fig. 83), v/—T1 being, as a factor,
a versor turning a line left-handed through a quadrant. These
expressions therefore locate a point on the axes, both as to dis-
tance and direction from the origin.
Since every imaginary expression can be reduced to the form
tatdV—1, we may, in accordance with the above interpre-
‘tation of v/ —1, regard such an expression as defining the posi-
tion of a point out of the axes. Thus oa =g (Fig. 84) and
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AP =b, laid off at o at right angles to oa since b is multiplied
by v/ —1; so that in passing over oA and AP in succession we
reach the point p. It is also evident that such an expression
implicitly fixes the position of p by
polar co-ordinates, since Vo2 + b2 = or Fig. 34.

and tan POA=9 . In like manner

® 'y 2
— b+ a+V =1 would locate a point ¥}
oa' having a length = a, but laid off
perpendicular to o4, since V—1 is a
factor, and A'?'= — b. As before, o 4
we have implicitly op'= Va2 + b2 and

tan ploa = —2.
b

Furthermore, if we operate on the
first expression, a + b+/—1, which fixes the point P, with
\/:_i, we obtain the second, —b 4o \/——1, or vV—1 as a
factor turns op through 90° so as to make it coincide with
op. As an operator, therefore, we may regard v/ —1, like %, §,
k, as a quadrantal versor, turning a line through a quadrant
in a positive direction. Algebraically it denotes an impossible
operation. (In Algebra quantities are laid off on the same
line in two opposite directions, + and —. It was because quan-
tities are so estimated only in Algebra that Sir W. Hamilton
called it the Science of Pure Time, since time can be estimated
only into the future or the past.) But it is unreal or imaginary
only in an algebraic sense. If the restrictions imposed by Al-
gebra are removed, by enlarging our idea of quantity and at the
same time modifying the operations to which it is subjected, this
imaginary character disappears. In applying the old nomen-
clature to these new modifications, it will be seen that the prin-
ciple of permanence is observed, ¢.e., the new meaning of terms
is an extension of the old ; and when the new complex quantities
reduce to those of Algebra, the new operations become identical
with the old. '
If now we operate upon

a+bvV—1,
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which, if we regard a=oa (Fig. 35) and bV —1= ap as
vectors, is equivalent to op, with the
Fig. 35. expression

Y oo cos ¢+ sing » V—1
! AY

of De Moivre’s formula, we obtain

acosp—bsing 4+ —1 (a sing +
b cosg).

X Draw OX' so that X'OX =¢; also
pa"” and AL perpendicular and as par-
allel to OX! Then

a cosp —b sin g =or — A"L =04
a 8in ¢ + b cosp =14+ sp=4a''p.

Make oa'=o04)" and lay off A'p'= 4"p perpendicular to OX,
since it has vV —1 as a factor; then

(@ cosp — bsinp) ++ —1(a sin ¢ + b cos p) = 0a'+ A'p'= 0B}

and p'or = ¢.
But the formulae for passing from a set of rectangular axes
0X, 07, to another rectangular set OX, QY are

@ = 'cos ¢ + y'sin ¢,
y=1y'cos ¢ — x'sin ¢,

in which XOX'=4¢, 2=o04a, y=ap, a'=o0a y'=ra! or

OA = OK -4 KA,
AP = NP — A"'K,

A"E being perpendicular and A’ parallel to OX.

Hence the effect of the operator has been to turn op left-
handed through an angle ¢, which is equivalent to turning the
axes right-handed through the same angle.
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+1,—1 and v/ —1 are particular cases of the general versor
cos ¢+ sing . V=1,

namely, when ¢ is 0] 180° and 90° respectively, -+ 1 preserv-
ing, —1 reversing and V' —1 semi-inverting the line operated
upon.

‘We may now see the meaning of De Moivre’s formula

(cose +sing « V—1)" = cosme + sinmep . vV —1.

As operators, the first member turns a line through an angle ¢
successively m times, while the second member turns it through m
times this angle once, producing the same result. The expressions
cos¢+sineg . V=1 and cos¢ +siné. e are identical, except
that in the latter the plane of rotation is not indeterminate,
being perpendicular to e, v —1 being any unit vector with in-
determinate direction in space.
Equation (37) may be put under the form

cosm (2wn + ¢) 4 sinm (2mn 4 ¢) « V—1=[cos (2mn + ¢) +
sin 2mn 4+ ¢) . V—1]™

In the second member if ¢ = 0 and m = §, we have /1 for all
integral values of n, while the first member for n=10, n=1,
n=2 becomes 1, —%+*FV—1, —F—¥EV/ =1, the three
roots of unity.

In the same way for m =,
LY

%+_2_§\/_—1,

— 14BN

Yi= —i,+ 2 —1,

the six roots of unity. The real roots lie on the axis, along
which direction is assumed plus and minus, while the imaginary
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roots are vectors in a direction not that of the axis, and are the
gsum of two vectors, one of which is in the direction of the axis
and the other perpendicular to it.

40. Let o and B be unit vectors along oa and os (Fig. 36).
' Resolve 0A =a into the two vectors
Fig. 36. op, pA. Then

OA = o= OD - DA.
But
oD =cos ¢ . 3,

pPA=c(sing . B)=sind . B,

¢ being a unit vector perpendicular to
the plane AoB, as in the figure. Hence

a=0cos¢ . B+ sine . €f. (a)

Now when o and B are unit vectors, we have by definition
«B=(cos ¢ + esingp) B =a; or, comparing with (),

B

(cosp + esing)B=cos¢ . B+ sing .« 5.

The distributive law, therefore, applies to the multiplication
of « vector by the scalar and vector parts of a quaternion; for
if @ and B are not unit vectors, the tensors, as merely numerical
factors, can be introduced without affecting the versor conclu-
sion. Resolve B into the vectors oc, ¢B, ¢B being perpendicular
to oa. Then

OB = 8 = 0C + CB.
But
0C=co8¢ +a, CB=—c(sing.a).
Hence
CoS¢ . a —sing . ca =f3,

or, by the distributive principle,

(cos¢p —sing « ja=g.
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Using the two members of this equation as multipliers on the
corresponding members of (a)

(cosp—sing . ) aa= L (cosgp « B+sing . ¢f),

or, since o’ = —1,

—cosp+esing=La. . . . . (38).

If a and B are not unit vectors,

Po=TpTa(—cosdp+esing) . . . (39).

Operating with each member of () on 8,

a3 = (cos¢ . B+sing . BB
=cos¢ . A7+ sing . ¢
=—cos¢—esing . . . . . . (40),

or, if a and B are not unit vectors,
o =TaTB(—cosp —esing) . . . (41).

The product of any two wectors is, therefore, a quaternion,
which, as before, may be regarded either as the sum of 8 scalar
and a vector or the product of a tensor and a versor. In gen-
eral notation

of=8a +VaB=8g+Vqg . . . . (42),
af=Tqg.Ug . . . . . . . . (43).

The scalar of the product [SaB = — TaTf cos ¢] is the product
of the tensors and the cosine of the supplement of the contained
angle.

The vector of the product [Vof =—TaTR sin ¢ . €] has for its
tensor [TVoB="TaTB sin ¢] the product of the tensors and the
sine of the contained angle, and for a versor [UVef=—¢] a
unit vector at right angles to their plane such that rotation about
it as an awxis is positive or left-handed.



58 QUATERNIONS.

Representing the tensors of « and 8 by ¢ and b, we have, as
in Art. 88, from Equation (41),

Fig. 6. Tq=ab )
Ug=—cos¢p —esing
S¢q=—abcos¢
Vqg=—absing . ¢
TVg = absin¢
Vg =—e r(44).
SUg=—cos¢
YUg=—sing . ¢
TYUg =sin¢
(TV:8)g=—tang J

4l. Resuming the expressions for the products and quotients
of o and g,

PBo=TLTa (— cos¢ + esin ), (@)
off = TaTB (— cos ¢ — esing), ib)
g:?(cosq&—asin@, (©)
%:%Z(cos¢+esin¢), (d)

we observe

1st. That if « and 8 be interchanged the sign of the vector
part is changed. It is equivalent to a reversal of the angle &,
and consequently a change in the direction of rotation. Hence

U¥fBo=e=—TVof
} . (45).

UVE —e=—1vA
B=F a

Vector multiplication is not therefore in general commutative.

2d. If the vectors are unit vectors,

(46),
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the product being expressed also by a quotient. This is of
course always possible, as appears from (a), (b), (¢) and (d),
and the transformation may be effected thus:

§=_@‘—;‘_ﬁ(cos¢—~esin¢), [Eq. 31)]

o Ta -
— Bo=TpTa (cosp — esin ) ;
Ba = TBTa (— cos ¢ + esin ).

3d. If ¢ =0, then in either (a) and (B) or (c¢) and (d)
the vector part of ¢ becomes zero, and the quaternion de-
grades to a scalar. When ¢ =0 the vectors are parallel, and

or

of=—TolB=—ab, as in Art. 85; also sz—“ :—_9, as in
T b
Art. 8. If at the same time a and 8 are unit vectors *=2%=1

e
[or=a0'=—a’=1] and af = o*=—1, as in Arts. 33 and 28.
If then q be any quaternion and Vq = 0, the vectors of which q
18 the quotient or product are parallel.

4th. If ¢ =907 then in either (a) and (b) or (¢) and (d)
the scalar part of ¢ becomes zero, and the quaternion degrades
to a vector; and either the product or quotient of two rectangu-
lar vectors is therefore a vector at right angles to their plane,

af reducing to — abe and = to %e, as in Art. 34. If at the

same time o and B are unit vectors, o8 = —e and =~ =¢, as in
Art. 27. B

If then q be any quaternion and 8q = 0, the vectors of which ¢
is the quotient or product are perpendicular to each other.

5th. If an equation involves scalars and vectors, the vector
terms having been so reduced as to contain no scalar parts, then
since the scalar terms are purely numerical and independent of
the others, the sums of the scalars and wvectors in each member
are separately equal. Thus if

2+ aat+bf=d+y+aa+(B'—0"p

then . (47),
#=d+y and aa+b8=aa+(b'—0"g
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which might also be written (Art. 38)

S (@ + aa+ ) =8[d +y + da+ (0'—0")B],
V(@ + aa+08)=V[d+y+ a'at(d'—b")B].

6th. é being the quotient which operates on a to produce 3,
a

f/:p C e 8.

7th. TVof, or ab sin¢, is the area of a parallelogram whose
sides are equal in length to a and b and parallel to o and S.
Saf3, or — ab cos ¢, is numerically the area of a parallelogram
whose sides are a and b, and angle ab is the complement of ¢.

we have by definition

8th. Since the scalar symbol S indicates the operation of
taking the scalar terms,
So=0 . . . . . . . (49),
and, for a similar reason,

Vo=a . . . . . . . (50).
Again, since o? is a scalar,

V()=0 . . . . . . . (51),
S(@=—a® . . . . . . (52).

V(o?) may be written V. o?, as also S(a®) = 8§ . o?, but these forms
must be distinguished from (Va)? and (8a)?, which latter are
also sometimes written V2o and §%.

9th. Comparing (a) and (b),

Saﬂ:Sﬁa‘. N GER
Yof=—VBa . . . . . . (54).

and

Adding and subtracting (a) and (b), we have also

a4+ Ba=288 . . . . . (55),
of —fa=2VefS . . . . . (56).
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10th. o8 . Ba = (Sof +Vaf) (Saf —VofB) [Egs.(53) and (54)]
= (8aB)?— 8a8Vaf + SafVof3 — (Vaf3)2.

' a3 . ,80.:(Sa,@)Q—(Vaﬁ)2 <. .. (8D,
or, from Equation (44),
af o« Ba=(Taf)® . . . . . (38).

Hence

42, Powers of Vectors.

The symbol i™, m being a positive whole number, has been
seen (Art. 28) to represent a quadrantal versor used m times
as an operator ; the exponent denoting the number of times is
used as a quadrantal versor. By an extension of this meaning
of the exponent, im would naturally represent a versor which,

as a factor, produces the ﬁth part of a quadrantal rotation.

Thus % produces a rotation through one-third, and % through
three-fifths of a quadrant, respectively. With the additional
meaning attached to the negative exponent (Art. 32), as indi-
cating a reversal in the direction of rotation, we may in general
define ¢, where ¢ is any vector-unit and ¢ any scalar exponent,
as the representative of a wersor which would cause any right
line in a plane perpendicular to i to revolve in that plane through
an angle t x 903 the direction of rotation depending upon the
sign of t. Hence every such power of a unit vector is a versor,
and, conversely, every wersor may bé represented as such a
power. - 2
Since the angle (¢) of the versor is ¢ X g0 e have t=—,
and any versor

cos¢ + esing
may be expressed

AL

cosp 4 €sing=€7 . . . . . (59),
2oL (60,

the vector base being the unit vector about which rotation takes
place, and the exponent the fractional part of a quadrant through
which rotation occurs.

and
cos¢p —esing =€~
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The operation of which % is the agent is one-half that of
which ¢ is the agent, and therefore two operations with the
former is equivalent to one with the latter; or, as in Algebra,

+

L
o=
B

itih=i=y (61),

or, employing the other versor form, if a, 8, y are complanar unit
vectors so that

a . 29
E:cosqb—l—esmqb:em
B Y
;/:eos6+esm€=e7f,
then since
a B a
— ¢ — ==
B v v
we have

(cos ¢ +esine) (cos b + esinf) = cos ¢ cos f + sin psinf +
e(sin ¢ cosf + cos ¢ sind)

= €08 (¢ + )+ esin (¢ + 6).

The second member is the U%, its angle being (¢+46), and

may be therefore expressed as the power of a unit vector, and

. 2(¢ +6 . .
written €2 ); this exponent is the sum of the exponents of

the factors, or

2¢ 26 2(¢ +6)
€ET EMT =€ 7« e e e e« . (62).

This is evidently an abridged form of notation to which the
algebraic law of indices is applicable.

Since e€=—1 and therefore =1 if ¢=—1, ¢ must be an
odd multiple of 2, and if ¢=41, ¢ must be an even multiple
of 2.

In either case the coefficient of # in ¢ = %w is a whole num-

ber, and cos ¢tesin¢ degrades, as above, to the scalar +1,
since sin mm = 0 when m is an integer.
If ¢=x1¢ ¢t must be an odd number; in which case also
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m=%, %, &, etc., cosmm =90 and the versor degrades to the
vector *e.

If the vector is not a unit vector, as @i = p, to interpret the
exponent, say pk, s0 as to satisfy the formula

1

ppi=p . .« . . . . (63),

which is analogous to Equation (61), we must combine with the
conception of rotation through half a quadrant an act of tension
represented by the square root of the tensor of p. Thus, if
=16, and we write ‘
ph= (160t =164,

then

oot = (168h) (16 i) = 161=0p,
or, if = V8,

P%=.\6/§ . 7:%‘-:'\/5. i%,
Pt =(V2 . iH (V2. i) (V2 . i) =VB . i=p.

And, in general,
p=@) = . . . . . (64),

or the tensor of the power is the power of the tensor, and the
versor of the power is the power of the versor. Symbolically

T.pf=(Te)* . . . . . . (65),
U.p=(Up) . . . . . . (66).

Any such power (), as the representative of the agent of
both an act of tension and version, is therefore a quaternion,
whose tensor and versor can be assigned by the above rules, and,
conversely, every quaternion can be expressed as the power of a
vector, which quaternion may degrade to either a scalar or a
vector as seen in the preceding versor conclusions. Hence it
follows that the index-law of Algebra is applicable to the powers
of @ quaternion.



64 QUATERNIONS.

43. Relation between the Vector and Cartesian deter-
mination of a point.

If i, j, k are three unit vectors perpendicular to each other at
a common point, then the vector from this point to any point »

may be written .
p=xityi+zk . . . . . (67),

in which 2, y, z are the Cartesian co-ordinates of . If the vec-
tors are not mutually perpendicular and are represented by a, 3,

v, then
p=watyBtzy . . . . . (68),

in which 2, y, z are the Cartesian co-ordinates of p referred to
the oblique axes. So long as the vectors o, 8, y are not com-
planar, p refers to any point in space.

Since any quaternion ¢ may be expressed as the sum of a sca-
lar and a vector, if w be any scalar, then

g=w+aat+yB42zy . . . . . (69).

As composed of four terms, we observe an additional reason
for calling this complex expression a quaternion.
Any vector equation

p=c=aa+bf+ cy,
involves three numerical equations, as
r=a, y=b, z=c,
unless the vectors are complanar ; in which case we may write

v =na+mp,
and
p=(2+2m)a+(y+m)p,
o= (a+cn)a+ (b+cm)f,

which, for p = ¢, involves but two equations

r4+m=a+cn, y+zm=>b+ cm.
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Resuming the quadrinomial form of ¢, when the component

vectors are at right angles, we have

Sg=w
Vg =i+ yj+ 2k J

q=w+ o+ yj+ 2k
(70).

Since (TVg)?=— (Vq)?=2a’>+ 3y’ +2°, we have

TVg = Vo' + 3 + 2
UVg:Ez a2t + yj+ 2k .« .o (T,
Vg a2+ 9222
Also, since (Art. 41, 10th.)
(Tg)* = (89)* — (Vg)* =’ + 2" + ¢ + 2,

Tg =Vl + o>+ + 2
o _q _ w A 2+ yj+ 2k
TN Tty R
SU'Q:§‘g = w } v (72)'
Tq \/w2+w2+y2+z2

Vg — TV _ | &y +7
- T(] - w2+m2+y2+z2

44. The plane of a quaternion has been already defined as the
plane of the vectors or a plane parallel to them. The axis of
a quaternion is the vector perpendicular to its plane, and its
angle is that included between two co-initial vectors parallel to
those of the quaternion. If this angle is 905 the quaternion is
called a Right Quaternion. Any two quaternions having a
common plane, or parallel planes, are said to be Complanar.
If their planes intersect, they are Diplanar. If the planes of
several quaternions intersect in, or are parallel to, a common
line, they are said to be Collinear. It follows that the axes of
collinear quaternions are complanar, being perpendicular to the
common line. Complanar quaternions are always collinear, and
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complanar axes correspond to collinear quaternions, but the lat-
ter may of course be diplanar.

I
Let 22 and — be any two quaternions. If complanar, they
o'B

may be made to have a common plane; and, if diplanar, their
planes will intersect. In the former case let oE be any line of
their common plane, or, in the latter, the line of intersection
of their planes. Now, without changing the ratios of their vec-
tor lengths, the planes, or the angles of the given quaternions,
two lines, or and oa, may always be found, one in each plane,
or in their common plane, such that with o we shall have

o'A  OF o'lc OG
L T and PN
0'B” OE o' o’

and, therefore, any two quaternions, considered as geometric
fractions, can be reduced to a common denominator ; or, in the
above case

o'a o'"c  oF 06 _or+oc

_l_

oB ' od” OE O  OE

Moreover, a line om, in the plane Ao'B, may always be found
such that
0'A  OE
o'B~ on’
and therefore

and
04 0'c_OF 0G_OF OE_oOF

080 OE‘OE OE oG oG

45. Reciprocal of a Quaternion.

The reciprocal of a scalar is another scalar with the same
sign, so that, as in Algebra, if « be any scalar, its reciprocal is

m_l — l.

&
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The reciprocal of a vecfor has been defined (Art. 33), so that,
if « be any vector, - =a™'=— an.
a Ta

The reciprocal of a quaternion has also been defined (Art.

26) ; thus
=q

™la

being any quaternion,

1 -
E — == q 1
o g
is its reciprocal. The only difference between the quotients

% and B (Fig. 87) is. that, as opera-
a

Fig. 37.

tors, one causes 3 to coincide with a,

while the other causes a to coincide

with 8. A quaternion and its recipro-

cal have, therefore, a common plane

and equal angles as to magnitude, P
but opposite in direction; that is, *#a
their axes are opposite. Or

Z 1=Lq and axis L= — axis q.
q q

Since

. E=§, and
a a

Eesties)
eI

1: =§=17

w8

B
BB

™ e

the product of two reciprocal quaternions is equal to positive
unity, and each is equal to the quotient of wunity by the other;

we have, therefore, as in Algebra, lq: 1 and ¢g=17, and no

1 q
new symbol is necessary for the reciprocal. — is, however,

sometimes written Rg, R being a general symbol of operation,
pamely, that of taking the reciprocal. It follows from the above
that

1 1
T§=_' e e e (78),
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or, the tensors of reciprocal quaternions are reciprocals of each
other ; while the versors differ only in the reversal of the angle.
If then '

q—/%—:f—%(comﬁ-}—e sin¢)

é:q-1=§—_—%8(cos¢—esin¢) f

we shall have (74).

Ry =

46. Conjugate of a Quaternion.

If B' (Fig. 37) be taken complanar with 8 and o, and making
with o the same angle that 8 does,
TS’ being also equal to TS, then, if
2=y, /% is called the conjugate of

B
¢, and is written Kg. The symbol K

indicates the operation of taking the
conjugate. A quaternion and its con-
jugate have, therefore, a common
plane and tensor, as also, in the ordi-
nary sense, equal angles; but their axes are opposite; or

LEKqg=sLq=21
q
TKQ = Tq = i‘ C . e . (75) .
and . T 1
axis Kq = — axis ¢ =— axis_
q
If then e
a
g====— COS¢+€Sln¢)
55"
we shall have . .. (76),
Ta .
Kg = — (cos¢ — esin¢)
TS J

or, the tensors of conjugate quaternions are equal, and the versors
differ only in the reversal of the angle.
Regarding a scalar and a vector as the limits of a quaternion
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(Art. 41, 3d and 4th), we see from Equation (76) that the con-
jugate of a scalar is the scalar étself, and that

Ko=—a=—Tala . . . . . (77),

or, the conjugate of « wector is the vector reversed. In general
notation we may write
g =8¢+ Vg,

whence it follows from the above that

or (Art. 43)

Kg =89 —Vgq } 8)

Kg=w—xi—yj—zk

that is, the scalar of the conjugate of o quaternion is the scalar
of the quaternion, and the vector of the conjugate of a quaternion
is the wvector of the quaternion reversed ; a result which may be
expressed symbolically

SKq = 8q } C e L (19).
YEg =—Vgq :

These are Equations (53) and (54).
If we add and subtract the two conjugate quaternions

g=8q¢+Vgq, Xg=8q—Vq,

we have
‘1+K‘7=QS‘1}. C e e . (80).
q—Kq=2Vq

The sum of two conjugate quaternions is, therefore, always a
scalar, positive or negative as the £qis acute or obtuse. If

Lqg= ;-r, this sum is evidently zero.

Since, if ¢ is a scalar, Kg =g, then, conversely, if Kg=g¢, ¢
is a scalar.
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47. Opposite Quaternions.
If, for %, we write —= (Fig. 87), the latter is called the
Opposite of ¢, and is evidently — g, for

—a_0—a_0 a

— == ——-=0—~¢=—q.
BB B 1==1

As appears from the figure, opposite quaternions have a com-
mon plane and tensor, supplementary angles and opposite axes ;
or

T(—q)=Tq, £—q=7—ZLq and axis (—¢) =— axis q.

=9
B B B B

Since -—a a a—a
—+ = =0,

the sum of two opposite quaternions is zero, or

Fig. 3. g+(—g)=0.
,,é, Also, since

—*. % __

B BTE

- —4__,
e 7=

or, their quotient is negative unity.
If then
a Ta .
g=-—=-—(cos ¢+ esin ¢)
B TR

we shall have (81).

Ta
T3

» Kg=—¢q; and, conversely, if Kg=—gq, ¢ is a

(——cos«;b—esinqs)J

™
. 2
vector.
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48. Since Uq is independent of the vector lengths, and only
dependent upon relative direction, versors are equal whose axes
and angles are the same. Hence

UKq:U:T C oL (82).
But (Art. 24)
B « Ua Uﬁ
11
Se= ... . (88
= (83),
and, Equation (82),
1
UKqg =
4= Uq

Again, since the conjngate of a versor is the same as the re-
ciprocal of that versor, we have, from Equations (82) and (83),

UKg=KUgq . . . . . . (84).

49. Representation of Versors by spherical arcs.
If o, B,y ooeee are co-initial unit vectors, their extremities will

all lie on the surface of a unit sphere (Fig. 38). g being any

quaternion, U 2 turns B from the position

Fig. 88.

oB to oA, and this versor may be repre-
sented by the arc BA joining the vector
extremities ; for this arc determines the
plane of the versor as also the magnitude
and direction of its angle, the direction
of rotation being indicated by the order
of the letters as in the case of vectors.
This representation of versors by vector
arcs is of importance in the theorems re-
lating to the multiplication and division of quaternions, and
may be made upon a unit sphere ; for, if a, B, y, <o are not unit
vectors, the quaternions will differ from the versors by a nu-
merical factor only, the introduction of which cannot affect the
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versor conclusions. Disregarding, then, the tensors, since ver-
sors are equal whose planes are parallel and angles equal (in-
cluding direction), equal arcs on the
Fig. 38. same great circle and estimated in the
same direction represent equal versors,
for any arc may be slid over the great
circle on which it lies without change of
length or reversal of direction. On this
plan B'A = aB will represent the recipro-
cal or conjugate of Ba, and a quadrantal
versor would have for its representative
BC, an arc of 907 Also, the versors of
all complanar quaternions will be repre-
sented by arcs of the same great circle, while ares of different
great circles will represent the versors of diplanar quaternions,
which are always unequal.

If M, ¥ and p are the vertices of a spherical triangle, the vector
ares MN, NP and pM will represent versors, and it will be seen
that by taking the geometric sum of two of these arcs in a cer-
tain order, the remaining arc will represent the versor of their
product ; so that if ¢’ be represented by pm and ¢ by Np, ¢'q¢ may
be constructed by a process of spherical addition represented by
PM - NP = NM, NM representing the versor ¢'q; but that because
¢'q and qq' are not generally equal, this process of spherical ad-
dition, as representing versor multiplication, is not commutative
as was that of vector addition, pm + Np and NP 4 PM representing
diplanar versors.

50. Addition and Subtraction of Quaternions.

Since a quaternion is the sum of a scalar and a vector, in
finding the sum or difference of several quaternions the sum or
difference of their scalar and vector parts may be taken sepa-
rately. The former will be a scalar and the latter a vector;
consequently, the sum or difference of several quaternions is a
quaternion.
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1. Both the associative and commutative principles being
applicable to the summation of scalars, as also to that of vectors
(Arts. 4, 5), they also hold good for the addition and subtrac-
tion of quaternions ; or

gt+r=r+gq }
and (85).
¢+ (+s)=(g+n)+s |
If then
¢=8¢+Vq
r=8r+Vr
Bl
S=q4 714 = 8s+Vs;
in which
Ss=8(qg+r4 - Y=8¢ + Sr 4 e ,
Vs=V(g+ 7+ Y=Vg + Vi oo ,

and, in general,
8¢ = 2S¢ }
N €16
V3¢ = 3Vq (86),

or, in quaternion addition and subtraction, S and V are distribu-
tive symbols.

2. Ifg4r+p+ - =s, then, Equation (78),
KQ+ K7-+Kp+‘. ..... :Sq+ S7+ S])..]- ...... _Vq_Vr.._.Vp— ......
=85 —Vs=Ks.

. 3Kg=K3¢ . . . . . . (87),
K, like § and V, being a distributive symbol.
3. Again, since the conjugate of a scalar is the scalar itself,

KS¢q = 8q.
But 8¢ = SKq. Hence

KS¢q=8¢=8Kqg . . . . . (838).
Also, since the conjugate of a vector is the vector reversed,

KVqg=—Yq.
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But — VYg= VKq. Hence
K¥g=—V¢=VKq . . . . . (89);
hence K s commutative with S and V.

4. Since any two quaternions may be
reduced to a common denominator (Art.
44), so that

a

) B
and since
Ta'+Ty' > T(a'+ y")

Fig. 88,

0.'—'— '
3=

unless o' =y and 2>>0, it follows that

Tqg+Tqg' >T(g+g")

unless ¢ =2¢' and 2>0. Hence, in general, TZq is not equal
to 3Tq. Moreover, since U3q is a function of the tensors under
the X sign, while ZUq is independent of the tensors, U3q is not
equal to 2Uq. This also appears from the representation of ver-
sors by spherical arcs (Fig. 88). Hence, in the addition and
subtraction of quaternions, T and U are not, in general, dis-
tributive symbols.

51. Multiplication of Quaternions.

1. Let
¢ ¢q=89+VYq, r=8r+Vr

be any two quaternions. Then
p=qr==8¢8r+ Sq¢Vr + SrVq +VgVr.

The last member, being the sum of a scalar and a vector, is a
quaternion. Hence, the product of two guaternions is a quater-

nion, and
p=S8p+Vp=S8qr+Vqr,

Sqr=8¢Sr+8.VgVr . . . . (90),

in which

and
Vor=8qVr +8 Vg +V.Vo¥r . . . (91).
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If we multiply ¢ by r, we obtain

Srqg =8rSq + 8. Vr¥g,
Vrq = Sr¥q + SqVr +V . Vr¥g.

But, Equation (53),

S . VrVg=8 .VgVr.
oo Srg=8gr. . . .« « <« . (92).

But, Equation (54),
Y.VqVr=-—V.Vr¥q,

and therefore the products gr and rg are not equal. Hence,
quaternion multiplication is mot in general commutative. If,
however, g and r are complanar, V¢ and Vr are parallel, and
V.V¢Vr=0; in which case gr=rg. Conversely, if gr=1q, q
and 7 are complanar. ‘

Since Reciprocal, Conjugate and Opposite quaternions are
complanar, they are commutative, or

gKqg=Xgq .q
91—-lq-—qq4-—q49 93
b ... (93).
g(—9)=—q9

2. It has been shown (Art. 44) that any two quaternions

g, ¢; can be reduced to the forms T and Y having a common

o a
denominator, or to the forms % and Y. Hence
a
le =z‘§=z.g=z.
7:9 o'a a B B

(94).
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In a similar manner

! = Z Ll Ty Ty TY Ta =T ! .
(@D T[a 8] vt vkl
I} (95).
J
Hence the tensor of the product (or quotient) of any two qua-
ternions is the product (or quotient) of their tensors, and the ver-
sor of the product (or quotient) is the product (or quotient) of
their wersors.
In fact, tensors being commutative, we have, in general,

U(¢)=0%= Ug'Ug

Tig=TITg . . . . . . (96),
IIg =TIlg « Ullg = IITq . IIUg,
<o Udg=I0g . . . . . . (97).

3. The multiplication and division of tensors being purely
arithmetical operations, we proceed to the corresponding opera-
tions on the versors. It has been shown (Art. 44) that any
two versors ¢, ¢, may be reduced to the forms

_B_om Y Fig. 39
q_a—(—);, Q—E &? (Fig. 39),

A, B, c, being the vertices of a spherical triangle on a unit
sphere. Then .
gg="7. B A

B a oA

If we represent the versors ¢' and ¢ by the vector arcs B¢’
and aB, then the versor Z,, the product of ¢'g, will be repre-
sented by the arc ac'; mo?‘eover if q”=7£ represent any divi-
dend and ¢ = g any divisor, then

¢"_ ¥ a_o _od,
g e BB on’
the versor of the product ¢'q being

BC' 4+ AB = aC/,
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. qH
and the versor of the quotient Z.
AC'— aAB = BC';
and, as in the addition and subtraction of quaternions, the pro-

cess consisted in an algebraic addition and subtraction of scalars
but a geometric addition and subtrac-

tion of vectors, so the multiplication Fig. 39.
and division of quaternions is reduced ///;;
to the corresponding arithmetical ope- A NG ¢

rations on the tensors and the geome-

trical multiplication and division of

the versors, the latter being con-

structed by means of representative o

arcs and the rules of spherical addition and subtraction.

4. The representation of a versor by the arc of a great circle
on a unit sphere illustrates the non-commutative character of
quaternion multiplication. For, as and Ba' (Fig. 39) being equal
arcs on the same great circle, as versors

AB = BA/,
and similarly
cB = BC.
Now if '
B_o B_+Y
=L =— and r=-=4
=7 v B
then
(1' ﬁ ' ,}/I B _ ‘Y'
q7_l—3§-—— and Tq_ﬁ; D

the versors ¢r and g being represented by the arcs cA’ and ac'
respectively. These arcs, though equal in length, are not in the
same plane, and therefore the versors rg and gr are not equal.
Constructing. these versors, by spherical addition we should have

] !
BC' + AB = AC,
AB -+ BC' = BA' + CB = 04/,

a change in the order giving unequal results.
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Hence, unless ac' and ca' lie on the same great circle, in
which case ¢ and 7 are complanar, quaternion multiplication is
not commutative.

3. Other results, hereafter to be obtained symbolically, may
be readily proved by means of spherieal arcs, as follows :

If as (Fig. 39) represents the versor of ¢ = 'g, A'B =BA repre-
sents the versor of Kgq or 1 The spherical sum of AB 4 Ba
being zero, the effect of the versors in the products gKg and q}q_

is to annul each other. Hence, if the vectors are not unit

vectors, Kg=Kq.q=(Tg)*. . . . . (98),
1 1
q_z_q:]..
q q

Again, from
AB 4 BC'=0a',
we have

and the versor of K (¢r) will therefore be represented by a'c.

But
alc =38c + A'B,
whence
Kigr)=XsKq . . . . . . (99),

or, the conjugate of the product of two quaternions is the product
of their conjugates in inverted order.

6. The product or quotient of complanar quaternions is readily
derived from the foregoing explanation of versor products and
quotients as dependent upon a geometric composition of rota-
tions. For, disregarding the tensors, the vector arcs which
represent the versors, since the latter are complanar, will lie on

the same great circle, and the processes which for dliplanar ver-
!

. a
sors were geometric now become algebraic. Thus for q':zg

o B o

B o d

andq=§’ L
W@=qq9=
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and, Fig. 39,
‘ BA' 4+ AB= AB 4 BA' =47

!
also for ¢"="2 and ¢'= g,
a

and
BA + AA'=BA".

The product or quotient of any two complanar quaternions is
therefore obtained by multiplying or
dividing their tensors and adding or Fig. 39.
subtracting their angles. Thus

pg="Tp . Tq[cos (¢ +6)+ A!
esin (¢ +6)]. /\
Ifp=g,

@ =(Tq)?(cos2¢ +esin2¢),

or, generally,
¢"=(Tg)*(cosn¢ +esinng) . . . (100},

whence result the following general formulae,

=
U(g") = (Ug)"
SU(¢") = cosnéqJ (101),

TVU(¢")=sinnLq
which are all involved in Art. 42.

52. 1. Distributive and Associative Laws in Vector
‘and Quaternion Multiplication.

Having assumed (Art. 24)

B+y

@

bl

R

+1=
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whence

Ba™t +yat = (B +y) o7,

since « is any vector, we have

Batye=(B+y)a. (@)

Taking the conjugate of (8 + y)a,
K[(B+7)a]=KaK(B+y) [Eq. 99]
= Ko (K8 + Ky) . [Eq. 87]

Taking the conjugate of (Ba + ya),
K(Ba + ya) = KBa + Kyo = KoK + KoKy.
Hence
Ko (KB + Ky) = KaKS + KoKy,
a!(ﬁl_,’_ ,yl) — alﬁl_‘_ ll"y’_ (b)

Hence, from (a) and (b), the multiplication of wectors is a
doubly distributive operation, and

B+y)(a+8)=Latya+L5+v . . (102).

or

!
2. Let q:% be any quaternion and e any vector; also Ba

vector along the line of intersection of a plane perpendicular to

a with the plane of g. Then another vector, 8, may be found in
BB

. 8 8

and axis as % Also let y be a vector in the intersecting plane,

the latter plane, such that ¢= having the same angle, plane

such that Y =a. If now  be any scalar,

_ I\B_ (4B | NB
(“+“)q"<“+ﬂ>8 (B+B>3
_Bry B_aB+y
=TR ST s

Il

=aq +ag.
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Taking the conjugates as above,

g'(a'+ o)y =g'a'+ ¢d
Hence, in general,

(@ + a) (¢/+ o'y = aa'+ ao'+ a'a + oas ©

or regarding a, @, and a, o' each as the sum of two scalars and
two vectors respectively,

(o4 g+ a1 + ay) (a'y + aly+a'y+aly) =
(a4 ay) (a'y + a'y) + (o + ay) (oy + a'y) + (a4 a'y)
(o34 ag) + (a1 + ag) (s + o) =
(ay + ) (ah+ ay) + (o + ar) (a'y + a'y) + (az + as)
(a'1+ o) + (ast as) (a'2+ OL'2),

since, from (¢), the factors in the expression preceding the last
are distributive. Putting for the parentheses, which are sums
of a scalar and a vector, the quaternion symbols p, ¢, » and s,
we have

(p+Q(r+s)y=pr+ps+qrtgs . . (108),
or, the multiplication of quaternions is a doubly distributive
operation.

3. Assuming any three quaternions under the quadrinomial
form, Article 48, i, k, j being unit vectors along three mutually
rectangular axes, we have

g=w +xi +yj +zk, (a)
r=w +2i + 9y + 2%, )
' s=w'"+ 2"+ y'i+2"k. (©)

Multiplying first () by (b) and the result by (a), and then
(b) by (@) and (c) by this result, observing the order of the fac-
tors, it will be found that the scalar and vector parts of these
two products are respectively equal, and therefore

g(rs)=(gr)s . . . . . (104),

or, the associative law is true in the multiplication of quaternions.
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53. 1. If a and 8 be any two vectors, then
(a+B) (a4 B)=(a+p)"=a +(af + Ba) + 7
whence, Equation (55), or, comparing Equations (39), (41)

1 (80),
and ( ) (a—f—ﬁ)z:(lz—f‘QSaﬂ'f'BZ . .. (105).
2. Similarly

(e=B)(a—=B)=(a—B)’=d* —(af 4 fa) + £,
(a—PB)'=0o"—28aB+4* . . . (106).
3. From Equation (57), or by multiplying ¢ =8¢+ Vg into
MY g = (80— (Vo)
hence, from Equation (98), the equalities

off « fa=qKg=(Saf)" — (VaB)?=(Tg)* . (107).

or

54. Applications.

1. In any right-angled triangle, the square on the hypothenuse
is equal to the sum of the squares on the sides.
Let the sides, as vectors, be repre-
Fig. 40. sented by a and B (Fig. 40), and the
hypothenuse by y. Then

8 y=a+p.
Squaring, Equation (105),

72=0“2+2S0'B+ﬁ27
Yy =d+

or, Art. 41, 4,

or, as lengths simply, changing signs [Equation (33)],
BAZ = BC% 4 cal

2. In any right-angled triangle, the medial to the hypothenuse
is one-half the hypothenuse.
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In Fig. 40, for the medial vector ¢ = §, we have (Art. 15)

%(ﬁ—a),

— Q.

3

or
28 =

™

Squaring, and since §8a =0,

48 =24 o
or

ca’4c?  ap?

cp? = + = —

4 4
AB
‘e CD—=—.
2

3. If the diagonals of o parallelogram are at right angles to
each other, it is a rhombus.

TLet the vector sides be represented by « and 8. Then a4 3
and o — 3 are the vector diagonals.

By condition
S(a+B)(a—B)=0. [Art. 41, 4]

But, Equation l(53) ,

S(a+p)(a—p)=a'— =0,

which is trne only when Ta=Tg, that is when the sides are
equal.

4. The figure formed by joining the middle points of the sides
of a square is itself a square.

Let Bc and ca (Fig. 40) be the sides of a square, P and @
their middle points, and o the middle point of the side opposite
pc. Then, with the same notation,

re=3}(a+p), @=3%B—-a);
.. 8(PQ . Q0)=0,
or pQ and o are at right angles.

5. In any triangle, the square of a side opposite an acute
angle is equal to the sum of the squares of the other sides, less
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twice the product of the base and the line between the acute angle
and the foot of a perpendicular from the angle opposite the base.

Fig. 41. Let ca =3, ¢B = a, BA =y (Fig. 41).
Then
B=a+ Vs
ﬁ2=a2+2Say+y2.
¢ Now
280y =— 2TaTy cos (180°— B)=
d B 2accosB.
Hence
—V=—a*—c+2accosB=—a’—c? + 2ad,

or

P=a'+c*—2ad.
If B is a right angle, Say =0, and, as in Example 1,
PP=a’+c.

‘What does this theorem become for a side opposite an obtuse
angle?

6. In any plane triangle, to find a side in terms of the other
two sides and their opposite angles.
In Fig. 41,
B=a+ty.

Ba= o+ va.

Multiplying into a

Taking the scalars (Art. 41, 5),

8Ba = — & + Sya,
or
—ba cosc=—a? — ca cos (180°—B) ;
. a=0>bcosc+c coss.

The ahove operation with o is indicated by saying simply,
‘ operating with X 8. a,” meaning that a is first introduced and
then the scalars taken. The position of the sign X will indicate
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how o is used. If used as a multiplier, we should write, ¢ oper-
ating with § « a X.”

7. The sines of the angles, in any plane triangle, are propor-
tional to the opposite sides.

In Fig. 41

B=a+y-
Operating with X V. a, that is, as explained in the preceding
example, multiplying into « and taking the vectors (Art. 41, 5),

VBoa=V(a+7y)a=V. a? +Vya.

But V. a?=0; hence
Vo =Vya,
ba sinc = ca sins,
or
sinc:sinB::c¢:b.

Notice that VBa and Vya involve a unit vector at right angles
to their plane, and that, owing to the order of the vector factors,
¢ has the same sign in both members of the equality, and may
therefore be cancelled. The period in V. «* may evidently be
omitted, as in VBa; it will be used hereafter only to avoid am-
biguity. Thus Kgr means the conjugate of ¢r; but Kg .r isr
multiplied by the conjugate of g.

8. In a right-angled triangle, to find the sine and cosine of the
acute angles.

Let AB =1y, aAc =, Bc = (Fig. 42). Fig. 42. |
Then i
B =Y +a,
whence .
Y e / a
==~ 4—-
B B
Taking the scalars, since S §= O, A > c

¢ b
1=-cosA, Or COSA=—-
b ¢



86 QUATERNIONS.

Fig. 42. ’ Taking the vectors
B
VL —}-' v(i:' 0
. BB
a ¢ . a .
~sinA — = sinc=10;
b b ’
Lo a
. — c . sina =

In this example UVZ =—_TUV=
Pe s B

9. To find the sine and cosine of the sum of two angles.
Let a, 8, y be complanar unit vectors (Fig. 43), and ¢ a unit
vector perpendicular to their plane. We have

=cos¢ + esing,

o
<ﬁ Y cos($+6) -+ esin(¢ +6),

=
I WIR 2l

= cosf + esinf.

Hence

cos(p + 60) + esin(p + 0) = (cos ¢ + esin¢) (cos 6 + esinfh)
=cos ¢ cosf + e(sing cosd + cos ¢ sind) + &sinf sin ¢.

Equating the scalar and vector parts in succession, there re-
sults, since & =—1,
cos(¢p + 6) = cos¢ cosd — sin ¢ sinb,
sin (¢ 4+ 6) = sin ¢ cosf + cos ¢ sind.

10. To find the sine and cosine of the difference of two angles.
Let the angle between y and o (Fig. 43) be . Then
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in which
= cos(y — ) — esin(y — 6),

= cos6 4+ esind,

Z = cosy — esiny,

RIg gIHRI®

and, as in the preceding example,

cos (i — @) = cos@ cosy +-sind sin ¢,
sin (¢ — 8) = cos 6 sin  — sind cos .

11. If a straight line intersect two other straight lines so as to
make the alternate angles equal, the two lines are parallel.

Let a and y (Fig. 44) be unit vectors along AB and c¢p, and
B a unit vector along ac. Then

off = — cos0 + esind, Fig. 4.
By =—cosf —esind; B4 A B
whence 8
off — By =2V, Ny \‘? y
and therefore, Equation (56), y=a. /
If a = as! then
aﬁ = cos @ — esind,
By =— cosf — esind,
off — By =284
Cey=E—a [Eq. (55)]

12. If a parallelogram be described on the diagonals of any
parallelogram, the area of the former is twice that of the
latter.

Let o and 3 represent the sides as vectors ; then the diagonals
are a + 3 and « — 3, and

V(a+pB) (a—B) =V(Ba—af) =2Vfu,

since Vo?=VB%=0 and —Vaof3 = V.
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But, from the order of the factors,
UV(a+fB) (a— B)=TUVfa,
TV (o + B) (a — B) = 2TVBa,

which is the proposition (Art. 41, 7).

hence

13. Parallelograms on the same base and between the same

parallels are equal.
We have (Fig. 45)
Fig. 45.

A B D ¥ BE = BA + AR
== BA 4 ZBC.

Operating with ¥, Bc x

o V(Bc . BE)=V(BC . BA),
since VzBc?= 0.

Hence
BC . BE 8in EBC = BC . BA 8in ABC,

which is also true when the bases are equal, but not co-incident.

4. If, from any point in the plane of a parallelogram, per-
pendiculars are let fall on the diag-
onal and the two sides that contain
it, the product of the diagonal and
tts perpendicular is equal to the
sum, or difference, of the products
of the sides and their respective per-
pendiculars, as the point lies with-
out or within the parallelogram.

Let 0A =a, 0B =, or =p (Fig. 46).

Then
Vap +VBp =V(a+ f)p.
But
UVap =UVBp=TUV(a+ B)p.
Hence

TVap 4 TYBp =TV (o + B)p.
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~

For p' = op', we have

UVap'=—TUVBp'= UV (a+ B)p';
s Vo' ~TVBp'= TV(a-+B)p:

15. If, on any two sides of « triangle, as ac, aB (Fig. 47),
any two exterior parallelograms, as ACFG, ABDE, de constructed,
and the sides ED, 6¥, produced to meet in 1, then will the sum of
the areas of the parallelograms be equal to that whose sides are
equal and parallel to cB and AH.

Let AE=a, sAB=f, AC=Yy
and A =46. Then

Fig. 47.

AH = AE 4 EH
= a— x,8
Operating with XV . 8 g

Vom.p)=Vap. (@) -

‘We have also

AH = AG +GH
=0— Yy
Operating with X V. y
V(aH . y) =Vdy. ®)

Hence, from (a) and (0),

Vau(B —y)=Vaf —Viy,
V(an . cB) =Vaf —Viy=Vaf8 4Vys.

These vectors have a common versor ; whence the proposition.
If one of the parallelograms, as Ap', be interior, then AE'= —«
and aR'=—a —2'8=06+y'y, and

V(ar'. B)=—Vap,
V(ar'. y)=Vdy;
oo Vau'(B —y)=—VoB —Vdy =VSBa —Viy.
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But in this case
UV(an'. ¢B) =— UVfBa =— UVdy,

and the area of the parallelogram on An', cB, is the area of Ax
minus the area of ap'

16. 7o find the angle between the diagonals of a parallelogram.

Let aAp=3Bc=a (Fig. 48),

and BA=cp = 8, d and d' being

p the tensors of the diagonals.
Then

AC + DB=—(a— B) (a4 B)
= — = (aB— fu) +
=—o®—2Vaf + %

Taking the scalars

€oSDOC o dd'= o — b2
Taking the vectors
sinpoc . dd'= 2absind,

since UV(ac « pB) = — UVeg.

.~ tanpoc=—tan¢ = 2;—?51—220
17. The sum of the squares on the diagonals of o parallelo-
gram equals the sum of the squares on the sides.

In Fig. 48
BD'=(a+ )= o? 4+ 28af + 2,
CA2=(ﬁ—a)2=BZ—QSa,8—I—a2;
. cA’+BD = 2a% 4 2 3%,
or

BD? - cA% = BA? 4 AD? + DC? + oB2.

18. The sum of the squares of the diagonals of any quadsri-
luteral is twice the swm of the squares of the lines joining the
middle points of the opposite sides.
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Let AB=a, ap=f3, pc=y (Fig. 49). For the squares of
the diagonals, we have

B+7)+ B~ o
4
and for the bisecting lines e} (;
[18+y—3B+y—a) ) +[B+3y—3a]" 4 ¥ a

‘Whence the proposition readily follows.

19. The sum of the squares of the sides of any quadrilateral
exceeds the sum of the squares on the diagonals by four times the
square of the line joining the middle points of the diagonals.

Let AB=1a, AC=f, AD =1y

(Fig. 50). The squares of the Fig. 50.
sides as vectors are D
a4+ (B—a)+ (=B +7% ¢
A

2(o? 4 B2+ 42 — 28Ba — 28yB.
The squares of the diagonals are
B+ (y—a)%
B+ 92+ of — 2 8ya.

or

The former sum exceeds the latter by
a®+ B+ — 2880 — 28y + 2 8ya,

(“":3'{“)’)2’

which may bhe put under the form

4(““57_'2)2.

or by
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Bus (1—_;—1=A0, and _§=SA. Substituting these values,

we obtain
4(40+s4)? or 4507,

which is also true of the vector lengths.

20. In any quadrilateral, if the lines joining the middle points
of opposite sides are at right angles, the diagonals are equal.
‘With the notation of Fig. 49, we have

e« i =[}(y —a)+Blz(a +7)-
But, by condition,
S(FE . GH) = 72 5 +SBV+SB“

‘Whence
(y+B)=(B—a),
AC?=BD?,
or
AC =BD.

Fig. 1. 21. In any quadriateral prism, the
c sum of the squares of the edges exceeds
the sum of the squares of the diagonals
by eight times the square of the line
Joining the points of intersection of the
two pairs of diagonals.

Tet oA=q, OB=L, 0C=1y, OD=§
4 (Fig. 51). For the sum of the

squares of the edges we have

2[a’+ B+ (8 —a)’+ 27"+ (8 — B)"],
2[262 + 252+ 29° 4 28% — 2882 — 2 854]. (a)
The sum of the squares of the diagonals is
(r+3)'+(r =8 +(y+a=B*+y+B—a)
2(*+ B4 8+ 29— 28q0). )

or

or
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The vectors to the intersections of the diagonals are
3@+y) and $(y+e+p),
and the vector joining these points is
$(a+B—3).
Squaring and multiplying by eight, we have
2[? + B2+ 8% + 28af3 — 2 8ad — 28435],

which added to (D) gives (a).

22. In any tetraedron, if two pairs of opposite edges are at

right angles, respectively, the third pair will be at right angles.
Let oo =@, 0B = f3, 0c =y (Iig. 52).

The conditions give F ifi 52
Sa (B — 7) =0,
8B(a—7)=0.
Subtracting the first of these equa-
tions from the second o B
Sy (a—pB)=0, Y
A

which is the proposition.

98. To find the relations between the edges, plane angles and
areas of a tetraediron.
With the notation of Fig. 52, we have

oA cB=(a—7)(B=7)>
cA.cB=aof —ay—yB+y2 (a)

or

Representing the tensors of ca and ¢B by m and n, and taking
the scalars of (a),
S(ca « ¢B) = Saf — Say — 8y8 + 7%
whence
¢ — (¢ C0S AOC — bC COS BOC == MmN COS ACB — ¢b COS AOB,
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which is the relation between the edges and their included
angles.
Taking the vectors of (a), and squaring,

[V(ca .cB)]2=(Vof)> —VafVay —VafBVyB8 —VayVaf3 } ®
+ (Vay)? +VoyVyB8 — VyBVafB +VyBVay + (VyB8)%

—(VafVyR —I—V‘)/BVaB) =—28.VaBVy8 (Eq. 55)
= 2TVefSTVyB cosB,

But

in which B is the angle between the planes Aog, Boc.

Also

— (VaBVay +VayVaB)=—28 . VafVay = 2TVaSTVay cos A,
and
VayVyB + VyBVay =28 . VayVyB = — 2 TVayTVyS cos (180°—c)

= 2TVayTVyB cosc,
Fig. 52.
c in which A, B and ¢ are the angles

opposite the edges BC, Ac and AB re-
spectively. Hence (b) becomes

—[TV(ca.cB)]*=— (TVof)?— (TVay)*

o B - (TVYB)Z
4+ 2TVaSBTVay cosa+ 2TVeSTVyS coss
+ 2TVayTVyS cosc.

But (Art. 41, 7th)
TV(ca . CB) = 2area ACB,
and similarly for the others. Hence, dividing by —4,

(area ABC)?= (area AoB)? + (area A0C)*? 4- (area Boc)? —
2 area AOB area AOC COS A — 2 area AOB area BOC COS B —
2 area AOC areaBOC COSC,

which is the relation between the plane faces and their included
angles.
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If the angles are right angles, then

(area ABC)? = (area AoB)® +(area 400)? 4 (area BoC)*

94. o inscribe a circle in « given triangle.
Let o, B,y (Fig. 53) be unit vec-

tors along the sides. Then, Art. 16,

the angle-bisectors are

A
2 (B+7)» : ‘Q )
'

Fig. 53.

—y(7+a)a
z2(a—f).

z(B+y)=cy—y(y+a)
Operating with V. (y + ) X

B

Now

P - [,
V8 +Vao3+Vay
Hence
so=a(B+7) = (B+7),

YyB8 +Vaf +Vay

or, since a, 8, y are unit vectors,

csinB (B+7)-

sina + sinB + sinc

Squaring, to find the length of A0, we have, since (8+7)*=
—2(14cos a),

s 2

csing

— AQP= — | — s ; 2 (14 cosA),
sinA 4+ sinB + 810 C

¢sinB —
40 = i > /2 (14 cosa),
sina 4+ sins 4-sinc
e¢sing
= 2 cos % A.

sina -+ sinB + sinc

95. If tangents be drawn ol the vertices of a triangle inscribed
in a circle, their intersections with the opposite sides of the triangle

will lie in a straight line.
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Let o be the center of the circle (Fig. 54) whose radius is
and oa=ga, 0B=y, oc=+y. Since oa and AP are at right

angles,
S(oa . aP)=0,

But

AP=AB+BP=AB+yBc=ﬁ_a+y(y_ﬁ);

Fig. 54, hence, substituting this value above,

Sa[B—a+y(y—p)]=0,
Sa? = 8af3 + yS(ay — af),

and
g=— 2+ Saf8 |
Say —SaB’
Therefore
. - —pn_ T 2 1 SafB _
OP=0B+BP=S+yBc=g Say — Sa,B( B
(P +80y)B—(* + Saf)y
Say — 8o

Similarly, or, by a cyclic change of vectors,

0Q = (r? + 8aB)y — (2 —}—Sﬂy)a

Saf8 — S$f3y
or = {2+ 8By)a — (0° + 8ay) B
8By — Say

Whence
(Say — SaB)op + (Saff — $8y) 0Q -+ (S8 — Say)or'= 0.
But also
(Say —8af3) + (Saff — 8By) + (887 — Say) = 0.

Hence p, ¢ and r are collinear.

26. The sum of the angles of o triangle is two right angles.
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Let a, 8, y be unit vectors along BC, ca and AB (Fig. 55).
Then (Art. 42)

« 2

—=€",

Y

2y

B_ew,

o

20

_/=€’/T, . .

18 /\__/6’

But 4
2¢ 20 2 9

@Y B R FeFo rOtIrY)
Yy B @

Hence 2(¢ + 6 + ) = an even multiple of 2 (Art. 42), as 2,
w .
as we go round the triangle » times.

In taking the arithmetical sum, or passing once round, we
take the first even multiple of 2, or

§(¢+6+¢)=4;
o b0+ =2m,

and the sum of the interior angles is 37— 27 =, or two right
angles.

97. The angles at the base of an isosceles triangle are equal to
eacl, other. '

Let o and B8 (Fig. 56) be the vector sides Fig. 56.
of the triangle, and Ta=TS. Then, if the
proposition be true,

@ _x B
a—f3 B—a

a(e—B) I =KB(B—a) = (B —a) B,
w(B—a)=(2—B)B;

.o = o,

k]

or

which is true, since Ta = Tg.
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28. To find o point on the base of a triangle such that, if lines
be drawn through it parallel to and limited by the sides, they will
be equal. :

Fig. 57, Draw pe (Fig. 57) and pr parallel to
B D ¢ the sides. From similar triangles, if
AE = ZAC,
g —AE_FB _ AB—AF
A ACT AB aB
& whence
AF
l—z=".
AB
Now
A AD = AF - FD,

or, since FD = AE,
= (1—x)AB + zAc.

But, since ¥p is to be equal to b,

(1—2)TsB =aTac=1y;
. (1—2)TasUsB = yUas,
2TacUac = yUac,

and therefore
Ap =y (Uas + Uac),

and p is on the angle-bisector.

29. If any line be drawn through the middle point of a line
Jjoining two parallels, it is bisected at that

Fig. 58. _poi/nt_
G H
R 30. If the diagonal of a parallelogram

¥ x U8 an angle-bisector, the parallelogram is
0 rhombus.

B ¢ 31. In any riangle the sum of the
squares of the lines cm, kE, oF (Fig. 58)
18 three times the sum of the squares of the
D L = sides of the triangle.

82. The sum of the angles about two right lines which intersect
is four right angles.
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83. If the sides of any polygon be produced so as to Jorm
one angle at each wvertex, the sum of the angles s four right
angles.

34. Find the eight roots of unity (Art. 39).

35. The square of the medial to any side of a triangle is one-
half the sum of the squares of the sides which contain it, minus
one-fourth the square of the third side.

55. Product of two or more Vectors.

1. Let g=0af, r=1y. Then, since 8gr = 8rq,
SafBy = Syaf.

Let ¢ = ya, r=3. Then

Sgr = 8rq = SyaS = 8Bya;
<. Safy=8Bya=8yeB. . . . . . (108),
or, the scalar of the product of three wvectors is the same if the
eyclical order is not changed.

This may also be shown by means of the associative law of
vector multiplication as follows :

afly = (af)y = (Saf +Vaf3)7.

Taking the scalars

Safy = 8(Saff +VaB)y
=8(VafB . y), since S(8af.y) =0,
=8. 'yVa.ﬁ;

introducing the term 8 . y8«8=0,

=8 .yVafB+8.y8«3
=8 . vy(8SeB +VafB)
= 8y(af3) = Syaf.
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In a similar manner

Safy =8 . a(SBy +VBy)
=8.a¥By
=8(VBy . a)
= S(VBy +8By)a
= 88ya,

SaBy = SBya = Syap.

and, as before,

2. Again
Safy =S8 . a(S8y +VBy)
=8.aVBy
=—8.dVyB
= — Sa(VyB8 + 8yB);
cSafBy=—Seyf . . . . .. (109),

or, a change in the cyclical order of three vectors changes the sign
of the scalar of their product.

3. Resuming

afy = a(By)

and taking the vectors,

VaBy =V. a(88y +VBy)
= aSBy +V. aVpBy.

VyBa=V(SyB +VyB)a
=V.a8y8 —V.aVyB
=Y. aSy,B +V. aV,Gy
=V.a(Sy8+VBy)
=aSBy+V. aV,B‘)/ ;
c VafBy=VyBa . . . ... (110),

Also

or, the vector of the product of three vectors is the same as the
vector of their product in inverted order.

4. Geometrical interpretation of SafBy.
Let a, 8, y be unit vectors along the three adjacent edges 0a,
oB, oc (Fig. 59) of any parallelopiped, § being the angle be-
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tween o and 8, and @' the angle made by y with the plane aos.
Then
a3 = — cosf + esind,

e being a vector perpendicular to the plane aon.
Operating with X 8 . y

SafSy = 8(— cosf + esinf)y
= 8(sinf . ).

But Sey=-—cos of the angle
between e and y=—sinf’;

. Sefy =—sindsiné.

Now, if a, B, y represent as vectors the edges 04, 0B, 0¢,
whose lengths are «, b, ¢,

Saﬂy = TaTﬁTy sing sin g’
=— abesinfsing’

But absing = area of the parallelogram whose sides are « and
b, and ¢sing' = perpendicular from ¢ on the plane son. Hence

— SaBy = volume of a parallelopiped whose edges are
a, b and ¢, drawn parallel to a, 8 and y.

Cor. 1. Whatever the order of the vectors, the volume is the
same ; hence, as already shown,

+ Saﬁy = 4 Sﬂ'ya =4 Syaﬁ =F Sa‘yﬂ, ete.

Cor 2. If Safy =0, neither a, 8, nor y being zero, then either
6=0, or §' =0, and the vectors are complanar.

Cor. 3. Conversely, if a, 8, y are complanar, S¢Sy = 0.

Cor. 4. The volume of the triangular pyramid of which the
edges are oc, OB, OA, is — 4 Saf3y.

5. We have seen that when «, 8 and y are complanar, SoBy=0,
and therefore ofy is a vector. To find this vector, suppose a
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triangle constructed whose sides AB, B¢, ca have the directions
of a, B and y respectively, a vector not being changed by motion
parallel to itself. Since the tensor of the vector sought is the prod-
uct of the tensors of a, 8 and y, we have to find U(aB .BC.cCA),
i.e., its direction. Circumscribe on the triangle aBc a circle and
draw a tangent at a, represented by T'ar. Since the angles TaB
and BcaA are equal, we have

1=y 55,[: U-'iﬁ],

cA AT AT

whence .
U(Bc.ca)=TU(aB.AT)[=TU(BA .AT)].

Introducing Uas X
U(aB.BC.cA)=TU(aB.AB . AT)[=U(aB.BA . AT)],
or, since U(ap.BA)=—(U.aB)’=1,
U(aB.BC.CA)=—T.ar'=T, ar.

Hence, if 4, B, ¢ are any three non-collinear points in a plane,
or if a, 8, y are the sides of a triangle joining them, in order
(in either direction, since VaSy = VyBa),

aBy, PBya, yef

are the vector tangents to the circumscribing circle at the angles
of the triangle.

Again, if A, B, ¢ are any three points in a plane, not in a
straight line, and « and 3 are two vectors along the two succes-
sive sides AB, BC of the triangle which they determine, and cp a
vector drawn from ¢ parallel to y, intersecting the circumscribed
circle at p, then is pa parallel to VafBy=3. For

§= ey =alyby=off By =~ (T8)"ef "y =~ (18)"5y,

whence U . —2, which turns 8 parallel to — a, turns v into a

direction 8§ = pa, the opposite angles of an inscribed quadrilateral
being supplementary.



(\

GEOMETRIC MULTIPLICATION AND DIVISION. 103

If y have a direction such that cp crosses as, or the quadri-
lateral is a crossed one, it is evident on construction of the
figure that Ub'= UaBy = U(ap) = — US.

Hence the continued product of the three successive vector
sides of a quadrilateral inseribed in a circle is parallel to the
fourth side, its direction being towards or from the initial point
as the quadrilateral is uncrossed or crossed; and, conversely, no
plane quadrilateral can satisfy the above formula + U8 = Uafy,
unless 4, B, ¢ and D are con-circular. The continued product
of the four successive sides of an inscribed quadrilateral is a

lar, f
scalar, for afyd=(afy)8 =% =T d’

Since the product of two vectors is a quaternion whose axis is
perpendicular to their plane, while the product of a quaternion
by a vector perpendicular to its axis is another vector perpen-
dicular to its axis, and so on, it follows that the continued
product of any even number of complanar vectors is generally a
quaternion whose axis is perpendicular to their plane, while the
product of any odd number of complanar vectors is a vector in
the same plane. Hence the formulae

Sa=0, Safy=0, SaBydc=0, etc.,

for complanar vectors.
If, however, the given vectors are parallel to the sides of a
polygon ABG - MmN inscribed in a circle, then

U(AB « BC + CD ++- MN o NA) == U(aB . BC . CA) U(AC + CD « DA) -oene
X U(aM . MN . NA).

But each of the products U(aB . BC . ¢A) is equal to U . AT,
At being the tangent to the circle at o. Hence

U(AB + BC + CD +++ MN o NA) = (U + AT)",

which reduces, according as n is even or odd, to &1 or £ U . AT.
Hence the product of the vectors will be a scalar or a vector
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according as their number is even or odd, and in the latter case
this vector is parallel to the tangent at a.

If the vectors are not complanar, but parallel to the successive
sides of a gauche polygon inscribed in a sphere, the polygon
may be divided as above into triangles, for each of which the
product of the three successive sides is a vector tangent to the
circumscribing circle, all these vectors lying in the tangent plane
to the sphere at the initial point. If the number of sides is even,
their product will be a quaternion whose axis is perpendicular to
the tangent plane, i.e., lies in the direction of the radius of the
sphere to the initial point; if odd, the product is a vector in the
tangent plane.

Hence, if A, B, ¢ and » are four given points, not in a plane,
AB=ga, BC=p, ¢D =1y being given vectors, and p any other
point such that pP =0, PA=p, if P lies on the surface of a
sphere through the four given points, we have the necessary and
sufficient condition

afyop = poyfa,

for each member is equal to minus the conjugate of the other,
and must therefore (Art. 46) be a vector,

6. From Equation (56),
By —vB=2VBy.
Operating with V. a X
2V.oaVBy=V.a(By—9yB).
Introducing in the second member Boy — Bay,

=V (affy — ayB + Bay — Bay)
= V(af + Ba)y —V(ayB + yofB)
=V.2(8ef)y ~V(ay +ya)B
= 2y8a8 — QﬂSa‘y.

VeaVBy=78ef —B8ay . . . . (111).

Hence
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This formula may be extended. Thus, for « write Va3, and

h
we have V. VadVBy = yS(Vad) B — BS(Vad)y,
V.VadVBy=9Salf — BSady . . . . (112).

An inspection of this formula shows that it gives a vector
complanar with y and 8. Moreover, since

V. VadVBy = V. VyBVad = 88yBa — aSyf35,

it is also complanar with « and 8, and is, therefore, parallel to
the line of intersection of the planes of a, §, and 3, y.
Similarly
V.VByVad = 88Bya — aSBy0 = —V . VadVBy . (113).
Adding Equations (112) and (113)
38Bya — aSBy8 + y8adB — BSady =0 . . (114),

3808y = a8By8 — BSayd +ySaBS . . . (115),

or

a formula expressing a vector § in terms of any three given di-
planar vectors, a, 8, y; so that, if

8y =0, —Suyd=8yad=¢, Sefd=a, Sefy=m,
8 =m1(ba + cf + ay).
7. Resuming Equation (111), and adding «S8y to both mem-
bers ‘
’ V. aVBy + o8By = y8a8 — BSay + o8By,

V. a(88y+VBy)=
VofBy=0a88y —BSay+y88. . . . (116).

The form of this equation shows that a and y may be inter-
changed, or that VaBy = VyBa, as already shown.
Again, replacing « by Va8 in Equation (111},

V. VafVBy = yS(VaB)B — B8(Vap)y,
V.VafBVBy=—88«By . . . . . . (117).

whence

or
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8. Writing Vydo first as V(y . 8¢8), and then as V(33 . of3),

we have
V(y + 8aB8) =V . y(88a3 +V3u3)

= y88aB +V . yV3ef
[Equation (116)] = vSa B3 +VyoSaB —VyaS33 +VyB88a. (a)
V(50 + o) =V(Sy3+VyD) (Saf +Va)
= Vy88aB +VafSyd +V . VyiVaf3
= VydSef + Vo385 —V. VaVy5,
or, Equation (112),
= Vy38af 4+ Vaf3Syd — 8SaBy+ ySaBd. (D)
Equating () and (b),
38aBy = VBySad +VyaSB3 +VaBSyd . . (118),

a formula expressing a vector 8 in terms of three other vectors
resulting from their products taken two and two; so that, if
SeBy=m, Sad =a, 8B8 =10, Syd=¢,

§=m 1 (aVBy + bVya + cVaf3).

Operating on Equation (118) with 8 . p X, we obtain, since
8 . pVya = Spya, .
Sp8SafBy — SB3Spya — 8adSpBy — 8y88paB =0,
SadSpBy — SB38ypa + 8y88paf — 8pdSefy =0 . (119),

a formula eliminating 8.

56. Exercises.
Prove the following relations :

1. SaByd = S8afy.

2. aB . By=—ay.
3. dB=af3. Ba.
4. S VofVBy=8.a8VBy . . . . . . . . (120).
5. SufByd=SafSyd — SaySB3 +8adSBy . . . . . (121),

from which show that SaSyd = 8Byda.
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10.
11.
12.
13.
14.
15.
16.
17.

18.
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S . VofVy8 = SadSBy —Say8B3 . . . . . . (122).
S(a 4 B) (B+7) (y + ) = 2848y,

By +yBa=2Vofy.

affy — yBa = 28afy.

Y(aVBy +BVya+yVoB)=0 . . . . . . (123).
YoBy + Vyaf = 2y8qS.

a¥B3y + BYVyo + Va3 = 3 Safy.

S . YVoBVByVya = — (Safy)"

S . yVBa=yBa—y8Ba+ BSya—aSBy . . . (124).
S . V(VaBVBy) V(VBy¥ya) V(VyaVef) = — (SefB3y)*.
S [VaBVy3 + Vay Vo3 + Va3VBy] =0 . . . . (125).

If SaBy=m, Sap =10, 8Bp =20, Syp= 0, show that p = 0.
Conversely, if p is not zero, then Saf3y = 0.
Interpret p = a™'Ba.

We have first, directly,

Tp =Tg,
SapB = Saa~BafB = 8Baf = 8% =0;

‘. py a and B are complanar.

Sap = Saa~'Ba = 8fa,
— TpTa cosf = — TaTB cos ¢,

or, since Tp =TS, cosd = cos¢.
Similarly Yap = Vf3a, and sinf =sin¢. Hence

0=,

and o bisects the angle between 8 and p.

19.
20.
21.

22.

If K—=-
e a

B

Show that p = ofa~ = a7(8eB — Vaf).

p being any vector, show that V. VopVp3 = xp.

If Saf3 = —a?, show that a is perpendicular to § — a.

B,

‘What are the relative directions of « and @, if K[—i =—=1

B, *
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57. Examples.
1. The altitudes of a triangle intersect in a point.

Let (Fig. 60) ac=f, cB=qa, AB=1.
Fig. 60, Then vectors along ¢'c, B'B and a'a are

ey, —eff, —ea
respectively. Now

A0 = AC + CO = AB + BO,

or

B —xey =y + yef.
Operating with x 8 . 8, we have, since ySe¢8?=0,

B — Saf3 .
Seyf

Having assumed o to be the intersection of the altitudes s’
and cey let o be the intersection of aa' and cc. Then

A0’ = Ac + co,
or
Zea = 3 — 'ey.

Operating with X § . «

2 = SBa - SBa
Seyo Saey
_ SBa _ SeB
S(y—=Rey —SBey
__ Saf .
- Sevf3

Hence o and o' coincide, and

s0=R+

Saf3
Seys v
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9. To circumseribe a circle about a triangle.
Let (Fig. 61) ac=f, cB=a, AB=7.

Then ¥ig. 61,
A'0 = — Zea, C
c'o= Yey,
B'0=—2¢B.
. B/ Al
Operating with X 8 . 8 on the expres- a
sion Y
r0= 4y +yey =B — P, 5 5 >
we have
y —_— L_S‘:_IE_.
28eyf
Operating with X § . a on
Bo'=—3%y+yley=— Lo — 2lea,
we have
= Saf3 — Sa3

T2 Seya v 2 Sey

Therefore y = y' and o and o' coincide.
The radius may be found by squaring

Saf3
A0O=13 =ty ——
7yt yey =13 QSE‘yﬂGY,
whence ‘
R ¢ ca’t? cos’c

gy cos o,
4 4b%*sin®aA

since, if a, b, ¢ are the tensors of a, B v»

r__¢
1Ty
S(%Y . JE'Y) =0, 2 .
20?2 D COs’C
y(e) 4b%*sin?A
Hence
_ W sinafd’cos’c _ _a

2sin A 2sinA
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3. In any triangle, the centre of the circumscribed circle, the
intersection of the altitudes and the intersection of the medials lie
in the same straight line; and the distance between the last two
points is two-thirds of the distance between the first two.

Let m (Fig. 62) be the intersection of
Fig. 62. the medials, A' that of the altitudes, and
¢ the center of the circle.
Then, from Ex. 5, Art. 11, where cp
(Fig. 11) is given in terms of the adjacent
sides, we have

A aM = §(8 +7)-
From Ex. 1, Art. 57,

AaA=8+ Saf3 €Y.

Sey3
From Ex. 2, Art. 57, )
so= =g,
But
CM=AM—AC=48—1%y +%SS:§€Y’
and Y
MA'=aA'—aM=2%8—%v 4+ SSE‘;/*;W_

. MA'= 2¢M,

and, since, as vectors, they are multiples of each other, and have
a common point, they form one and the same straight line.

4. To find the condition that the perpendiculars from the angles
‘of a tetraedron to the opposite faces shall intersect.

With the notation of Fig. 52, the perpendiculars from A and B
on the opposite faces are

Y8y and Vyoa.

If they intersect, at  say, then must A, B, P lie in one plane.
Hence, Art. 55, 4, Cor. 3,

S[(B—a)VByVya]=0,
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or
8(B—a)V. VByVya=0.
Fig. 52 (bis).
But, Equation (117), )
V. VByVya=—+8Bya;
. — (8By —Say)$fya =0,
or
8By = Say. (@) o B
From the figure, we have
A
Bof - 0xt = (y — B +
=y —28yB+ B+
or, from (a), =v*—28ay + B2+ o
=(y—a)'+f
= Ac?+ oB%

Hence the condition is that the sums of the squares of each pawr
of opposite edges shall be the same.

5. Interpret Equation (118),
38aBy = VB3y8Sad + VyaSB3 4 Va 38y,

under the condition that a, 8, y be complanar with 3.
If o, B3, y are complanar, Sofy = 0, and therefore, 8 being in
or out of the plane,

Sa8VRy + SB8Vya 4 Sy3Vef = 0. (e)

If § be in the plane, we have for any four co-initial lines
04, OB, OC, OD,

sin BOC ¢os AOD -+ sin COA co8$ BOD - sin AOB €08 COD = 0,
and, for a line perpendicular to op,
«in BoC sin AoD - sin oA sinBoD + sin A0B sincop = 0.

If § is perpendicular to the plane, the terms in (a) vanish
separately.



112 QUATERNIONS.

6. If X, Y, Z be the angles made by any line op with three
rectangular axes, then

cos? X 4 cos? Y 4 cos?Z = 1.
From Equation (67)

ip = i’ + yij + 2tk = — x 4 yk — 2,
whence
(Sip)? = a?,

Operating in a similar manner with 8.7 and §.% X we obtain
—p"=(8ip)* + (Yp)* + (Skp)*.
If Tp=1r, then p’=— %, Sip=—rcos X, etec. Hence

oF? = 0p? (cos? X + cos? ¥ -+ cos? Z),

or
c0s? X - cos?Y - cos? Z = 1.

Applications to Spherical Trigonometry.

Let aBc (Fig. 63) be any spherical triangle on the surface of
a unit sphere whose center is 0; o, g, ¥
being unit vectors from o to the vertices.
The sides AB, BC, 0A represent versors
whose angles are ¢, «, b, and axes are
oc'=1y, oa'=0a, oB'=f"; o By
being unit vectors to the vertices of the
polar triangle whose sides are a! ! ¢|
the supplements of the opposite angles
4, B, ¢ of the triangle azsc,

7. We have first

§=§ 2, (a)
ay
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Taking the scalars, we have [Equation (90)],

$BosBst g vBye
Y a v a v
But
S§=cosa, Sé=cosc, Sg=cosb,
Y o Y
and
8. VEv® = S(sinc . 4/) (sind . 8)
. o ‘)/— o’y .

= sin¢ sind 8y'g'
= —sincsinb cosa'

= ginc sind cos A.
Hence, in (a),
cosa = cosc cosb | sinc sind cos A.

By a cyclic permutation of the letters in (), we obtain

8

a

1=
wI=

Whence, as before
§Y=stsf 4. vIvE,
a B a

B a
or
cosb = cosq cosc + sina sinc Sa'y',
in which Sa'y! = — cosb' = cosB.

.. cosb = cosa cosc + sina sinc cosB.
Similarly, or directly by cyclic permutation in (¢),
cosc = cosb cosa 4 sind sina cosc.

From the relation

B' B’ 0.'
Y=y

may be deduced in like manner

— COSA = COSC COSB — sinc sinB cosd.

113
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©
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8. Resuming the equation

<™
Ll

g ]

of the last example, and taking the vectors, we have [Equa-
tion (91)7,

v§ sﬂv 82 vB+v vﬂvgn (a)
But
V§=—a'sina,
Y

B o . .
SEV;,: cosc (B'sinb) =coscsind . B
S(—lV@—cosb(’sinc)——eosbsinc ;

y o= Y = 2]

V. V'g ;: V(y'sinc) (8'sind) =sin¢ sind Vy'g'

=sin¢sinbd(—asina’)=—sincsinbsina . a.
Substituting in (a),
—sina . a'=coscsinb . f'+cosbsinc.y'—sincsinbsina . a. (®)

Operating with X § . y'-!

! ! I
—sina .« S——coscsmbsg —f—cosbsmcS;—smcsmbsmAS —
7

in which
!
Si, cosd' = — cosB,
Y
!
S ’[i, = — COS A,
Y
8 f, =0, since a and ' are at right angles.
Hence

sinacosB = cos b sinc — cosc sind COSA,
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and in the same manner, or by a cyclic permutation of the letters,

sinb cos¢ = cosc¢ sina — cosa sinc cos B,
sinc cos A = cosq sind — cosb sina cosc.

9. Operating on Equation (b) of the last example with
X V. y'~!instead of X 8 . y'™%
. o R . Yoo o
—-smaV? =coscsindbV 7 + cosd sch? —sincsind sinaV—-
7

But
' Fig. 63.
a . .
Y - = Bsind’' = Gsins,
!
V= =—asina'=—asina,
7

!
vi=o.
Y

Substituting these values
—sinasinB.B=—coscsindsina.a
—sin ¢ sin b sin A . VE;
Y
Operating with x o~1, and substituting for
'g:cos ¢+ y'sinec,
we obtain

— sina sinB cos¢ — sina sins sinc . y' = — cosc sinb sina
—sincsinbsina « .
Equating the scalar or vector parts, we have in either case

ging sins = sina sind,
or
sina:sinb::sina: sins.
The formulae of the preceding examples have all been deduced
from the equation '§ ='§ 2. The product as well as the quotient
may also be employed, as follows: '
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10. Assuming the vector product
Vo 3V8y,

and taking the vector part, we have [Equation (117)73,

V. YoBVBy = — B8SafBy. (a)
But -
V. VafVBy=V(y'sinc) (a'sina)=sincsina sins . 8,

and, Art. 55, 4,

Sofy = — sinc sing!

¢' being the angle made by oc with the plane of c. Substituting
in (a),
sincsinasing . B=sincsing'. 8,

Fig. 63.
or

< sind' = sina sins.

7 By permutation, from (a),

~B V. VyaVaf3 = — aSyafl = — aSafy,

a

B or

sinb sincsina . a = sincsing' . a,
A .. 8iné'=sind sina.

Equating these values of sin¢, we have, as in Example 9, -
sina: sind:: sina : sins.

11. Let p,, p;, p, represent the arcs drawn from the vertices
of ABC perpendicular to the opposite sides.

Resuming Equation (a) of the preceding example, and taking
the tensors,

TV. VoBVfBy = Safy = sinc sin p,,
= 8fya = sina sin p,,
= 8yaf8 = sinb sin p;,
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and, taking the tensor of V. Va3VBy from the last example,

sin¢ sina sinB = sina sin p, = sind sin p, = sinc sin p,,

or-
sin p, = sinc sinB,
. sine sina .
sin p, = ~————sinB.,
sind

sin p, = sin¢ sinB.

12. Show that if ABc, A'B'c' be two tri-rectangular triangles on
the surface of a sphere,

cos AA' = cosBB' cosce’ — cosB'C cosBC

the triangles being lettered in the same order.
Let o, B, v, ! B, ¥' be the vectors to the vertices. These
being at right angles, in each triangle, we have

cosAA'=—Saa'=— 8 . VByVS'y,
or, Equation (122),

cos Aa' = 8BB'Syy' — SB'ySByY'
= cosBB' coscc! — cosB'C cosBC!

[The vectors of Equation (122) are arbitrary, but we may
divide both members by the tensor of the product of the vectors,

so that
S(VUaBVUyS) =SUadSUBy — SUaySUSS,

for the unit sphere.]

13. Let aBcD be a spherical quadrilateral whose sides are
AB = @, BC = b, CD = ¢, DA = d, the vectors to the poles of these
arcs being o) B! v} 8 respectively. Then

Yo = o'sina,
Y3 = vy'sinc.
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From Equation (122),

8. YafAVyd = SadSBy — Say845,
or

sing sinc Sa'y' = (— cospA) (— cosBC) — (—cosDB) (—cos AC).

But Sa'y' = — cosL, L being the angle formed by the arcs aB
and ¢p where they meet, the arcs being estimated in the
directions indicated by the order of  their terminal letters.

Hence
sin AB sillCD COSL = COS AC COS BD — COS AD COSBC,

a formula due to Gauss.
14. Retaining the above notation, ABcp being still a spherical
quadrilateral, denote the angles at the intersections of the arcs

AB and ¢p, Ac and DB, AD and BC, by L, M and N respectively.
Then, from Equation (125),

S[YaBVy3 + VayV3B + VadVBy]= 0,
we have identically

Sin AB 8incD coSL - sin A¢ sin BD cosM + sin AD sin BcC cosn = 0.

Were the points 4, B, ¢, D on the same great circle, the angles
L, M and N would be zero, and the above reduces to

sin AB sincD + sinAc sin BD + sin Ap sinBe =0,

and for a line oa; perpendicular to oA and in the same plane,
dropping the accent, we have

€S AB sinco + cos AC sinBD + cos AD sinBe = 0,

which are the results of Example 5 of this article.
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58. General Formulae.

1. We have seen, Equation (86), that $3 = 38 and V3 =3V;
but (Art. 50, 4) that ST is not equal to T=, nor 3U to US. We
have also seen, Equations (96) and (97), that TII = IIT and
UIl=1I0; but SI is not equal to IS, nor VII to IIV: for,
1st, STI is independent of the factors under the II sign, provided
the product remains the same, while IIS is dependent upon
them ; and, 2d, because (Art. 55, 5) IIV is not necessarily a
vector.

2. Resuming Equation (92),
Srq = Sqr,

and, since r is arbitrary, writing rs for r, we have, by the asso-
ciative law (Art. 52),
S(rs)q=8q(rs),
Sr(sq) = S(sq)r,
. Srsg=8sqgr=8¢rs . . . . (126),

a formula which may evidently be extended. Hence, the scalar
of the product of any number of quaternions is the same, so long
as the cyclical order is maintained.

3. Let p, g, 7, s be four quaternions, such that

qr = ps. (a)
Operating with K¢ X,

Kq . gr=(Kg. g)r =(9Kq)r =Xq . ps,
since conjugate quaternions are commutative. Hence

(Tq)*r =Kgq . ps,
or

Kq . ps 1 -
(Tq)2 =Rq.p3=§-ps « e e (121).

Operating on (¢) with X Kr, we have

7

f

qr . Kr=ps . Kr,
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or
q(Tr)? = psKr,

psKr 1
~'-q=W=J9er=ps; .. (128).

Hence, in any equation of the products of two quaternions,
the first factor of one member may be removed by writing its con-
Jugate as the first factor of the second member, and dividing the
latter by the square of the tensor, or simply by introducing the
reciprocal as the first factor in the second member. By substi-
tuting the word last for first, the above rule will apply to the
second transformation.

4. Resuming, for facility of reference, the equations

q=§=$—;(cos¢+esin¢>)=l‘q.Uq=Sq+Vq, (4)

1_B_T8 .
==L T, (cosh —esing), (B)
Kq:%(cos¢—esin¢)=Sq—Vq, )

we observe directly that

S¢=8(Tq.U9)=Tg.S8Ug . . . (129),
Vg=TVq.UVg=Tq.VUg . . . (130),
TVg=Tq.TVUg=TVKg . . . . (131).

5. It has been already shown (Art. 54, Fig. 40) that
(Ta)?+(TR)2=(Ty)? and (Art. 54, Fig. 42) that Ta=Ty . cos ¢,
T3 =Ty.sin¢; and therefore

(Ty)? cos® ¢ + (Ty)?sin* ¢ = (Ty)?,

sin*¢ + cos? ¢ =1.

or

Hence, from Equations (44),
(SUQ)?+(TVUg)° =1 . . . . (182).
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This important formula might have been written at once by
assuming the above well-known relation of Plane Trigonometry.

6. From Equations (129) and (181), we may write Equa-
tion (132) under the form

(SO +(TVg) =(Tg)* . . . . . . . (133),
or, from Equation (107),

(89)* — (V9)* = (Tg)* = (89)* +(TVg)* . (134),

since & = —1.
7. Comparing (4), (B) and (C),
1
SUg=SU_=SUKg . . . (135),

1
TYUg = TVU@ =TVUKg . . (136),
and from Equations (129) and (185),

1
S¢=1Tq.SUg=Tg.SU_=Tg.SUKg. . (137).

8. Since Tqg = TKq, we have
Tg. TKg=(T¢)> . . . . . (138),

and Tq being a positive scalar,
KTg=TKg . . . . . (139).
As exercises in the transformation of these and the following
symbolical equations, some of the results already obtained will

be deduced anew. Thus, to prove that T(gq') = TqTq', whence
T . ¢*=(Tq)? we have

(Tgq")*= (99K (99") Equation (107)
= q¢'Kq'Rq Equation (99)
= ¢(¢'Kq") Kg = (Tq')*gKq
= (Tq")*(Tg)?,

. Tgq' = TqTy¢!
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9. Substituting for 8¢ and TVg their values from Equations

(79) and (131)

(SK9)* + (TVKg)® = (Sg)* + (TVq)*

10. Resuming from Art. 51, 1, the expressions

Yrqg = SrVg 4 S¢Vr 4- V. Vr¥q,
Yqr =8qVr + SrVqg + V. VgVr,
Sgr=SgSr + 8 . VgVr,

* we have, by adding and subtracting,

Yqr 4+ Vrq = 28¢Vr 4+ 28rVq }
Ygr —Vrg=2V.VgVr

And, if g =7, from (a) and (c),
Y.q¢*=28¢Vq }

8. ¢"=(8¢)" 4+ (Vg)*
whence

"= (8¢)* +28qVq +(Vg)? .

Dividing Equations (142) by (Tg)?

SU . ¢* = (SUg)? +(VUq)2}
YU.¢*=28Uqg.VUq

since, evidently,
S. = (Tq)’8U . q2}
V.q¢"=(Tg)’VU. ¢*

(140).

(@)
()
(©)

(141).

(142),

(143).

(144),

(145).

Again, substituting in the second of Equations (142) the value

of (Vq)* from Equation (1384), we have
8. ¢"=2(8¢)*—(Tg)*
and dividing by (Tg¢)?
SU.?=2(SUg)2—1
Substitutiri}g (8¢)? from the same equation

S . ¢*=2(Vq)* +(Tq)*

(146),

(147).

(148).
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Equations (146) and (148) may be written
(S+T)g?=2(89)* and (8—T)¢"=2(Vg)™

Introducing in (@), or (b), the condition that ¢ and r are
complanar, we have, after substituting versors,

VUqr = VUqSUr + VUrSUg,

since, under the condition, V(VUgVUr)=0.
Taking the tensors, since ¢ and r are complanar,

TYUqr = TVUgSUr + SU¢TVUr . . . (149),
and, interpreting, Art. 51, 6,
sin(6 + ¢) = sind cos ¢ 4 cosd sin ¢.
Introducing the same condition of complanarity in (c)
Sqr = 8¢Sr — TYqT'Vr,
or, substituting versors as above,

SUgr = SU¢SUr — TVUgTYUr . . . (150),
or, interpreting,

cos (0 4+ ¢) = cosf cos ¢ — sin¢p sind.

11. Putting Equation (146) under the form

\[S.q2+T.q2
Sq= ——2———‘7

and writing Vg for ¢, we have
SVg=vISqg+T9) . . . . (151).

12. Taking the tensors of the first of Equations (142), we have

2
TVq = %’q—q,
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and writing \/q for ¢
) TVq
Tv . '\/& - 2-S7q_’
or, by Equations (133) and (151),

—_,|(Mg)* —(8q)?
TV NI=INT g r 8y

whence N
TV . Vg=V§(Tg—Sg¢). . . . . (152),
and
)/« | P2 —8q 153
(TV.S)\/g—\/Tq+Sq (153)

13. From the definition of the powers of a quaternion, we have
grgr=1, (gn) =¢m . . . . (154).
Hence, since ¢ =Tq . Ug, TII =IIT and UIl = 0OU,
T¢g™.Tg"=1, Ug™.Ug"=1 . . (155).
Also, because Ug~™ = UKqg™,
g "=Tqg™ ., Ug™=Tg™ . UKg™ = Tg 2" Kg™,
or, since Kpq = KqKp, writing pg for ¢, and making m =1,

(pg)~ =T (pg)~*Kpg = T(pq)~*KgKp
=T(pq)~*(Tg)*(Tp)’q 'p~.

(p)*=q¢'p* . . . . . (156),

the reciprocal of the product of two quaternions being equal to the
product of thelr reciprocals in inverted order.

This formula may be extended by the Associative principle, by
a process similar to that employed in the deduction of Equation
(126), so that if I1' represent the product of the same factors as
those of II, in reverse order,

Or

Og)'=mg* . . . . . (157).
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The equation Kpg = K¢Kp may be deduced without reference
to spherical arcs. For, by Art. 44, any two quaternions can be

reduced to the forms ¢ = E, P= %, whence
41

Y

a

pg==, or pg.a=7vy, pB=y,

and therefore
Kp .y=Kp . pB=(Ep . p)=(Tp)’B.

(KgKp)y = Kg(Tp)*B=(Tp)’Kg .
= (Tp)*Kq . ga =(Tp)*(Tq)*a = (qu)2
=Kpq . pq co =Xpg .y

. Kpg = KgKp,

Now

which, by the Associative law, gives

KI=TK . . . . . . (158).

14, Show that K(—q)=—Kg
15. Show that
T(p+ ¢)*=(p+9) (Kp +Xq)
=(Tp)*+(Tq)* + 28 . pKq

=(Tp)* + (Tq)* + 2 TpTgSU . pKq
= (Tp + Tq)* — 2TpTq(1—SU . pKg),

and therefore that T(p -+ ¢) cannot be greater than the sum or
less than the difference of Tp and Tq.
16. Show that gUVg™' = TVq — 8qU¥q.

59. Applications to Plane Trigonometry.
1. For formulae involving 26, let
g ="Tq(cos28 + esin26).

Then ~ .
Nq=q' = \Tq(cosf + esind).
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From Equation (142), 8 . ¢ = (8¢)* 4+ (Vq9)?, we then have
Sq=(8¢')*+(V¢')*
or, dividing out Tgq,

SUqg = (SUq")? +(VU¢")?;
and, interpreting,
c08 20 = cos?f — sin’f.

Again, from Equation (147), SU . ¢* = 2(8Ug)?— 1,

SUg =2(SU¢')*—1;
whence
0826 = 2cos?d — 1.

Again, from F:quation (142), V. ¢*=28¢Vg,
Vg =28¢'Vq',
or, dividing out Tg and e,
TVUg = 2SU4'TVUq' ;

whence
sin26 = 2 cosd sinf.

2. Resuming Equations (149) and (150),

TVUgr = TVUq¢SUr + SUQTVU7,
SUqr = SU¢SUr — TYUTYUr,

which have already been interpreted as the sine and cosine of
the sum of two angles, and writing for
r="Tr(cos¢p + esing), r'= ’%(coss{; —esing),
"
¢ and r being complanar, we have
TVUqr! = TVUgSUr — SUGTVUr . . (159),
SUgr~' = SU¢SUr + TVU¢TVUr . . (160),
or, interpreting,
sin (6 — ¢) = sin 6 cos ¢ — sin ¢ cos b,
€08 (6 — ¢) = cosf cos ¢ + sind sin ¢.
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3. Adding Equations (149) and (159),
TVUqr + TVUgr~' = 28UrTVUg,
in which, if ¢r=p, ¢r-'=t, .*. ¢ =~/pt, 7 =\/]T‘1(Art. 58, 8),

TVUp 4- TVUL = 28U (Vpt ) TVU(Vpr) . (161),
or
sinz -+ siny = 2cos (v — y) sin§(x +y).

Similarly, by subtracting the same equations,

TVUqr — TVUgr~' = 28U¢TVUr,
TYUp — TVU: = 28U (Vpt) TVU(Vpt™) . (162),
or
ginz — siny = 2 cos(x + y) sin§(x —y)-

4. From Equations (150) and (160), by addition and sub-
traction, we obtain, in a similar manner,

SUp + SUt=28U(Vp)SU(Vpt™) . . . (163),
and
SUp — SUL = — 2TVU (V) TVU(Vpt ™),
whence
cosz + cosy = 2cosk(x+y) cost(x —y),
cosy—cosm:QSin%(m-f—y)sin%(w——y).

5. Resuming Equation (152),
TVV¢=V}(Tg—89),
it may be put under the form

2(TVUVq)?=1—8Ug,
or
2sin?10 =1— cosf.

and, in a similar manner, from Equation (151),

S\_@:V%(Sq +1Tq),
2(SUVq)? = SUq +1,
or
2cos?{§ =1+ cosd.
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6. From Equation (142)

9 28¢TVq
(TV:8)¢=__"""""1
(8¢)*+ (¥q)*
__2Tvq (8¢)*
S¢  (8¢)* —(TVg)?
_ 2(TV: 8)¢q
T1-[(TV:S)¢]”
or
tan 260 = M
1— tan2’
And, in a similar manner, ‘
cot 26 = cot’d —1
2cotd

7. From Equations (90) and (91), ¢ and » being complanar,
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Sqr=8¢8r + 8 . VgVr = S¢Sr — TVqTVr,

TYqr = SqTVr + S

we have, by division,

(TVY: 8)gr

or
tan(6 + ¢)
Also
(TV : §)gr

or

tan(f — ¢)=

8. Adding and subtracting

(TV:8)p =

TVq,

__8¢TVr + SrTVq

T S¢Sr — TV¢TVr

_ (TV:8)r+(TV: 8)q
T 1—(TV: S)g(TV: S)r’

tan ¢ 4 tané
1 Ttan é tang’

_ (TV:8)g—(TV:S)r
T 14 (TV: 8)g(TV: )7’

tanéd — tan ¢
14 tanftang

TV.

P TV:St:TVt
2, @i

¢ 9
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we have

(TV:8)p + (TV:8)¢

_ TVpSt & TViSp _ TVUpSUL £ TVUISUp,
SpSt SUpSUt

Hence, from Equations (149) and (159),

TYUptt!
TV:S)p £ (TViS)I= ———
( )P E ) SUpSUL’
or
tanzx + tany — w.
oS % COSY
By a similar process,
cotx + COt:L/ — S_in'(y’:ti).
sina siny

9. From Equations (161) and (163)

_  TVUp+TVU:
=T osuvp
SUp + SUt
SU\/_ =
P suv/pi
whence
. [y — _TVUp + TVYU:
(TVU : SU)Vpi = (TV : 8) Vpt ~SUp 15U
or

sine 4 siny

tan} (@ +y) = cosx + cosy

And, in a similar manner, from Equations (162) and (163),

——~  TVUp —TVU¢
TV: §) Vptl=—_—"— =
(XV:8)Vp SUp + SUz
or

sinz — siny

tan}(v—y) = coST + cosy
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10. Similar formulae may be deduced for functions of other
ratios of an angle. Thus, from Equation (90), writing rs for
7y and making ¢=r=s all complanar, we have, by Equation
(142),

8. ¢"=(8¢)" — 38¢(TVq)*,
or
€03 36 = cos®d — 8 cosh sin?4,

or, under the more familiar form,

o830 =4 cos®0— 8 cosh.



CHAPTER IIL

Applications to Loei.

60. Any vector, as p, may be resolved into three component
vectors parallel to any three given vectors, as a, B, v, no two
of which are parallel, and which are not parallel to any one

plane. Thus
. p=.’)§'a+y13+zy e e e s e (164)

refers to any point in space.

If the variable scalars @, ¥, # are functions of fwo independ-
ent variable scalars, as ¢ and u, p is the vector to a surface,
which, if the functions are linear, will be a plane. We may,

therefore, write
’ p=¢{E,u) . « .« « . (165)

as the general equation of a surface.

If », y and z are functions of one independent variable scalar,
as ¢, p is the vector to a curve, which, if the functions are
linear, becomes a right line. We may, therefore, write

p=d() -+ - . . . - (166)

as the general equation of a curve in space.

If o, B, y are complanar, we may replace either two of the
vectors in Equation (164) by a single vector, in which case
p = ¢(t) contains but two variable scalars, functions of ¢, and
is the equation of a plane curve, or of a straight line if the func-
tions are linear.

The essential characteristic of the various equations of a
straight line is that they are linear, and involve, explicitly or

implicitly, one indeterminate scalar.
131
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61. Assuming
p=aa+yB, (@)

in which « and y are variable scalars, functions of a single vari-
able and independent scalar, as ¢, as the general form of the
equation of a plane curve, by substituting in any particular case
the known functions = f(¢), y = f'(t), or 2 =" (y), we may
avail ourselves of the Cartesian forms and apply to the resulting
function in p the reasoning of the Quaternion method.

For example, suppose a and f are unit vectors along the axis
and directrix of a parabola, the origin being taken at the focus.
In this case we have the Cartesian relation

y'=2pz +p, ®
or, substituting in (a),

1
p=5(y2—p2)a+yﬁ,

as the vector equation of the parabola.
Or, again, a and B being any given vectors parallel to a diam-
eter and tangent at its vertex,

p=batip (@)

is the vector equation of a parabola, in terms of a single inde-
pendent scalar ¢.

62. Let f(x) be any scalar function as, for example,
F@)=a.
alf(z)]=22de=[f"(z)]dz.

If, however, f(¢) be a function of a quaternion ¢, as, for
example, in the above case,

f(D=4,

S(@+dg)=(q+dg)*=¢*+ qdg + dg « ¢+ (dg)?,
S Adlf(@]=qdg+dq . g,

Then

then



~
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which cannot, however, be written 2qdq, because of the non-
commutative character of quaternion multiplication. We can-
not, therefore, write, in general,

alf(l=0r(9)1de

or form, as usual, a differential coefficient. Since vector, as
well as quaternion, multiplication is non-commutative, the same
is true of the differentiation of a function of a vector. Thus, if

f(P) = PZ’
alf(p)1=pdp+dp « p

and in order to write d[ /(o) ]=[/"(p)]dp, it would be necessary
to determine a vector o, such that edp =dp . p, Or

a=dp . pdp7,
or, if e be the versor of dp, since the tensors cancel,
g = epe"l H

that is (Art. 56, 18), we must have p, ¢ and o complanar, or
Veo = Vpe. Since complanar quaternions are commutative, if ¢
and dg are complanar, or if dg or dp is a scalar, this peculiarity
of quaternion and vector differentiation disappears. In this
case, dg and dp being scalars, f(q) or f(p) are quaternion or
vector functions of scalar variables, to which the ordinary rules
of differentiation are applicable. In fact we have only to assume
such a function, as

p=ala! 4 e 2" e = Swa= ¢(t),

in which o', o'y @'y «oe are constants and the only variables are
the scalar multipliers, to see that the vectors o', oy " e are
to be treated as constants and the usual rules of differentiation
applied to the scalar coefficients.

Such equations, then, as those of the parabola, (b) and (¢),
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Art. 61, in which a and B are given constant vectors, may be
differentiated as usual. Thus, from

t2
P:§“+ tB,
we have
dp
2P —¢
dt at B

p and p' being any two vectors to the curve,
pl—p=A~p

is the vector secant; so that when p and p’ become consecutive,
and the secant a tangent,

dp = (to. + B)dt

is a vector along the tangent to the curve at the point corre-

2
sponding to ¢. The vector to this point being %a+tﬁ, and z

any variable scalar, we may write the equation of the tangent
line at that point

=Lattptatatp);
for any given point, 2 being the only scalar variable.

63. It has been seen that the usual definition of differential
coefficients is inapplicable to quaternions in general, for this
definition involves the commutative property of multiplication,
which is not, in general, true of quaternions, nor of the vectors
to which they may degrade. It becomes necessary, therefore, to
give a definition of differentials which shall not involve this prop-
erty, yet which shall also be true of quaternions which degrade
to scalars, and therefore be equally applicable to ordinary scalar
quantities.

If p=f(q), such a definition is involved in the formula

dp= "0 [ (g4 ntdg) —f()] - . (167),
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for, let £(g, 7, 8, «)=0 be any relation between a system of
quaternions g, 7, 8, - , and let Aq, Ar, Asy -t be finite and
simultaneous differences, so that ¢ +Agq, r+Ar, s+ As,
satisfy the relation f(g, r, 8, -----)= 0. Then in passing from the
new system g+ Agq, - to the old system g, ..., the simul-
taneous differences can all be made to approach zero together,
since they all vanish together. If, while these differences Ag,
A (RS thus decrease indefinitely together, they be all multi-
plied by the same increasing number, », the equimultiples nA g,

AT, v may tend to finite limits, and these limits are defined
to be the simultaneous differentials of the related quaternions g,
Py 8y eeees , and are written dg, dr, ds, «----. Simultaneous differ-

entials are, therefore, the limits of equimultiples of simultaneous
decreasing differences. If, then, in Ap= f(¢+Aq)—f(q),
while the finite differences A p, A g be indefinitely decreased, they
be multiplied by a number, », ultimately to be made infinity,
so that

nlp=n[flg+29)—-AD]

and we pass to the limit, writing dp for nAp, and dg for nAg,

we have
_ limit dg
=8 0]

a formula for the differential of a single explicit function of a
single variable.

If Q= F (g, 7y v

aQ =8 W[ F(g+n1dg, r+ntdr, )= F(g, 7, )] (168).
In these formulae, dg, dr, ... are any assumed variables, no

reference having been made to their magnitudes, and » any
positive whole number conceived so as to tend to infinity. To
show that these differentials need not be small, as also the ap-
plication of the formula to the differentiation of ordinary scalar
quantities, let

y=a



136 QUATERNIONS,

then
G+oyp=(@+A2)";

whence, as usual,
Ay=20A x4 (A2)?,

or, n being a positive whole number,
nAy=2en Ax+nl(nAx)

If, now, the differences Ay and A x tend together to zero,
while n increases and tends to infinity in such a manner that
n/Aw tends to some finite limit, as @, we have, for the other
equimultiple n A ¥,

nAy=2xa+n"ok
But, since a, and therefore of, is finite, n~'a? tends to zero,
and, at the limit, n Ay = 2xa. Hence the limits of the equi-
multiples » A 2z and n A y are respectively a and 2xa, and
do=a, dy=2xa by definition; from which

dy = 2 xdz.

For a vector function we should write
dp= "8 [ fp+ntdp) —F ()] - - (169),
and for a scalar function, p = ¢ (¢),
do=d[(H)]= ;i:i;n[¢ <z +i‘> —¢ (z)] . (170),
n
in which latter ¢ and dt¢ are independent and arbitrary scalars.

64. As a further illustration of the definition, let

p=¢(0)
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be the equation of any plane curve in space, and op = p (Fig. 64)
a vector from the origin to a point »
of the curve ; ¢ being any arbitrary sca-
lar representing time, for example; so
that its value, for any other point p' of
the curve, represents the interval
elapsed from any definite epoch to the
time when the point generating the
curve has reached p!
If p' be the vector to ] then

p'—p=rp'=LAp

is strictly the finite difference between p and p, and, if the corre-
sponding change in ¢ be A,

rP'=(p+Ap)—p=Rp=¢p(l+A1)—d()=L¢();

where op'= ¢ (¢ + A t), and At is the interval from » to ¢!

In $A ¢, p would have reached some point as p", for which
op''= ¢(t + LA ¢t), on the supposition that pp” is described in .
$At. On the basis of this closer approximation to the velocity
at », P would have been found at p', had this velocity remained
unchanged, such that

pp"'=2pp"= 2(0P"— 0P) = 2[$(t + § A ) — H(t)].

For a closer approximation to the vector described in A ¢ with
the velocity at p, suppose at the end of $A ¢ the point is at »'",
for which op"'= ¢ (¢t +3At). Under this supposition, the vec-
tor described in A ¢ would have been

pp''=8pp"=38(0r"—0P)=3[d(t+ 1A ) — ()],

and, at the limit, representing the multiple of the diminishing

chord by dp,
o= o(er2)- 0]
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65. Resuming Equation (167),

ap = df(q)= 18 0 f(q +ntdg) —f@D] (@)

the second member may be written f(g, dg), but not, as ordi-

narily, f(q)dq.
In f(q, dq), dg may be composed of parts, as g/ g", "'y -+,

with reference to which f(g, dg)=f(q, ¢'+¢"+ ---..) is distrib-
utive. To prove this, let

dg=q¢'+q";
we are to prove that

S(@ ¢+ 9 =1(q, ") +7(2:¢").

Since before passing to the limit, the second member of (a)
is a function of n, ¢ and dg, we may express this function by
the symbol f,(g, dg), and write

S(g, dg) =n[f(g+n""dg) — (@)1= 1u(q: d9),

Slg +ndg)=f(q) +n"1f(q, dg).

Replacing dg by ¢' and ¢" in succession, we have

or

Slg+n¢"y=1(Q)+2"1(g, ¢,
Slg+n1g")y=1f(q)+ (2 9")s

and, following the same law of derivation,

flg+ng"+n ) =g+ nt¢) 40 S (g + 072" ¢,
f(q + n—1q1+ ,n-lqu) =f(q) + n_l.ﬁ»(q, qv+ QH),

from which
Fulg, '+ 4" =1u(0: ¢+ fulg +n7", 4,

the limiting form of which, for n= o, is

A d+d"N=r(0d")+gq) - . (A7),
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which may, in like manner, be extended to the case of
dq= ql+qn+qlll+ ......
Tt follows from the above that, if p = f(g, 2dg),

fg, wdg)=2f(g,dg) . . . . (172).
If Q = F(q, 7, ....), whence, Equation (168),

dQ=d[F(q, 7y «w...)]

711?11-’ w[F(g+n'dg, r +ntdr, ) — F(q, 7y ) ]
the last member will be a linear and homogeneous function of
dq, dry ... , and distributive with reference to each of them.
Hence, to differentiate such a function, we do so with reference
to each factor, and take the sum of the results obtained, as usual ;
taking care, however, not to make use of the commutative prop-
erty. Thus d(qr)=dq . r + qdr, but not rdq + gdr.

66. When ¢ is a function of any variable scalar ¢, represent-
ing time, for example, then, if ¢ be given a finite increment At,
for which the corresponding one of ¢ is A g, we have

Agq=Aw+Azi+Ay+Azk;

and, if the several parts of the quaternion vary continuously
with the independent variable ¢, at the limit we may form, as
usual, the differential coefficient

dg _ dw dm d?/
dt + (lt dt

+dt )

The successive differential coefficients, as also the partial ones,
when ¢ = (£, v, .....), are derived from the quadrinomial form in
the same manner. '
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67. Examples.

1. To find dTg.
drq _ dVer+ #+ o + 7
dt dt
=Lt A Ay, A2
—Tq<wdt+mdt+ydt+zdt>
1 dg. dq UKqTq
_l‘—(zs'dth_S'&f —Tq
dg
dg 1 a
—qu'dt TqTg Tqu,
or
dq
arg_ g d&
dt ~ "Uq
2. (Tp)*=—p"

The first member being a scalar, we have
2TpdTp.

From the second member

d(p*) =,112fo nl(p+ndp)*—p’]

= limit pdp + dp . p + 27" (dp)?

=pdp 4 dp « p = 2 Spdp.
Equating
TpdTp = — Spdp.

From this we may obtain

dp
dTp=—S8 . Updp =8+~
or P P Up
dTp dp
il St 8
Tp p
3. To find dUg. We have
TqUg=1q;
dTq . Uq + dUq « Tq = dg,
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whence
drq . Uq+@q . Tq=@

TqUq TqUqg ¢’
or
dUg _dg __ dTq

Vg ¢ 179
and, substituting from Ex. 2,

dUq _ dq S dg .

—_— = — 1

Ug ¢ q
. AUq _ ydg
T U q’

or

dUg = quq - Ug.

4. From the above expressions for dTg and dUg, we have

dg = dTq . Uq + TqdUq

(o)

q Q

as the form under which the differential of a quaternioh may
always be written.

5. To find dUp. We have, from p=TpUp,
dp=dTp .« Up+ TpdUp,

P Up
dp 4 ==r dUp from Ex. 2,
p Up’

or
aUp _dp _gdp_ydo _yo-p _ Vodo _ o,
Up o p p P (Bp)*

whence, also,
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6. From the above expressions for dTp and dUp,

Y. dpp.

dp=dTp . Up+p

7. That 8, V and K are commutative with d is seen from the
following :

g =389+ Vg,
whence
dq = dSq + dVg, (a)
and, since dg is a quaternion,
dgq = 8dgq + Vdg, ()
hence
dSqg=S8dg and dVg=Vdg. (¢)
Again
Kg =8¢ — Vg,
whence

dKq = dSq — dVq,

and, taking the conjugate of dg in either (b) or (a), we have,

with or without (¢),

8. (T¢)?=¢XKq.

2TqdTq = 71121:0 n[(q +n"'dq) (Kq 4+ n"'dKq) — qKq]

= limit [dq(Kq + n'Kdq) + gKdq]

=dg . Kg 4+ qKdg

=K . 9gKdqg 4 qKdg

=28 .qKdg=28 . Kqdg, [Equation (80)]

or, since Tg =TKq and UKg = U1 =1 ,
g Ug

1
dTg=S8§. Ugdg:S « Ugtdg.

If ¢ = a vector, as p, then, since Kp = — p, this becomes

dTp=—8 . Updp,
as in Ex. 2.
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9. r=4¢%
limit -
dr=""" n[(g+n"dg)" — ¢']
= limit [gdg +dg . ¢ +n7"(dg)*]
=qdg+dg . q;

. dr = 28qdq + 28¢Vdg + 28dqVg.
If g = a vector, as p, then 8¢ =0, Sdg =0, and
d(p") =2Spdp

as in Ex. 2.

10. r=+/q. Then g=1% and, as before,
dg=rdr4dr.r.
Operating with 7 x and X Kr, in succession,

rdq = *dr +rdr . 1,
dg . Kr=rdr « Kr+dr . rKr
= rdr « Kr + (Tr)*dr,
or, adding,
rdg + dg » Kr=[r*4(Tr)"]dr + rdr(r + Kr)
=[r? 4 (Tr)2+ 28 . r]dr,

which gives dr = d\/q in terms of dg.

11. gg'=1. We have
qd(¢)+dg . ¢ =0.
Operating with ¢=' X

g 'qd(g ) +qtdg . ¢t =0,
' 1 1 1

1 _Zaq. =
q q q

143



144 QUATERNIONS.

If ¢ = a vector, as p,

P PP
1,11 11
=——dp=+4=dp—= =dp
PP P P
1 1
—d—5—1<—dp+dp-—\
AV J
= _24%
)
WGP LI
P p/p PP

12. Differentiate SUq.
d
dSUg = SdUg = . vqu [Exs. 7 and 3.]
dg

=s. %QUVQTVUQ

lq
=—8. Y 7yy,.
quvg ¢

13. Differentiate VUq.
dgq
dvlg =1V, qu:V.V;Uq [Exs. 7and 3.]

=V.Ug'V(dg.g™").
14. Differentiate TYUq.

d(YUq)
dTVUg = Ex. 2.
VU = 8= [Ex. 2.]
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The Right Line.

As in Cartesian coérdinates, the form of the equations of a
right line, as of other loci, will depend upon the assumed con-
stants, and in any given problem one form may be more con-
veniently used than another.

68. Right line through the origin.

If 0 be the initial point, or origin, and p= OR a variable vec-
tor in the prolongation of o = 04, then

p=ma.......(173)

is the equation of a right line through the origin in the direction
of the constant vector a.
The equations

UP:U“} 174
vap=o"""()

obviously refer to the same right line.

Since any line, represented as a vector by a, is parallel to
p =wa, we may say that the above equations are those of a right
line through the origin parallel to a given line; or, A being a
point given by a =04, they are the equations of a right line
through the origin and a given point.

69. Parallel lines.

If B = oB be a constant vector to a given point B, then
p=R+xa . . . . (175)

is the equation of a right line through a given point, and parallel
to a given line, as p'= za through the origin. Or, a being a given
vector, it is the equation of a right line through a given point
and having a given direction. If a is an undetermined vector,
it becomes the general equation of any one of the infinite num-
ber of right lines which may be drawn through a given point. If
o0 and B coincide, 8= 0, and, as before, p = %a.
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a remaining the same, and B’ = os' being a vector to any other
point B; for the equations of two parallels, we have

=—3 +a;
Z=§'+x’l:u}' C e LaTe),

or, since a and p — B are parallel,
Va(P_B)=O} 177
Va(p—@y=0f * * * * (177).

70. Right line through two given points.

If oa=a (Fig. 65), oB=_L are the vectors to the given
points, and p the variable vector to any
Fie. 65. point ® of the line whose equation is re-

A = r quired, we have

AR = 24B = 2(f3 — o),
and

OR = OA + AR,

or, for the required equation,
p=atw(f—a) . (179),

which, if one of the points, as A, coincides with the origin,
becomes p = 23, as hefore.

We have seen, Art. 55, that if Safly =0, a, B and v are com-
planar. Replacing y by the variable vector Ps

Safp=0 . . . . . . (179)

is the equation of a plane, since it expresses the condition that p
is complanar with « and 8. If we have also Soyp = 0, the two
equations, taken together, represent the line of intersection of
these two planes.

These equations may be obtained from the line p = wa by ope-
rating with 8(VaB) X and S(Vay)x ; or, conversely, to find the
equation of the line in terms of known quantities, having given

Safp =0, Soayp=0,
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write these latter under the form
S.pVo3=0, S.pVay=0,

whence it appears that p is perpendicular to both Va8 and Vay,
and is consequently parallel to the axis of their product;

therefore
p=9V . Ya3Vay

—y(Safa—aSefy)  [Eq. (112)]
= — yaSufy,

or, putting — ySefSy =2,
p =xa.

71. Right line perpendicular to a given line.

1. Let 8 =op (Fig. 66) be a vector through the origin. To

find the equation of pc through its extremity Fig. 66.
and perpendicular to it. Now p—disa _» R ¢
vector along DR, and therefore by condition

88(p —8)=0.

Whence S8p = — (T8)?, or
S8p = ¢, a constant . . ? . . (180).
In order that p, p — & and 8 be complanar, we must have
8.3%(p—28)=0,
S.(V3p)(p—3)=0.

or

2. p — 8, being perpendicular to both S and Vdp, will be
parallel to the axis of their product, or to V. 8V8p. Hence, if
y = oc be a vector to any point ¢, in the plane of op and DR, the
equation of a right line through a given point ¢, perpendicular to
a given line op, will be

p=y+wv-8V8y. . e e e (181).
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3. If the perpendicular is to pass through the origin, then,
from Equation (180),

$8p=0 . . . . . . . (182),

or, in another form, from Equation (181), y being parallel to

V.SVSy,
p=yV.8Vy . . . . . . (183).

4. The student will find it useful to translate the Quaternion
into the Cartesian forms. Thus, from Equation (180), if Rop= 6,

S8p = — T8Tp cosd,

whence, if r and d represent the tensors,
2 d
rdcos=d?’, or r=—,
cosé
the polar equation of a right line.

5. Equation (181), of a line through a given point and per-
pendicular to a given line through the origin, may be otherwise
obtained, as follows :

Let y and &, as before, be vectors to the point and along the
given line, respectively, and B a vector along the required per-
pendicular, whose equation will then be

p=1y+azB. (@)
To eliminate 8 we have the conditions
8B =0,
since 6 and f are perpendicular to each other, and
Syé8 =0,

since y, 6 and B8 are complanar. But V3y is perpendicular to this
plane, and therefore V. §Vdy is parallel to B hence, substitut-
ing in (a),

p=y+aV.d8Vsy,
or simply

p=vy+ wSV@y.
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If 85350, y, 8 and S are not complanar, and the problem is
indeterminate ; which also appears from (@), by operating with
X 8§ . 8, whence, since 886 =0,

8pd = 8y8,

a result which is independent of 3, and an infinite number of
lines satisfy the condition.

6. If the line to which the perpendicular is drawn does not
pass through the origin, let

p=p+ e (@)

be its equation. ‘Then, if p be the vector to the foot of the per-
pendicular, we have Sa(p —y) =20, or

Sa(za+8—7v)=0, (®)
because the line is perpendicular to (@), or its parallel . Hence,
from (b),

2o =a'Sa(y — 8),
or, for the perpendicular p — v,

p—y=aatf—y=aSaly—f) —aa(y~f)
= — o Va(y—f).

Its length is evidently

TV[Ua.(y—B)] . . . . . (184).

7. This perpendicular is the shortest distance from the point
to the line. The problem may, therefore, be stated thus: to
find the shortest distance from ¢ to the line p =2a 4 8. p being
the vector from ¢ to any point of the given line, this vector is

B+ za—7y,
and, in order that its length be a minimum,

dT(B+2a—y)=0
=T(ﬁ+wa—y)dT(ﬁ+wa—y)
=—S[(B8 +wa —y)a]de=0,
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or
S(,B-—i—wa—'y)a: 0,

that is, the line must be perpendicular to p = xa + 8.

8. If the perpendicular distance from the origin to p = 8 4 za
is required, p, being as before the vector to the foot of the per-
pendicular, coincides with it ; hence, y being zero, and § repre-

senting this value of p,
d=2xza+ B.

Operating with X 8§ . §, since 808 = 0,

—(T8)? = 8§5.
Hence
T3 SR8 _S. BTSUS’
TS T
or

TS=S.QUS. . . . . .‘(185).

72. We are to observe that the foregoing equations of a right
line are, as remarked in Art. 60, all linear functions involving,
explicitly or implicitly, a single real and independent variable
scalar. Such is evidently the case for such equations as

p = Za, [Eq (173)]
p= B +wa, [Eq. (175)]
p=a+a(f—a). [Bq. (178)]

So also for the implicit forms, as Vap=0 [Eq. (174)]; em-
ploying the trinomial forms
a=ai 4 bj + ck,

p =i+ yj+ 2k,
we have

ap = (bz — cy) i + (cx — az)j + (ay — ba)k — (az + by + ¢2).
Whence

Vop = (bz — cy)i + (cx — az)j + (ay — bx)k =0 ;
Sobr=cy, ce=az, oay=ba,

in which x and y are functions of z.
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The Plane.

73. Equation of a plane.

1. If, in the equation 8§ . §3 = 0, which denotes that 8 is per-
pendicular to 3, we replace 8 by the variable vector p,

S§.8=0. . . . . . . (186)

is the equation of a plane through the origin perpendicular to 8.

2. Or, let 8 = op (Fig. 66) be the vector- Fig. 66 (bis).
perpendicular on the plane, and pr any line » R _C
of the plane.

Then

88(p—8)=0,

$8p = 8 = — (T9)?%,

or :
SSp=c¢, a constant . . (187)

is the general equation of a plane perpendicular to 5. Here DR
is any line of the plane; and, if V8p =g,

Sep = an indeterminate quantity . . . (188).

If the plane pass through the origin, we have, as before,
88p = 0. Conversely, if 83p = ¢ is the equation of a plane, 8 is a
vector perpendicular to the plane.

3. The equation of a plane through the origin perpendicular
to & may also be written in terms of any two of its vectors, as
v and 8;

p=1aB+yy-

Both of these indeterminate vectors may be eliminated by
operating with 8 . § X, whence

S$8p =0

as before ; or one may be eliminated by operating with V., 8 X,

whence
VB3p =23,



152 QUATERNIONS,

from which we may again derive $8p =10 by operating with
v. 8 X ; for
V. oVBp=Va'=0

— 898 — B, [Eq. (111)]
whence, since 888 =0, 85p=0.

4. The equation of a plane through a point B, for which
oB = 3, and perpendicular to 8, is

88(p—-p=0 . . . . . (189).

5. Having the equation of a plane, 83p=c¢, to find its dis-
tance from the origin, or the length of p when it coincides with
3, we have p = 23 ; hence

83p == ¢ = Sad* = &%,
or

which, in p = 23, gives

or
To=2 . . . . . . (190).
P=s (190)

74. To find the equation of a plane through the origin, making
equal angles with three given lines.

Let a, B8, y be unit vectors along the lines. The equation of
the plane will be of the form

SSp =0.

By condition, Sad=880=8y="T8sinp=1u, ¢ being the
common angle made by the lines with the plane.
Hence

sing = 2.

TS
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To eliminate 3, we have, from Equation (118),
38aBy = Va,BSyS + VBy8ad + VyaSS39,
and, by condition,
88uBy = (Vo + VBy 4 Vya).

The vector represented by the parenthesis is, then, the per-
pendicular on the plane, whose equation, therefore, is

Sp(VaB+VBy +Vya)=0. . . . (191),
and the sine of the angle ¢ is

Safy
T(VeB + VBy + Vya)

75. Equation of a plane through three given points.

Let a, B, y be vectors to the given points; then are the lines
joining these points, as (a — B), (8 —7), lines of the plane. If
p is the variable vector to any point of the plane, p — o is also a
line of the plane. Hence B

S(p—a)(a=B)(B—7)=0,

or
S(poB — pay — pf8* + pfy — &’B + o’y + off* — afy) = 0.

But -
8(—pp) =0, 8(—a*f)=0, ete.,
8(— pay) =Spya =8 . pVya,
Spa8 =8 . pVaf, etc.,
hence
S . p(VaB +VBy + Vya) —Safy=0 . . (192),

which, by making the vector-parenthesis =38, may be written

under the form
8pd — SaBy =0,
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in which 8 is along the perpendicular from the origin on the
plane. When p coincides with this perpendicular, p = 28, and,
from the above equation,

0° = Safy,
or, for the vector-perpendicular,
- Saf3
=20=20"'SaBy= Y
P A P e oo

76. We observe again, from inspection of the equations of a
plane, that, as remarked in Art. 60, they are linear and func-
tions of two indeterminate scalars. Thus, for a plane through

 the origin
88p =0, [Eq. (186)]

employing the trinomial forms d=ai+bj+ck and p=ai+yj +zk
we obtain

8p = (bz — cy) i + (e — az)j + (ay — bz)k — (ox + by + c2),
the last term of which is the scalar part; hence
. ar +by 4+ cz=0,
the equation of a plane through the origin o, perpendicular to a
Ime from o to (a, b, ¢), which may be written Sz, y, 2)=0;

or as a function of two indeterminates. In the same way, from
an inspection of the other forms,

p=ma+yB, [Arxt. 73, 3]
p=38+ma+typ,
S8 —c'=ax+by+cz—c' =0, [Eq. (187)]

we observe they are linear functions of two indeterminate scalars.

77. Exercises and Problems on the Right Line and
Plane.

1. B and y being vectors along two given lines which intersect
at the point A, to which the vector is 0A = a, to write the equation
of a line perpendicular to each of the two given lines at their
intersection.



APPLICATIONS TO LOCI. 155

YBy is a vector in the direction of the required line, whose

equation, therefore, is
p=a+aVBy. . . . . . (198).

If o' == 04’ be a vector to any other point, as 4, then is
p=a +aVBy
the equation of a line through a given point perpendicular to a
given plane ; the latter being given by two of its lines.

2. a and B being wvectors to two given points, A and B, and
S8p = ¢ the equation of a given plane, to find the equation of a
plane through A and B perpendicular to the given plane.

3, p—a and a — B are lines of the required plane, hence

8(p —a) (a — B)3 =0,

Sp(a— L) +8aB8=0. . . . . (194)
ig the required equation.

or

3. oc=17y being a vector to a given point ¢, and p=a 420,
p =o'+ 'R the equations of two given lines, to write the equation
of a plane through ¢ parallel to the two given lines.

If lines be drawn through the given point parallel to the given
lines, they will lie in the required plane. As vectors, 8 and B'
are such lines, and p — vy is also a line of the plane. Hence

S8R (p—vy)=0 . . . . . (195)
is the required equation. If y=a, or o', it is the equation of a
plane through one line parallel to the other. Or, if vy is inde-
terminate, it is the general equation of a plane parallel to two
given lines. \ ’
Otherwise : the equation of a plane through the extremity of
v parallel to two given lines, whose directions are given by
a and 3, is evidently p =y + 2a 4 yB.

4. To find the distance between two points.
a and B being vectors to the points,
) y=8—a.
Squaring
=0+ a*— 2ab cosc.
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5. A plane being given by two of its lines, B and vy, to write
the equation of a right line through A perpendicular to the plane.

Let 0o =q. Draw two lines through a parallel to 8 and v.
Then
p=a+mv,3‘y e e e e e (196)

If the plane is given by the equation 88p = ¢, then
p=a+ad . . . . . . . (197).

6. Find the length of the perpendicular from A to the plane,
in the preceding example.

Operating on Equation (197) with § . § x
88p = S8a + x? = ¢,
or
287 = ¢ — S8a ;
oo 28 =8 e—88%). . . . . (198).

7. 83(p — B)=0, Equation (189), being the equation of a
plane through B perpendicular to 8, to find the distance from a
polnt ¢ to the plane.

Let y=o0c. The perpendicular on the plane from ¢, being
parallel to 8, will have for its equation

p=1y+xd.
To find #, operate with § . § X, whence
S8p = 88y + &,
or, from the equation of the plane,

S8y + x8* = 838 ;

L wd=—8"188(y — B),
and
T8 =T3183(y — B)=8S[U3. (y—B)].

8. Write the equation of o plane through the parallels

p=a+aB,
p=od+zf.

2
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9. Write the equation of a plane through the line
p=a+af

perpendicular to the plane
86p = 0.

10. Qiven the direction of a wector-perpendicular to & plane,
to find its length so that the plane may meet three given planes in
a point.

Let 8 be the given vector-perpendicular, and

Sap=a, SBp=0>, Syp=c

the equations of the given planes. If the equation of the plane

be written
Sép ==,

then 2 must have such a value that one value of p shall satisfy
the equations of all four of the planes. Irom Equation (118)

we have
pSafy = VaBSyp -+ VBySap + VyaSfp
=cVaf + aVBy + bVya.

Operating with 8 . 8 X, to introduce 2,
2808y = 880 -+ aS3By + bSdya.

11. To find the shortest distance between two given right lines.
Let the lines be given by the equations

p=a+2xB, (a)

p=da +2'8 )]

The equation of a plane through either line, as (b), parallel to

the other (a), is [Equation (195)]
S8 (p — o) = 0. ©
VAR is a vector-perpendicular to this plane. Hence, if VBB

be the shortest vector distance between the lines, we have, since
@ — o/ — y VBB is a vector complanar with B and S;

SBB'(a —a' — yVBB) =0,
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or

S(SAB'+ VBB (e — o' — yVBR) =0,
—y(VBB')* +8[VBR'(«a —a')]=0;
or, dividing by T(V83"),
T(YVBR) =TS [(a~a')U(VBRY]. . . (199),

the symbol T denoting that only the positive numerical value of
the scalar is taken.
Otherwise : since the distance is to be a minimum,

dT(p'—p) =0,
S(p'— p) (B'ds'— Bdz) = 0,
S(p'=p)B=0 and S(p'—p)B' =0,

or the shortest distance is their common perpendicular, whose
length may be found as above.

whence

whence

or

12. Gliven 88, p = dy and 88,p = d,, the equations of two planes,
to find the equation of their line of intersection.

This equation will be of the form
p = md; + nd, + 2V, 5, (a)
To find m and n, we have, from (a),

83, p = m3 2 + 185, 8,,
SSQP = ’n822 + ’mS3132,
from which we obtain
__S8ip—n888 88,0 —nd?,
m= 52 T s, !
_ 881 82 SSI p— 812 SSQP
T (88,8,)7 — 8287

But
(881 82)2 — 8287 = (V81 32)2 H
88,8, — dp 8
- (8, 8,)*
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And similarly
4, 88,8, — d, 8
(Vo8)*

Substituting these values in (@)

_ 8% — deb?y | 85,8, — d; 82
P=TT (V8,87 (V8,5,)°

m=

8, + 2V, 8,

which is the equation of the required line, a less useful form than
those of the two simple conditions of Art. 70.

If the two planes pass through the origin, then also does their
line of intersection ; and since every line in one plane is perpen-
dicular to 8, and every line in the other to &, V5,8, is a line
along the intersection, as in (a), and the equation becomes

p=2aV&d . . . . . . (200).
18. The planes being given as in Equation (189),

S8 (P_IB):O’ (@)
85 (p — B =0, )

to find the line of intersection.

The vector p to any point of the line must satisfy both (a)
and (b). This vector may be decomposed into three vectors
parallel to 8, &' and V88! which are given, and not complanar,
by Equation (118); whence

pS . 35'V8S' = SpdV (8’ 4 V33') + Spd'V(V83' + 8) + 8(pV3s') Vo',
or, from (a) and (), )
— p(TV&')? = S3RV(8' . V88') + SRV (V38" .« 8) + $58'pV3d',

or, since $88'p is the only indeterminate scalar, putting it equal
to x, we have

— p(TV8Y')2 = SSBV (3" . V35') + SOB'V (V33" 8) + 2'Vod.

If the planes pass through the origin, in which case 8 and §'
_are zero, we have, as before,

p= x V35!
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14. To write the equation of a plane through the origin and

the line of intersection of N
$8(p—B)=0, (a)
$5'(p—B) = 0. @)

If p is such that 88p = 858, and also 88'p = 88'8', then both the
above equations will be satisfied. Hence, from (a) and (b)

83088'3'— S8S88p = 0,

which is also a plane through the origin. This equation may

also be written
S[(3SB' — 8'898)p] = 0,
which shows that
388'3'— 'S8

is a vector-perpendicular to the plane, and therefore to the line
of intersection of (a) and (d).

15. To find the equation of condition that four points lie in
a plane. '

If the vectors to the four points be o, 83, v, 8, then, to meet
the condition,

d—a, 8—8, 8—y
must be complanar, and therefore
8(@—-a)(@—=p) (B —y)=0,
838y + Sady + SaBS=S8aBy . . . (201),

whence

which is the equation of condition.
Or, # and y being indeterminate, we have also

d=a+a(B—a)+y(y—p),
8+@—1at+y—2)B—yy=0,
I1+@—1)+(y—2)—y=0.

or

and
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Ori in general,
aa+bﬁ+0y+dé§=0}
atbtotd=0f . (202),

are the sufficient conditions of complanarity.
These conditions are analogous to Equation (9).

16. Given the three planes of a triedral, to find the equations
of planes through the edges perpendicular to the opposite faces,
and to show that they intersect in a right line.

Taking the vertex as the initial point, let

Sap =0, (a)
SBp =0, (®)
Syp=0 (¢)

be the equations of the plane faces. Then Yof3 is a vector par-
allel to the intersection of (a) and (b), and V. yVaf3 is a vector
perpendicular to the required plane through their common edge.
Hence the equation of this plane is

S(pV . yVof3)=0. (a"
Similarly, or by a cyclic change of vectors,

S(pV « a¥By) =0, @)

S(pV « BVya)=0 ©)

are the equations of the other two planes.

If from their common point of intersection normals are drawn
to the planes, then are V. yVof, V. aVBy and V. 8Yya vector
lines parallel to them ; but, Equation (123),

V(yVof3 + aVBy + fVya)=0.

Hence these vectors are complanar, and the planes therefore
intersect in a right line.
Otherwise : from Equation (111)

V(aVBy) = 7808 — BSay;
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hence, from (3",

S(pySaB — pfSay) = SaBSpy — SaySpB = 0.

Similarly, or by cyclic permutation,

88y8pa — 8BaSpy = 0,
SyaSpB — 8yBSpa = 0.

But the sum of these three equations is identically zero, either
two giving the third by subtraction or addition.

17. To find the locus of a péz’m‘ which divides all right lines
terminating in two given lines into segments which have a com-
mon ratio.

Fig.67. Let pa and p's (Fig. 67) be the two
b given lines, a and B unit vectors parallel
to them, BA any line terminating in the
Y R given lines, and ® a point such that
o7 = RA=mBR. Assume pp', a perpendiculdr
to both the given lines, o, its middle
point, as the origin, and op = §, op'=—3§, or = p-
Then '
OA = p -+ RA =8 4 2a.
OB = p +RB = —§ -+ yf3.
Adding
2p +RA + BB = 2o + 9. . (a)
But .
RA+RB=m_lRA=m—1(—p+3—l—xa),
m m

which substituted in (a) gives

p—38—aa=m(yB —p—3), ®
whence, since 838 = S8a =0,

Sp(m+1)=8&1 —m)=c,

or the locus is a plane perpendicular to po!,
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If the given ratio is unity, or BR = RA, then m = 1 and
88p =10,
and the locus is a plane through o perpendicular to pp'.
If o« and B3 are parallel, then () becomes
p—8=m(@la—p—23),
whence
Ssp(m + 1) =(1 —m)&,
a right line perpendicular to pp! If at the same time m =1,
88p=0 and p= 2'a,
a right line through the origin parallel to the given lines.

18. If the sums of the perpendiculars from two given poinis on
two given planes are equal, the sum of the perpendiculars from
any point of the line joining them is the same.

Let 4 and B be the given points, 0a =a, 0B = S, and S8p=d,
§8'p = d' be the equations of the planes; & and &' being unit
vectors, so that #5 and &' are the vector-perpendiculars from A
on the planes. Then :

r=Sad —d,
Yy =Sad — d;
and
24+ y=8.(8+8)—(d+d).
Similarly

2+ 1y'=880+8)—(d+d).
But, by condition,
Sa(3+8) =803+,
S(B—a)(3+3)=0. (@)

The vector from o to any other point of the line aB is
a+2% (B —«); whence, for this point,

! 4" =8 [a+2(B— )] (3 +8) — (@+d),

or

for which point, since (¢) remains true, the sum therefore is
unchanged.
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19. To find the locus of the middle points of the elements of an
hyperbolic paraboloid.

Let the equations of the plane director and rectilinear direc-
trices be

S8p = 0,
p=o+2zB and p=a'+a'B

Also, let oM = i be the vector to the middle point of an ele-
ment 80 chosen that the vectors to the extremities are o+ 283
and o' + &'8. Then, since » is the middle point,

2p=a+af+ad +2f, (@)
The vector element is
— 'R —a' + o+ 28,

and, being parallel to the plane director,
SS(— a+a + 2B —x’B') =0.

This is a scalar equation between known quantities from which
we may find 2’ in terms of « ; substituting this value in (a), we
have an equation of the form

p= oy +afy,
or the locus is a right line.
20. If; from any three points on the line of intersection of two

Dplanes, lines be drawn, one in each Dplane, the triongles formed
by their intersections are sections of the same pyramid.

The Circle and Sphere.
78. Equations of the circle.

The equation of the circle may be written under various
forms. If a and B are vector-radii at right angles to each other,
and Ta = TR, we may write

p=cosf.a+tsing.f . . . . (208),

in terms of a single variable scalar 6.
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If a and B are unit vectors along the radii,

) p=wa+YyB,
or, since 2% + y*=1%,

p=(0"—)ta+yB . . . . (204).

The initial point being at the center,

Tp=Ta

™1 e e e e .. (205)
a

pr=—r

are evidently all equations of the circle.
If o (Fig. 68) be any initial point, ¢ the center, to which the
vector oc =1y, p the variable vector to

) Fig. 68.
any point P, CP = a, then P
pP—Y=0
whence e
(p—pi=—r". .(206), o
the vector equation of the circle whose Y

radius is 7.
If Ty = ¢, it may be put under the form

pPP—28py=¢—r . . . . . (207).

If the initial point is on the circumference, we still have
(p —v)=—1%; but y*=—*, hence

pP?—28y=0 . . . . . . (208),
or, since in this case Spy = Spa,

p’—28pe=0 . . . . . . (209).

79. Egquations of the sphere.

This surface may be conveniently treated of in connection
with the circle ; for, since nothing in the previous article restricts
the lines to one plane, the equations there deduced for the circle
are also applicable to the sphere.
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Another convenient form of the equation of a sphere is
(Fig. 68)

Tp—y)=Ta . . . . . (210),

J

the center being at the extremity of y and Ta the radius.

80. Tangent ljne and plane.

A vector along the tangent being dp, we have, from Equation

(208),
dp=—sinf « o +cosf . B,

and for the tangent line = = p + xdp,
m=10080 . a4-58inf . B+ x[—sing . a+cosh . 8] (211),

where = is any vector to the tangent line at the point corre-
sponding to 4.
From the above we have directly

Spdp =0,

or the tangent is perpendicular to the radins vector drawn to the
point of tangency.

Tig. 69, By means of this property we may

= B write the equation of the tangent as

follows : let = be the vector to any point

of the tangent, as B (Fig. 69), ¢ being

the initial point and p the vector to »,

D »/ the point of tangency. Then
Sp(m—p)=0,
whence
Spr = —12 ]|
or . Ja.....(212),
§-=1
p

are the equations of a tangent. Since nothing restricts the line
to one plane, they are also the equations of the tangent plane to
a sphere.
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The above well-known property may also be obtained by
differentiating Tp = Ta ; whence, Art. 67, 2,

Spdp =0,

and therefore p is perpendicular to the tangent line or plane.

8l. Chords of contact.

In Fig. 69 let cB = be the vector to a given point. The
equation of the tangent BP must be satisfied for this point;
hence, from Equation 212,

SBp = — 1%
or
Spo=—7* . . . . . . (213),

which is equally true of the other point of tangency p, and being
the equation of a right line, it is that of the chord of contact Fp.
And for the reason previously given, it is also the equation of
the plane of the circle of contact of the tangent cone to the
sphere, the vertex of the cone being at B.

82. Exercises and Problems on the Circle and the
Sphere.

In the following problems the various equations of the plane,
line, circle and sphere are employed to familiarize the student
with their use. Other equations than those selected in any
special problem might have been used, leading sometimes more
_directly to the desired result. It will be found a useful exercise
to assume forms other than those chosen, as also to transform
the equations themselves and interpret the results. Thus, for
example, the equation of the circle (209),

pf—28pa =0
may be transformed into

Sp(p—2a)=0,
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which gives immediately (Fig. 70) the property of the circle,
that the angle inscribed in a semi-circle is

Fig: 1?' a right angle. Obviously, this includes the
case of chords drawn from any point in a
a sphere to the extremities of a diameter, and
c the above equation is a statement of the prop-
o osition that, p being a variable vector, the
locus of the vertex of a right angle, whose
, sides pass through the extremities of « and
P

— a, is a sphere.
Again, with the origin at the center, we have (Fig. 71),
_ (p+a)+(a—p)=2a,
Fig. 71,
D and, operating with X § + (p —a),

P S(p+a)(p—)=0;

.. P is a right angle. This also follows from
Tp=Ta, whence p’=q’ and S(p+a)(p—a)=0.
Again, from Tp = Ta,
DI
T(p+0)(p —a)=2TVap.

The first member is the rectangle of the chords o, pp’ (Fig. 71),
and the second member is

20D . oP sinDoOP.

Hence the rectangle on the chords drawn from any point of a
circle to the extremities of a diameter is four times the area of
a triangle whose sides are p and a.

Also, from Tp = Ta, o
pl=—1
p'?=—1%;

-+ 8(p'+p) (p'—p)=0.

But p'—p is a vector along the secant, and p'+ p is a vector
along the angle-bisector ; now when the secant becomes a tan-

and for any other point
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gent, the angle-bisector becomes the radius ; therefore the radius
to the point of contact is perpendicular to the tangent.

1. The angle at the center of a circle is double that at the cir-
cumference standing on the same are.

‘We have
Tp = T,
and therefore, Art. 56, 18,

p=(p+a)?alp+a),
whence the proposition.

2. In any circle, the square of the tangent equals the product
of the secant and its external segment.

Fig. 69 (bis).

In Fig. 69 we have

CB = CP -} PB,
... oB’=cr’+prBY
or
eB’= 0B’ — CP?
= cB’—cp?, as lines,
= BD . BD,

8. The right line joining the points of intersection of two circles
is perpendicular to the line joining their centers.

Let (Fig. 72) c¢'=a, cp=p, cp'=p', and 7, 7' be the radii
of the circles. Then

pr=—1% Fig. 72.

(p—o)?=—1"; 3
also

(P'_ a)2 —— 2,

Hence
Spa = Sp'a,
or
Sa(p—p)=0; 2

hence pp' and cc' are at right angles.
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4. A chord is drawn parallel to the diameter of a circle; the
radii to the extremities of the chord make equal angles with the
diameter.

If p and p' be the vector-radii, 2a the vector-diameter, then
2o, = the vector-chord, and

(p'— wa)* =—1%,
(pt-20)? =— 1",

whence the proposition.

5. If ABC is a triangle inscribed in a circle, show that the vector
of the product of the three sides in order is parallel to the tangent
at the initial point. [Compare Art. 55.]

If aB= 8, ca=1v, and o is the center of the circle, then

—V(@aB.BC.CcA)=V.B(B+v)y
=Yy +BY)
=Ry+78
¢ and B being points of the circumference satisfying
pP—28pa=0 [Eq. (209)], substituting and operating with
S.ax

S. aV(aB . BC . cA) = 28afSay — 28a8Say = 0.

Hence V(aB . BC . ca) is perpendicular to a, or parallel to the
tangent at a.

6. The sum of the squares of the lines from any pvint on a
diameter of a circle to the extremities of a parallel chord is equal
to the sum of the squares of the segments of the diameter.

Let pp’ (Fig. 73) be the chord parallel to the diameter pp!
Flg 3. o the given point, and ¢ the center of the
 ~\p circle. Let cp=p, cP'=p} 0c=a, oP =L

‘\/‘ and op'= ' Then

—/32__(a +28ap +p%),
P'2 B%=—(a®+ 28ap'+p'?) ;
e OP'2= 20¢* 4 2pc? — 2(Sap+Sap').
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But
’ S(p—p") (p+p)=8(p+pHra=0.
Therefore
Sap + Sop' =0,
and

op? + or'? = po? + oD%

7. To find the intersection of a plane and o sphere.

Let p* =—7* be the equation of the sphere, & a vector-perpen-
dicular from its center on the plane and T8 =d. Then, if 8 be

a vector of the plane,
p= S+ B .

Substituting in the equation of the sphere, since 8B =0, we
have -
gr=—("—d%,

the equation of a circle whose radius is /72 = d?, and which is
real so long as d <.

8. To find the intersection of two spheres.
Let the equations of the given spheres be (Eq. 207)

pt—28py =& — 7%
p2 —9 SPY': 6'2 . ,,,!2.

Subtracting, we have
28p(y — ") = a constant.

The intersection is therefore a circle whose plane is perpen-
dicular to y— v} the vector-line joining the centers of the spheres.

Assuming (Eq. 216)
T(p—y)="Ta and T(p —v")="Ta,

show that 2 8p(y —y') = a constant, as above.
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9. The planes of intersection of three spheres infersect in a
right line.

Let ', y", "' be the vector-lines to the centers of the spheres,

and their equations

pP—28py' =,
p2 —9 SP'Y” = C”,
pl— 28py"=c",

The equations of the planes of intersection are, from the pre-
ceding problem,

28p(y ~ ") = —d, (@)
2Sp (Y' __,ylll) —_ cll!__ C', (b)
2SP(‘}/”— ,ylll) o CIH_ C”. (C)

Now, if p be so taken as to satisfy (a) and (b), we shall
obtain their line of intersection. But if p satisfies (a) and (b),
it will also satisfy their difference, which is (¢); the planes there-
fore intersect in a right line.

10. To find the locus of the intersections of perpendiculars from
a fiwed point upon lines through another fized point.

Let » and »' be the points, »p' =a, and § a vector-perpen-
dicular on any line through »; as p=a +28. Then

Sd=a+yp,
and operating with § . § x
8 = S8a,

which is the equation of a circle (Eq. 209) whose diameter is pp’

11. From a fized point P, lines are drawn to points, as
P, P, ... of a given right line. Required the locus of a point o
on these lines, such that pp' . PO = m2.

Let the variable vector Po=p ; then pp'=xp. By the condition

T(er'. PO)= m?,

or
T(xpep)= m?;
ot = mh
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If § be the vector-perpendicular from ® on the given line,

and Té=d,
88 (wp —8)=0,

:USSp:—dZ;

or
m2
‘. P2 = —C-l‘z‘SSP H

hence the locus is a circle through p.

12. If through any point chords be drawn to a circle, to find
the locus of the intersection of the pairs of tangents drawn at the
points of section of the chords and circle.

Let the point A be given by the vector 0A=a, O being the
initial point taken at the center of the circle. Let p'=o0r be
the vector to one point of intersection ®. The locus of R is
required. The equation of the chord of contact is (Eq. 213)

Splo = — 1%,
which, since the chord passes through A, may be written
Spla = — 7%,

where o is a constant vector. The locus is therefore a straight
line perpendicular to oa (Eq. 180).

18. To find the locus of the feet of perpendiculars drawn through
a given point to planes passing through another given point.

Tet the initial point be taken at the origin of perpendiculars,
a the vector to the point through which the planes are passed,
and & a perpendicular. Then

85(8 — o) =0,
or
8 — 8ad =0

is true for any perpendicular. Hence the locus is a sphere whose
diameter is the line joining the given points.
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Otherwise : if the origin be taken at the point common to the
planes, and the equation of one of the planes is $8p = 0, then
the vector-perpendicular is (Eq. 198)

37188a,

and, if p be the vector to its foot,

p=o— 38188,
or
p—a= —93188a,
whence
(p—a)= 3(Sa)?,
and

Sap — & = — §7%(88a)2
Adding the last two equations
PP —8ap=0,
or
T(p— }a)=Tia,
which is the equation of a sphere whose radius is T and center
is at the extremity of g, or whose diameter is the line joining
the points.
14. To find the locus of a point v which divides any line os
drawn from a given point to a given plane, so that
OP . 08 = m, a constant.

Let op =p and 0s = o ; also let 83 = ¢ be the eqﬁation of the
plane. 'We have, by condition,

TpTo = m,
and
Up=To;
oo To= ﬂ ]
Tp
and
__mUp
=T,
mp

=—"7

P



Depgp
7
”Oﬂﬁro;”"ﬂm
APPLICATIONS TO LOCL 175

Substituting in the equation of the plane
m88p + ¢p* =0,

which is the equation of a sphere passing through o and having

m .
— for a diameter.
oD

15. To find the locus of a point the ratio of whose distances
from two given poinis is constant.

Let o and A be the two given points, 0A = a, OR=p, R being
a point of the locus. Then, by condition, if m be the given

ratio,
T(p — a) =mTp,

whence
p'— 28pa+ o = m? p?,
(1 —m?)p®=28ap — o?
= 28ap — L—m o?,
or
9 2 Sap o? m2a’

T1omr (1—m)? (11— m?)2;

. _ [) —_T mao ,
( 1~m2> 1—m?

which is the equation of a sphere whose radius is T 1

m

5% and

a. (Eq.210).

whose center ¢ is on the line 04, so that oc = I 5
—m

16. Given two points A and B, to find the locus of P when
AP® 4+ BP? = OP%.

o being the origin, let oa=gqa, 0B= B8, op=p. Then, by
condition,
P=p—a)+0e—B0%

p*—28p(atB)=—(*+ ),
[p—(a+B) 1 =288,
T[p — (a4 )] = — 288,

whence
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Whlch is the equation of a sphere whose center is at the extremity
of (a+B), if 8B is negative, or the angle aoB acute. If this
angle is obtuse, there is no point satisfying the condition. If
A0B = 90°, the locus is a point.

83. Euercises in the transformation and interpretation of
elementary symbolic forms.

1. From the equation

(p+a)?=(p—a)?
derive in succession the equations
- T(p+a)=T(p—a) and T%ﬁ—:: 1,

and state what locus they represent.

2. From the equation

K24l

derive symbolically the equations

ap+pa=0,s§=0,sv§=o,<Ug>=-4,amiTVU§=1

and interpret them as the equations of the same locus.

3. Transform

to the forms "
$2=1 and sul—1%
and interpret. @ @ °r

4. Transform S/)%B =0 to Sf—; = Sga and interpret.

5. Transform (p—B)*=(p—a)? to T(p— B)=T(p—0a),
and interpret.

6. What locus is represented by K2 _L_op
a a



b APPLICATIONS TO LOCL 177

2
7. What by (’-’>=_1? By <§>2=_ 29

3 P @? —TR? P_ 12
8. What by U2=Ul? Up=Up? UE=1
9. vP=—1bs
a a
2
10. U’-’):UZ?
a [+ 3
i, ve=B o vP—vEs
a o
12. vP—o?
a
13. Pl a2
[43 a
9 2
14, sul—suPr sul—_suls <SU8>=<SU§>?
a a o
15. Tp——,-l'?

16.

17.

Transform (p — a)? = a® to T(p — a)=Ta, and interpret.

Under what other form may we write (p — «)’=(8— a)*?

Of what locus is it the equation?

18.

pP+o?=0? p*4+1=0? Translate the latter into Car-

tesian coordinates, by means of the trinomial form, and so deter-
mine the locus anew.

19.

20.
21.

22.

o

23.
24.

T(p—B)=T(B—a)?
Compare SU% = Tg and S%: 1 with the forms of Ex. 3.
‘What locus is represented by S83p + p?=0 when T8 =17

- ()
(=

Show that V. VaBVap=0 is the equation of a plane.

What plane? [Eq. (112)].
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The Conic Sections. A

Cartesian Forms.
84. The Parabola.

Resuming the general form of the equation of a plane curve

p=za+yp,

from the relation y* = 2 px, we obtain

2

=7
p=gpetuB. o . . . L (21)

for the vector equation of the parabola when the vertex is the
initial point. If the latter is taken anywhere on the curve, from
the relation y* = 2 p'z, we obtain

2

,,=2-’/_p,a+y3 Coe ... (215);

and if the initial point is at the focus, then 32 = 2px + P* gives

1 2 2
1, C L (216);
p=5- 0 —atyB ( )

or again, in terms of a single scalar ¢,
t2
=§a+tﬂ e e e e e (217).

In Equations (214), (215) and (216), o and B are unit vectors
parallel to a diameter and tangent at its vertex, being at right
angles to each other in Equations (214) and (216) ; in Equation

(217) a and B are any given vectors parallel to a diameter and
tangent at its vertex, the initial point being on the curve.

85. Tangent to the parabola.

From Equation (216) we have for the vector along the tangent
(Art. 62)

,%U-’,',B’
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and, therefore, the equation of the tangent is

R O SR, Yo
r—Qp(y ) +yB+Y(p +B) . . (218).

From Equation (217) the vector along the tangent is

ta + 83,

and the equation of the tangent is
2
r=%a+tﬂ+m(ta+ﬁ) C ... (219).
If p be the vector to a point on the diameter of a parabola, the
point being given by the equation
p = ma + nG, (a)
and a tangent to the curve be drawn through this point, then

() must satisfy the equation of the tangent-line and

Lo tiB+a(atp),

ma+nﬁ=—2—

whence 2
m=§+xt and n=t+w,

o t=n+£Vn’—2m; (®)

hence, in general, two tangents can be drawn to the curve through
the given point. When n?=2m, they coincide; in this case,
from (a), n?
p= E) a+nB,

the point being on the curve. If 2m >n? ¢ is imaginary, and
no tangent can be drawn ; in this case (a) becomes

71.2
p =<—2— +a>a +ng,

the point being within the curve.
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86. Examples on the parabola.
1. The intercept of the tangent on the diameter is equal to the
Fig. 14, abscissa of the point of contact.

Since the tangent is parallel to
the vector ta -+ 8, or to any multiple
of it, it is parallel to 2o 418 or to

2 2
fza +18+ té a, that is, to (Fig. 74)

o X oP -} 0OX.

T 8
% / But
TP = TO + OP;
/ ®/ .*. TO = OX.
2. If, from any point on a di-
\ ameter produced, tangents be drawn,
8y

the chord of contact is parallel to the
tangent at the vertex of the diameter.

If ¢ and t" correspond to the
points of tangency, we have for the vector-chord of contact

] " t'z ! t”2 "
p—p =§‘1+t/8—3“—t 8,

which is parallel to

r 4
ﬁ-f—t—;t a,

or, from Equation (3), Art. 85, to
B+ na,

which is independent of m.

8. To find the locus of the emtremity of the diagonal of a rect-
angle whose sides are two chords drawn from the vertex.

Let op and or' be the chords. Then

y2
or=p=Latyp, @)

r2
op'= p'= j—p — B ®)
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The vector-diagonal &' is p + p; or
2 12
o =3ty -y)8

which may be put under the form of the equation of the parabola

'
by adding and subtracting %‘% a, giving

nl_(y_y')z oy gl 2yy'
‘0——223—“4‘(.9 y)ﬁ‘f'——?p a. (©
But, by condition, Spp' =0. Hence, from (a) and (b), Sof
being zero,
r_ ¥y

=0, =Cp @

vy
which in (¢) gives
Al (y —¥ ’)2 ! 4
o' =7 u+(y—y)B+4pa.
p
Changing the origin to the extremity of 4pa,

"2
&:=(12pi)a+(y—y’)ﬁ-

Hence the locus is a similar parabola whose vertex is at a
distance of twice the parameter of the given parabola from its
vertex.

Moreover, from (d), zx'=(2p)%. Hence the parameter is a
mean proportional between the ordinates and the abscissas of the
extremities of chords at right angles.

4. If tangents be drawn at the vertices of an inscribed triangle,
the sides of the triangle produced will intersect the tangents in three
points of a right line.

Let orp’ (Fig. 74) be the inscribed triangle, and one of the
vertices, as 0, the initial point. Then, for the points » and »'
respectively, we have \
i t
pP= éa + 1B,

t 2

]
p'= Eo, + t'ﬁ.
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Let my, my, =3 be the vectors to the points of intersection ; then

2
7rl=0P+Ps1=t§a+tﬁ+x(ta+,8).

Also
12
= x'op'= w'(%a + t'ﬁ) ;
) t 22
— Xl = —— I3 =gzt
B + 3 + A
2= _r
' — "2
Hence

m=t (Lt ig)=—L (Tt p)
YTon ¢\ 2 T —r\3* )
In a similar manner

ot t
m=gr—i(ze+A)

But
3= OP + yPP' = opP + y(p'— p)
t2 t'?_ t2
=§a+t,8+yl: - a—l—(t’—t)ﬂ].
Also .
my =20}
t2 tl2_ t2
oty =0, thy(E—t =z
it
=
t4t
Hence
'
Ty = t——l-_tlﬁ
Now

2t—t' 2t'—t¢ 2" ' t
. T — 7 Ty — p 7r3=t<:2-a+,8>—t'(§a+ﬂ>—(t—t')ﬁ=0,

2t—t'  2t'—t £y
t ¢ tt'

Hence 7y, m; and =g terminate in a straight line.
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5. The principal tangent is tangent to all circles described on
the radii vectores as diameters.

Tig. 5.

Let ap =p (Fig. 75), e and B8 /
being unit vectors along the axis D —— 7
and principal tangent. Then, if /

the circle cut the tangent in T,
and T¢ be drawn to the center,

T(1¢) = T(¥c)=T(§FP);
. 16t = }(p — ma)’.

Also

TC == TA -+ AF + FC
= — 28+ ma + $(p— ma),
1! =[—28+ ma+4(p—ma)]

Equating these values of 7%,
we have, since SBa =0,

223 — 288p + m8ap =0,
2 ¥
L2yt = 0,

which gives but one value for z.

6. To find the length of the curve.

It has been seen (Art. 62) that, if p==¢(¢) be the equation
of a plane curve, the differential coefficient is the tangent to the
curve. Hence, if this be denoted by p'=¢'(t), Tp'dt is an
element of the curve whose length will be found by integrating
Tp' with reference to the scalar variable involved between proper

limits ; or
t !
s—s8 =1 Tp.
()

Y
P =’QI_)‘1+3//89

For the parabola
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we have
.pl= y a + 18
p b

. TP!= Z_'_l:l(yz_*_pz)%.
» P ’

e L (Y e ey _[YP D P (1@ T
’ s"“ﬁLQHLy)'—[ 5p T2 8 ) "

7. To find the area of the curve.

With the notation of the previous example, twice the area
swept over by the radius vector will be measured by (Art. 41, 7)
TVpp'dt. The area will then be found by integrating TVpp' with
reference to the involved scalar between proper limits and takfng
one-half the résult; or

¢
A—A4d,= %fTVpp'.
¢

For the parabola ’

A—dy=3 (Lot yp)(Latp

40— 2 o 22) o y I)a E]
or, since a3 = 90°,
. 2p 12p
{

From the origin, where y, =0, to any point whose ordinate is

vy 1 s
=14 = -1,

¥y, the area of the sector swept over by p is %gﬁ =1uxy; adding
D

the area 4ay of the triangle, which, with the sector, makes up
the total area of the half curve, we have 22y, or two-thirds that
of the cireumscribing rectangle. The origin may be changed to
any point in the plane of the curve, to which the vector is v, by
substituting the value p=+y +p, in the equation of the curve,
p1 being the new radius vector ; we may thus find any sector area
limited by two positions of p;, the vertex of the sector being at
the new origin. Thus, transferring to-an origin on the principal
tangent, distant b from the vertex, p= 08 + p,;; which, in the
equation of the parabola, gives

p1=§—1;a+<y—b)ﬁ, m’=%a+ﬁ;
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integrating, as before, between the limits y =& and y =0,
¥ 1
%j(;TVplpl’ = 6—py3 = fay.

87. Relations between three intersecting tangents to the Parabo-
la. [*‘Am. Journal of
Math.,” vol. i. p. 879. Fig. 76.
M. 1. Holman and
E. A. Engler.]

Let py, poy ps be the
vectors to the three
points of tangency, P,
Py, Py [Fig. 76], and
1y, Ty my the vectors to
S1, Soy Sg, the points of
intersection of the tan
gents. Resuming Equa-
tion (216), where the
focus is the initial
point, and « and 8 are
unit vectors along the
axis and the directrix,

1. s '
P —Patyl - . (@

Since p? = — (Tp)?, and Sef =0, we have for the three points
Py Py Py 1, ., o)
Tp; =—(y )
P1 2p(‘/l +p%)

1
Tp, = — 2 2
P2 2p (y; + 1% (b).

1
Tps 2p W+ 1)

The vector along the tangent is

1:%0-"",3’
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and therefore
== Pyt PySy = %(yf —p)a+yp+z (‘%a + B)
m=p s =g = et 1B +o(Bat B)5
whence, equating the coefficients of a and S,

=5 —1%), w=%(—Y),

whence, substituting, and by the cyclic permutation of the sub-
scripts,

1 N

™ =Zo(yaz/2—p2)a + 5 +9)B

rz=—2-15(y1y3—p2)a+%(ya+y1)ﬁ> N (OF

1
Ty = 533(3/23/1 -+ 3 +y)B

J
From (b)

1 .
Tp, Tpe = 4—])2(3/12 + %) (y¢ + p°)

1
TpyTps = 4—192(?/22 +o) W+ L . L L (@),

1
Tp;Tpy = 4—192(932 + %) (7’ +p°)

and from (c)

(Tm)? = z%@ + 1% (42 + 1)

(Tm)* = %p?(y?+p2)(yf+p2m ce (o),

(Tmy)* = fpg(yf +2°) (9 +17)
J
and from (d) and (e)

(Tm)* = Tp, Tp,

(Tm)?=TpiTps ¢ « « o« « o . .
(Tmy)? = Tp,Tps J
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-From (c), it appears that the distance of the point of intersec-
tion of two tangents from the azis is the arithmetical mean of the
ordinates to their points of contact. From (f), that the distance
Jrom the focus to the point of intersection of two tangents is a
mean proportional to the radii vectores to the points of contact.

1st. If p, becomes a multiple of G,
1
p2= %(y; —pe+ 1B =28;
2=y, ==tp.

Or, the parameter is the double ordinate through the focus, or
twice the distance from the focus to the directrix.

Fig. T7.

Bl

2d. If p; is the multiple of p, (Fig. 77), then p, — p, is a focal
chord, and

Tps == p1y
or, from (a),

w[;;(yf ~pha+ yzﬁ] = ;—p(yf —Pa+unp;

whence _Yyi—p
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or
ny: +0°) =1y + 0%,

and
Ny +p=0. )
From (&) and (c)

. 1 1
Swypp = — 2—p(yzfé/1 —pQ)Z)(ylz — ) =3+ y)n

=—£¢W+ﬁﬂ%w+ﬁﬁﬂ; _ ()

or, a line from the focus to the intersection of the tangents at the
extremities of « focal chord is perpendicular to the focal chord.
The vectors along the tangents are

pr—my and  py —
and, from (%),

S(Pl - 7r3) (P2 - 7r:3) = SP1P2 + ‘"‘32 = 0,

or, the tangents at the extremities of the focal chord are perpen-
dicular to each other.
Since, from (g),
NYs=— P’
we have

Ty = 51]—3(3/13/2 — a4+ 3 +92)B
=—pa+ (Y +¥2)6,

or, the tangents at the extremities of a focal chord intersect on
the directrix.

3d. If p, becomes a multiple of « (Fig. 78), 7, =0, and from
© . A
g == é;)(:%yl —p)a+3m+y)B

=—Lat+28, @)

or, the subtangent is bisected at the wvertex.
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Also
Y/ 4
73“P1="‘§¢1+‘§,8 <?/12p 0-+.7/1,3>
N, n
T 2p 2’8

Operating with 8 . m3 X
2 2
Sﬁs(fs—f.)l)z%—%«= 0,
or, a perpendicular from the focus on the tangent intersects it on

the tangent at the vertex.
Fig. 78.

Again, since m; is parallel to the normal at py, the latter may

be written, from (i),
Xy = x<——%a+%lﬁ> =z2a+ B

whence
%

Z2=—2 =T=
Y 2,

or
x =2, 2=—0D;
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hence, the subnormal s constant; and the normal is twice the
perpendicular on the tangent from the focus.
The normal at p, may be written

amy=—2la+ pp,
or »

1
m(_§a+%ﬁ> = ety 0 = P)atus
whence, from (b),
1 2
X = 2, and 2= ;2—2—9(?/1_ +P2) =TP1 3

or, the distance from the foot of the normal to the Jocus equals
the radius vector to the point of contact, or the distance from the
point of contact to the directrin, or the distance from the Jocus to
the foot of the tangent.

The portion of the tangent from its foot to the point of con-
tact may be written 2a 4 p;, in which z has just been found.
Hence

1 1
2o+ py= 2?(3/12 +7%)a + 2—])(‘%2 — P+ up,

or
2

Y .\
za+pl=5‘a+y1,8, ()

the portion of the tangent from the foot of the focal perpendicu-
lar to the point of contact is

1
—73+P1=ga—y§lﬁ+ 273(%2—192)‘1'!‘."/1:87
or

_n h
—W3+P1~2—pa+§ﬂ, (k)

or, comparing () and (k), the tangent is bisected by the focal
perpendicular, and hence the angles between the tangent and the
axis and the tangent and the radius vector are equal, and the
tangent bisecis the angle between the diameter and radius vector
to the point of contact.
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(k) is also the perpendicular from the focus on the normal,
and shows that the locus of the foot of the perpendicular from the
Jocus on the normal is a parabola, whose vertex is at the focus of
the given parabola and whose parameter is one-fourth that of the
given parabola.

88. The Ellipse.

1. Substituting in the general equation p = xa + y@ the value
of y from the equation of the ellipse referred to center and axes

%y + b2 = 2B,
we have
p=wo+mi(a—a?)iB . . . . (220),

2
in which m=22 and o and B are unit vectors along the axes.
a

For unit vectors along conjugate diameters, the equation of the

ellipse becomes
p=ta+mi(a?—aMHif . . . . (221).

" Again, if ¢ be the eccentric angle, the equation of the ellipse
may be written in terms of a single scalar variable,

p=cosd.atsing.8 . . . . (222).
2. From Eq. (220) we have, for the vector along the tangent,

a—mi(a? —a?) dzf=a— B=a—"28
Y

o2
mN@—
= X (yo — maf) ;
hence, for the equation of the tangent line, -
r=xa+yB+X(yo—maB) . . . (223);

or, more simply, from Eq. (222), the vector-tangent is

—sing « atcosd « B
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and the equation of the tangent is

m=10C08¢ . a+sing . B+ x(—sing . a—]—cbs«;b « B), (224).

Since —sing « a+ cos¢ . B is along the tangent, cos¢ « a +
sing . B and —sing .« a4 cos¢ . B are vectors along conjugate
diameters.

89. Examples on the Ellipse.

1. The area of the parallelogram formed by tangents drawn
through the vertices of any pair of conjugate diameters is constant.

We have directly

TV[2(cosé « a+sined . B) 2(—sing . afcos¢ . 8)]

=4TVof = a constant ;
namely, the rectangle on the axes.

2. The sum of the squares of conjugate diameters is constant,
and equal to the sum of the squares on the axes.

For, since 8o = 0,
(cosdp s a+sing . B)°+(—sing catcosd . B)?=da*4 S
8. The eccentric angles of the vertices of conjugate diameters
differ by 90°
The vector tangent at the extremity of
p=cos¢ .a+sing . B (@)
—sing « a4 cose . SB.

is

This is also a vector along the diameter conjugate to p, and is
seen to be the value of p when in (a) we write ¢ + 90° for ¢.

4. The eccentric angle of the extremity of equal conjugate diam-
eters is 459 and the diameters fall wupod the diagonals of the
rectangle on the awes.
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5. The line joining the poinis of contact of tangents is
parallel to the line joining the extremities of parallel diam-
eters.

6. Tangents at right angles to each other intersect in the cir-
cumference of a circle.

7. If an ordinate pp to the major axis be produced to meet the
circumseribed circle in Q, then

Qp:PD::a:b.

8. If an ordinate P to the minor axis meets the inscribed circle
in Q, then
Qp:PD::b:a.
9. Any semi-diameter is a mean proportional between the dis-
tances from the center to the points where it meets the ordinate of
any point and the tangent at that point.

For the point » (Fig. 82) we have

p=cosd . a+tsing.fS.
Also

OT = ZOP = 0Q 4+ QT
=a(cosd . a+sing . B)
=cos' e atsing'. B+ t(—sing' . atcosd'. f).

Eliminating ¢, 1
r?=———""
cos(¢—¢")’
or 1
OT = X0P =

N, )
cos(p— ) -
oN = a'oP = 0Q -+ QN

=a'(cosd . a4 sing . B)
—cos¢lea+sing'.f+1'(—sind.a+tcosd.p)

Eliminating ¢,

But

o' = cos (¢ —¢),

oN = cos(¢p — ¢')oP;

or

‘. ON . OT = OP%
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10. To find the length of the curve.

With the notation of Ex. 6, Art. 86, we obtain, from Eq.
(222),
p'=—sing . a+cosp . B,

Tp'= vV (a? — b?) sin’ ¢ + %,
®
s — 3 =j¢;\/ (o — bY)sin? ¢ + 12,
0

which involves elliptic functions. If a =13, we have, for the

circle, s — s, _.f =17 — ¢y).
From Eq. (220), we obtain
p'= o —mk(a? — o) ~bap,
5 a e

T — /1+ m 22— 1--¢%
PN a? — ot Va? — 2 o’

z  q e?
s== oI
%\/a — %

which may be expanded and integrated; giving for the entire
curve

2 4 6
27ra<1—2i—— 8e — 3.3.5¢ —-e’cc.),

2 2.2.4.4 2.2.4.4.6.6

a converging series. If e =0, we have, for the circle, 2z,

11. To find the area of the ellipse.
‘With the notation of Ex. 7, Art. 86,
TVpp'=TV(cos¢ « a+sing . B) (—sing « a--cose « B)
=TV(cos’¢p « a3 —sin’¢ . fa) = TVaB;

A
or, since of3 = 907 o
TVpp'= 1 zab.
o '

The whole area is therefore wab.
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90. The Hyperbola.

1. Let a and B be unit vectors parallel to the asymptotes.
Then, from the equation,

XY =
we have, for the equation of the hyperbola,
p=xa+%ﬂ Coe e . (228);

or, if « and B are given vectors parallel to the asymptotes,

p-.-_.—ta +§ e e e e e . (226) 5

or, again, in terms of the eccentric angle,
p=sech.attand.B. . . . (227).

9. The equation of the tangent, obtained as usual, is from
Eq. (226),
T

p=za+ﬂ+x<ta—§). ... (228),
B

where la — 7 is a vector along the tangent.

91, Examples on the Hyperbola.

1. If, when the hyperbola is referred to its asymptotes, one
diagonal of a parallelogram whose sides are the codrdinates is
the radius vector, the other diagonal is parallel to the tangent.

If (Fig. 79) cx =ta, XP =£;, then
B

CcP =la +7, QX =ta ——g;
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but ta —_'? is parallel to the tangent at ¢ (Art. 90). ta +£j and
B

ta -5 are evidently conjugate semi-diameters.

Fig, 79.

2. A diameter bisects all chords parallel to the tangent at its
vertex.

Let (Fig. 79) cp be the diameter, ¢ corresponding to the

point . The tangent at » is parallel to ta __/j and ¢P = ta 4- B,
p'P" being the parallel chord, t

esrefesf)ofet)

Also, if t' correspond to v}

’

cp'=ta + z@

— 1
S (2 4y)t=1, mty=fa
or P —y=1.
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Hence, for every point, as o, determined by «, there are two
points P’ and ', determined by the two corresponding values
of y, which are equal with opposite signs.

3. The tangent at ®, to the conjugate hyperbola is parallel to
ce (Fig. 79).

4. The portion of the tangent limited by the asymptoles is
bisected at the point of contact.

5. If, from the poz‘ht o (Fig. 79), where the tangent at » meets
the asymptote, DN be drawn parallel to the other asymptote, then
the portion of PN produced, which is limited by the asymptotes, is
trisected at p and N.

‘We have B B

CN = 2ta+9:,3=t'a+i—, = 2ta+§—t,
cp=tla+ g H
AN PN=CN—-CP=ta—2—'8t,
and the equation of ss' is

—tat B nfta—B
p—ta—f——z—ka,(ta 2_t>,

whence, for the points s, s,

6. The intercepts of the secant between the hyperbola and its
asymptotes are equal.
B

The vector along the tangent parallel to the secant is fa — 7
Hence (Fig. 79)
cr’ =m=m<ta+§> +y<ta-—€>,
CR"=z'B==x <ta 4 ’?) + y’(ta - §>,
coy=—v

but op" = op' (Ex. 2), and therefore p"&" = P'Rr!
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7. If through any point " (Fig. 79) a line r"»'R' be drawn
in any direction, meeting the asymptotes in ®" and R} then

P’ rR". P'R'=PD'2

8. If through »] »" (Fig. 79) lines be drawn parallel to the
asymptoles, forming a parallelogram of which »'p" is one diagonal,
the other diagonal will pass through the center.

The vector from ¢ to the farther extremity of the required
diagonal is

" 1 gt 1 1 ' [
t a+§+(t—t')a+<t—”—?>,3=ta+§=t—”<t a-{-’g).
B

But #"a + ?

required diagonal.

is the vector from ¢ to the other extremity of the

9. If the tangent at any point p meet the transverse axis in T,
and PN be the ordinate of the point p; then

CT . ON = 2,

¢ being the center and a the semi-transverse axis.
From Eq. (227), substituting in ¢t = cp 4 PT,

msec¢.a=sec¢.a+tan¢.B+y(tan¢sec¢.a+sec"’¢.B);

e X = 1 3
sec’¢
and
Or + ON = (£ sece « a) (seCh « a) = o
or

CT + ON = @2,

10. If the tangent at any point P meet the conjugate axis at T,
and pN' be the ordinate to the conjugate axis, then

cr'. oN' =1,

¢ being the center and b the semi-conjugate axis.
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92. The preceding examples on the conic sections involve
directly the Cartesian forms. A method will now be briefly
indicated peculiar to Quaternion analysis and independent of
these forms.

1. The general form of an equation of the first degree, or as
it may be called from analogy, a linear equation in quaternions, is

agb + a'gh'+ a''gd" - oo =c,
Sagb =c, (a)

or

in which ¢ is an unknown quaternion, entering once, as a factor
only, in each term, and a, b, a; b} - , ¢ are given quaternions.
It may evidently be written

3Sagb + 3Vagb = Sc¢ + Ye,

whence
38agb = Se, )
2Vagb= Ye. (©
But
Sagb = Sqgba = SqSba + 8 . V¢Vba,
and

Yagh = V(8Sa + Va) (Sq + Vg) (8b +Vb)
=V.Sq(Sa+ Va) (80 + V)
+ V(8aVgSb + 8aVgVb 4+ VaVgSb + VaVqVb)

= 8qVab + V(Sa8b — SaVb + SbVa) Vg
+V.VaVqVb 4V . VaVbVg — V. VaVbVgq
[Eq. (116)] = SqVab + V(8aSb — Sa¥b + 80Va — YaVb) Vg
+2VaS . YgVb
= 8qVab+ V. a(Kbd)Vqg 4+ 2Va8 . VgVb.

‘We have therefore, from (b) and (c),

Sc = 8¢38ba + 8 . Y¢gSVba,
Ye=8¢3Vab + 3V . a(Kb) Vg + 23VaS . YgVb,

or, writing

SSab=d, 3Vab=38, 3SVba=38] Sq=w, Vg=p,
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we obtain
Se = wd + Spd!
Ye=wd 4+ 3V. a(Kb)p + 23VaS . pVb.

We may now eliminate w between these equations, obtaining
Ye.d—S8c.d=d3Va(Kb)p — 8Sp8'+ d23VaS . pVD

which involves only the vector of the unknown quaternion ¢, and
which, since V and 3 are commutative, may be written under

the general form
v =Vrp -+ 38380,

in which y, a, a; == y By B are known vectors, » a known
quaternion, but p an unknown vector. This equation is the
general form of a linear vector equation. The second member,
being a linear function of p, may be written

Vrp4+3B8ap=dp=y . . . . (229),

where ¢p designates any linear function of p. If we define the
inverse function ¢! by the equation

¢~ (¢p) = p;
ceop=97ly
the determination of p is made to depend upon that of ¢~

2. Without entering upon the solution of linear equations, it
is evident on inspection that the function ¢ is distributive as
regards addition, so that

d(ptp'+)=dp+¢p'+ . . . (230).

Also that, a being any scalar,
dap=adp . . . . . . (281),
dép=¢dp . . . . . . (282).

3. Furthermore, if we operate upon the form

¢p = 3f38ap + Vrp

and
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with 8 « ¢ X, ¢ being any vector whatever,
Sodp = 38(aBSap) + So(Vrp).
S(cBSap) = SoBSap = SpaSBo = 8(paSPr),

S(aVrp) = S[aV(8r + Vr)p]= 8rSop + Sc (Vr)p
= 8rSpo — Sp(Vr)o = S[pV(Kr)a].

But

and

Hence, if we designate by ¢'c,
¢'c = SaSBo + Y(Xr)o,

a new linear function differing from ¢ by the interchange of the
letters « and 3, and Kr for 7, we shall have, whatever the vectors
p and o,

S(o¢p) = 8(pd's).

Functions, which, like ¢ and ¢, enjoy this property, are called
conjugate functions. The function ¢ is said to be self-conjugate,
that is, equal to its conjugate ¢, when for any vectors p, o,

So¢p = Spdo.

93. In accordance ‘with Boscovich’s definition, a conic sec-
tion is the locus of a point so moving that the ratio of its dis-
tances from a fixed point and a fixed right line is constant.

1. Let » (Fig. 80) be the fixed point or Fig- 80.
focus, oo the fixed line or directrix, and p
P
any point such that TP _ e, the constant ratio >
DP ;
or eccentricity. Draw ro perpendicular to T
the directrix, and let Fo=a, oOD=yy, PD=2a
and Fp=p. By definition,

Tp —e
T(ep)
or
p2 = %zl (a)
Also

p+xa=a-+yy.
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Operating with 8 « a X, we have, since Say =0,

Sop + xo? = d?,
or
@?at = (o — Sap)®.
Substituting in (a)
?pf=e(*—8Sap)® . . . . (283),

in which e may be less, greater than, or equal to unity, corre-
sponding to the ellipse, hyperbola and parabola.

Fig. 81.

O] Al F/ N [¢ o\ a!

2. For the ellipse, Fig. 81, putting p=aa for the points
A and A} we have

&= and ®=— s
1+4e 1—e
or, since p = %a = TFO,
FA = FO,
e
FA!= FO,
1—e
whence
2e
AM'=2a= 5 FO,s
1-—¢
and therefore
2
—¢
FO = a,
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which furnish the well-known properties of the ellipse,

FA = a(l — @),

Fa'=a(l +¢),
CF = ae,
1 —
A0 = ea,
a
COo = _.
e

3. Changing the origin to the center of the curve, let ocr =a';
e

then cp=p' and p=p'—d, o' ={——
1—é?

-t a; whence
14e

— 2
a=1 5 d Substituting these values of p and a in
e
a?p? = ¢?(a? — Sap)?,
remembering that a'2 = — a’e? we obtain

a2p!2 + (Salpl)2 — a4(1 —_ e?),
or, dropping the accents, ¢ being the initial point,
a’p?+ (Sap)?=—a*(1—e) . . . (234),

the equation of the ellipse in terms of the major axis with the
origin at the center. If p coincides with the axes, Tp==a or b,
as it should.

4. Equation (234) may be deduced directly from Newton’s
definition, thus: let cr = a (Fig. 81) as before, ¥ and ¥ being
the foci, and ¢cp =p. Then

FP=p —a, F'P=p+a,‘
and, by definition,
P +r'P=20q
as lines; or
T(p—a) +T(p+a) =20,
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a being the semi-major axis. Whence

V=(p—a)i=2a—vV—(p+a)
Squaring
— '+ 28pa— a2 =40 —4aN—(p+a)’— p? — 28pa — o,
Spo —at=—aV—(p+ o)’

Squaring again .

(Spa)? — 2a%Spa + a* = — a?(p* + 2 Spa. + o?),
a’p?+ (Spa)? = —at — a’d?,
or, as before,
a’p? + (Spa.)2 =—at(1 — €%).

94. 1. The equation of the ellipse
@ + (Sap)?=— a*(1 — &)

may be put under the form

_a*p+aSap —1.
Seo )

or, in the notation of Art. 92, writing

the equation of the ellipse becomes
Spdp=1 . . . . . . (235).

2. By inspection of the value of ¢p it is seen thaf, when p
coincides with either axis, p and ¢p coincide.
Operating on ¢p with § . o X, we have

__a*8op + SoaSap |

Sodp = a(l—e) '’
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. a’o+ aSeao .
operating on ¢o = —m with § . p X, we have
28p0 + SpaSac
Spdha = — LT T DpaaT,
pbo at(l—e) '

hence
Sppr=8cp . . . . . . (286),

and ¢ is self-conjugate.

3. Differentiating Equation (235), we have
Sdpepp + Spdpp =0,
Sdpp + Sppdp = 0, [Eq. (232)]
Sppdp + Sppdp = 28ppdp = 0.  [Eq. (236)]

If = be a vector to any point of the tangent line,

x=p + xdp,
whence
Spp(w—p)=8(7 —p)$p =0, (@)
or
Srdp=Sppp=8ppr=1 . . . . (237)

is the equation of the tangent line.

From (&) we see that ¢p is a vector parallel to the normal at
the point of contact, being parallel to p only when p coincides
with the axes, as already remarked.

4. To transform the preceding equations into the usual Car-
tesian forms, let ¢ be a unit vector along ca (Fig. 81), and j a
unit vector perpendicular to it. If the coodrdinates of p are «
and ¥, then, since o = CF, '

p= @i+ Yj,
and
__dp+taSep a2 (xi + yj) + aeiS « aei(wi + yj)
Pp= a,“(l—e2) - a4(1_ez)
_ @il — e%) + a*yj
(1 —-¢)

i
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or, since 1 — e ==

AW
()

- Sppp=1=-8§. (wt+w)< ‘sz)’

and
a2y2 + b2932 — a2b2.

Again, if ' and y' are the codrdinates of a point in the tangent,

T=a'l+yj;

. Srgp=1 ———S<m+m( 3;{,),
and
: ayy' -+ brax’ = o’

The above applies to the hyperbola when e > 1, that is, when
2

1—=— Z—)E, giving the corresponding equations
a
azyz — b = azb2’
atyy'— Vax' = — a?Bl.

95. Fxamples.
1. o find the locus of the middle points of parallel chords.

Let 8 be a vector along one of the chords, as rq (Fig. 82),
the length of the chord being 2y, and let y be the vector to its
middle point; then

p=vy+yB and p=y—yB

are vectors to points of the ellipse, and

S(y+yB)p(y+yB) =1,
S(r—yB)d(y—yB)=1;

whence, expanding, subtracting, and applying Equation (236),
Sy¢B=0,
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the equation of a straight line through the origin. Since ¢83 .
is parallel to the normal at the extremity of a diameter parallel
to 3, the locus is the diameter parallel to the tangent at that
point.

2. Equation of condition for conjugate diameters.

Denote the diameter op (Fig. 82) of the preceding problem,
bisecting all chords parallel to 8, by e. Then

Sapf3 =0,
SBpa=0.

In the latter, B8 is perpendicular to the normal ¢a at the ex-
tremity of a, and is therefore parallel to the tangent at that
point; hence this is the equation of the diameter bisecting all
chords parallel to a. Therefore, diameters which satisfy the
equation Sa¢pB =0 are conjugate diameters.

or

3. S@mjalementary chords.
Let ee' (Fig. 82) and pp' be conjugate diameters, and the
chords pp, pp' be drawn. Then, with the above notation,

pr=o0o—f3,
pp=a+pf,

S(a +IB)¢,(¢1 —-B)= S(a+8) (o — $B)
= S(apa — adf + Bea— BB).

and
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But
Saga=1, SppB=1, SadB = SBa;
. S(a+B)d(a—p)=0.

Hence, if pp is parallel to a diameter, »p' is parallel to its
conjugate.

4. If two tangents be drawn to the ellipse, the diameter parallel
to the chord of contact and the diameter through the intersection
of the tangents are conjugate.

Let Tq (Fig. 82) and 1R be the tangents at the extremities of
the chord parallel to 8, and or = 7. Then

0Q=2a+yB, OR=uwua-+y'g.

From the equation of the tangent Sr¢pp =1, we have

Srp(wa +yB) =1,
Swh(taty/B) = 1.

Expanding and subtracting

Sz¢B8 =0.

Hence., Ex. 2, = and B, or op and op, are conjugate. The
locus of T for parallel chords is the diameter conjugate to the
chord through the center.
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5. If Qoq' (Fig. 82) be a diameter and Qr a chord of contact,
then is @'r parallel to or. ’

rQ being parallel to 8, and 0@’ = — 0Q, we have

rQ =298, RQ'=y,8—sca—ma—yB;

whence, directly rRQ' = — 22a; as also SrQ$RQ' = 0, RQ and RrQ'
being supplementary chords.

6. The points in which any two parallel tangents as Q't qr
(Fig. 82) are intersected by & third tangent, as TT) lie on conju-
gate diameters.

The equation of rr' is Smdp =1, and that of Q't' is S='¢p'=1.
For the point T, = =='; whence, by subtraction,

Sw(p —p')=0.
7. Chord of conlact.
The equation cﬁ‘ the tangent,
Sppr =1,

is linear, and satisfied for both @ and R. Hence, writing ¢ for p
as the variable vector, = being constant,

Sopr =1
is the equation of the chord of contact.
8. To find the locus of T for all chords through a JSiwed point
(Fig. 82).

Tet s be a fixed point of the chord rQ, S0 that os=o =0

constant. Then
Sodr = Srdo =1,

a right line perpendicular to ¢o, or parallel to the tangent at the
extremity of os, and the locus of T for all chords through s.
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9. Any semi-diameter is a mean proportional between the dis-
tances from the center to the points where it meets the ordinate of
any point and the tangent at that point.

op (Fig. 82) and op being still represented by B and a, let
oT=2'a and 0Q= p==wa -+ yB. Then from the equation of the
tangent, Sx¢p =1, we obtain

Sa'ach (wa +- yB)=1;

whence, since Sa¢S =0,

22’ Saga = 1,
or
2o’ =1
ce X e Bla= a2,
or

ON . OT = oP%

10. If oo’ (Fig. 82) and vp' are conjugate diometers, then are
eD and P’ proportional to the diameters parallel to them.

‘With the same notation
DP =0a —f3, p'P=a+p,

N OE =m(a— f), oF =n(a 4 B),

whence
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From the equation of the ellipse

S’m(a.—ﬁ)¢>m(a.—-ﬂ)= 1, (o)
and
Sn(a+ B) ¢n (a+B)=1. ®)
Now, from (), since S8$8 = Sada =1 and SBpo = SadpB =10,
2m? = 1.
Similarly, from (&),
2n?=1;

Also
pp:D'p::T(a—p): T(a+ )
::Tm(a—B): Ta(e+ B)

: 1 OE: OF.

11. The diameters along the diagonals of the parallelogram on
the axes are conjugate; and the same is true of diameters along
the diagonals of any parallelogram whose sides are the tangents at
the extremities of conjugate diameters.

12. Diameters parallel to the sides of an inscribed parallelo-
gram are conjugate.
Fig. 83.

Tet the sides of the parallelogram (Fig. 83) be

PP =a, PQ=p,
and let
OoP = p, 0Q=p:
Then
or'=p+4a, 0Q=p'+a o—p=4
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From the equation of the ellipse, Sp¢pp=1, we have for ¢' and p'

8(p'+a)p(p'+a)=1,
S(p+a)p(p+a)=1;

whence, since Spgpp = Sp'¢pp' =1,

2 Sa¢p' + Sapa = 0,
2 Sa¢p + Saga = 0.

Sp' pa — Spa =0,
$(p'— p) ha = S = 0.

13. The rectangle of the perpendiculars from the foci on the
tangent is constant, and equal to the square of the semi-conjugate
awis. '

Subtracting

or

QI

Let the tangent be drawn at ® (Fig. 83) and or =p. Then
¢p is parallel to the normal at ®, that is, to the perpendiculars
¥, ¥'n! Hence, oF being a,

on'=z'¢p ~— a,
OD = o, 4 X¢p,

which, since p and p' are on the tangent, in Sx¢p =1 give

S(2'¢p — a)pp =1,
S(a + zp)pp =1,

'(¢p)* =1 + Sagp,
@ (¢p)*=1—Sagp;

or
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whence
1 4 Sa¢p
Ty'¢pp = ¥'D'=T———
P ¢p
1 — Sodp
Tegp =¥ =T—F7—~
i ¢p
and )
1 — (Sagp
X EFD =T—F 2.
(¢p)*
But
. _ a2p + aSap 2_a2(a2p2) + 2a*(Sap)® 4+ a?(Sap)?
(¢p)*= at(l—¢é) ) a}(1 —é)? ’
or, substituting a?o? from Equation (234) and o) = —d’é’,
_ (8ap)’—at

af(1—e”)

Also \ \
Co2Sap + o?Sap | a* — (Sap)
— 2] - —
1 (Saqu) =1 [ CI,4(1 eg) .

. TD X FD =T at—(Sap)? af(1 — €)

p (Sap)z_“4=a2(1 — ) =10

14. The foot of the perpendicular from the focus on the tangent
is in the circumference of the circle described on the major axis.

To prove this we have to show that the line op (Fig. 83) is
equal to a. Now
oD = o + 2Pp
$p (1 — Sabp)
(ép)*

from the preceding example. Hence

28app(1 —Sadp) | (1 — Sagp)?

=a-t

(OD)2 =2}

(¢p)* (¢p)*
_ L= Bagp)® o, ot — (Sap)? ab(1 — &%)
e (#p)* wet a*  (Sap)i—at
=—aled —a?(1 5e2)=_a2;

e OD=(.
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The Parabola.

96. 1. Resuming Equation (233) and making e=1, the
equation of the parabola is
a?pl=(o?—S8ap)? . . . . . (238),
which may be written
P +28ap —a~*(Sap)®
5 =

a’

2
Sp p+2a 2a aSap:]=1;

o

1,

or

in which, if we put

— o 18q,
ép =P_TP,

we have for the equation of the parabola
Sp(dp+2a)=1. . . . . (289),
and, as in the case of the ellipse,
Sodp=S8pdo. . . . . . (240).
Operating on ¢p by 8 . « X, we obtain

Sagp=0 . . . . . . (241);

hence, ¢p is a perpendicular to the axis.
Operating on ¢p by 8 . p X

2 __ g2 Sap)?
Sphp = ’*’__T,(P_) =a(¢p)?. . . (242).
2. Differentiating Equation (239), we have
28p¢dp + 28dpa~! = 0.

For any point of the tangent line to which the vector is T,

= p +adp,
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from which, substituting dp in the above,

Spp(w —p) +8(r—p)a~t=0,
S(ppm — pdp +ma~l— pa~l) =03

or, since Spdp =1 -—28pa~! [Eq. (289)],
Sadp — 1 +28pat + Sra™! — Spa~t =

whence

Sr(dp+a )+ 8pal=1.
the equation of the tangent line.

3. From (a) we obtain

S(r—p) (pp+a)=0;

or, since = — p is a vector along the tangent,
bp+a

is in the direction of the normal.

215

(@)

(243),

4. If o be a vector to any point of the normal, the equation

of the normal will be
c=p+a(pptal).

(244).

5. The Cartesian form of Equation (239) is obtained by

making
p=wai+1yj, a=ro (Fig.80)=—pi;
L apl
__M_H/—p__yj.
cppE =T

.yt =2px 4 pt

the equation of the parabola referred to the focus.
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97. Examples.

1. The subtangent is bisected at the vertez.

Fig. 4.

We have (Fig. 84) ¥r = za, which in the equation of the tangent
Sz(dpp+a )+ Spat==1

gives
Sza(pp+a ) +8Setp=1.

But Sa¢p = 0; hence
w+sa'1p= 1 (a)
multiplying by «
2o +aSelp =a,
(a; — —%)a_ = — %a — aSa‘lp
=4a—aSa™lp,
AT = — AF — aSa:lp-

But the value of ¢p gives

o?pp=p—alSap;
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and, since ¢p is a vector along mp and 7' Sap a vector along ru,
from p = FM + MP we have

M = o' Sap = aSa"!p, (%)
— 2o
MP =a’¢p; (©)
.o AT = — AF — FM = — AM,
or, as lines,
AT = AM.

9. The distances from the focus to the point of contact and the
intersection of the tangent with the axis are equal.

2o = o — oSalp,
or (Fig. 84),
(¥1)? = (a — aSa"p)?

=(a— a™8ap)?
_ (" —Sap)®
= -

[Bq. (238)] =

.. ¥P = FT.
3. The subnormal is constant and equal to half the parameter.

The vector-normal being ¢p+a? (Art. 96, 3), we have
(Fig. 84)
N =2(gp +a7);

but
PN = PM -+ MN
= — a’pp + xa ; [Ex. 1, (¢)]
o z(¢p—l—a‘1)=——a2¢p+a:a,
z=—a.2=o:a2,
or .
w=—1, To——aj;

or, the distances Mx and ro are equal, and the subnormal = p,
a constant.

4. The perpendicular from the focus on the tangent intersects
it on the tangent at the vertex, and 4Q = yure (Fig. 84).
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Since (Ex. 2) ¥p=FT = PD, FD is perpendicular to pr or par-
allel to pN.  Otherwise:

NP = — 2(¢pa + a™) = a®(¢pp + a7?) (Ex. 3)
= a’¢pp + a = MP + FO, [(Ex. 1, (¢)]
&’¢p + a = FO + OD = FD. _
But
b0 =rq = badp + o
=4 o2pp +¥a;
o Fdlpp = AQ = fMmP.

5. To find the locus of the intersection of the perpendicular
Jrom the wertex on the tangent and the diameter produced
through the point of contact.

Fig. 84.
8 D P
\\ ".\.
AN kY
Y Y
S
\\‘ Q \“._'
N\ ",
hN
N ,.\
", "
/ . AY
T (e} A‘ F M N

Let rs=oc (Fig. 84) be a vector to a point of the locus.

Then
FS = FA + AS = FP + PS,

c=3%a+2(dp+ o) =p+ xa.
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Operating with X § . ¢p, then, since Sagp =0 [Eq. (241)],

2(¢p)* = Sppp = o*(¢p)"; [Eq. (242)]
and CEE

a4 a’(bp +a”) = Fa+ ap,

[

fl

or

cr—-%—a:a?d)p.

Operating with X S . a
S(c—%a)a=0,
Soo. = — 2(Ta)?,

or [Eq. (180)], the locus is a right line perpendicular to the
axis and §p distant from the focus.

6. To find the locus of the intersection of the t.cmgent and the
perpendicular from the wvertex.

If the origin be taken at the vertex, then since ¢p+a~'is a
vector along the normal, the equation of the locus will be

w=a(gp+a). (a)
To eliminate #, operate with S . a X which gives

- @
x=S8ur, whence Salr=—=.
&

To eliminate p, the equation of the tangent, 8= (¢p +a™') +
Spa~ =1, for the new origin becomes

S<7r + %>(¢ap +a )+ Spat =1,

or
28r¢p + 2 Sa~lr + 2807 =1.

Operating on (a) with X 8 . ¢p, whence Swdp =2z(dp)’, the
preceding equation becomes

2w(¢p)2—%§+2Sa_1p =1. : (b)
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Also [Eq. (242)] Spép = a’(¢p)?, which, in the equation of
the parabola Sp(pp 4+ 2a7')=1, gives

a?(pp)? + 28"l =1. (c)
Whence, from (b) and (c), by subtraction,

2 22
(gp)*= 2a%c -+ at
2 1

But, from (a),
2 208ra~ T4 9620.‘2_1 1
2 ol

(¢p)?=" 3

Equating these values of (¢p)?% and substituting the value of =,
27*8am — a’x? + (Sam)? =0,

which is the equation of the locus required. To transform to
Cartesian codrdinates, make

r=2i+y/, and o= ai,
whence
w=—("+9%), Ser=—azx, d=—d
and

a
-~ —2
2

the equation of the cissoid to the circle whose diameter is the
distance from the vertex to the directrix.

7. If ee' (Fig. 75) be a focal chord, and pa, A’ produced
meet the directria in p] D, then will b and »'' be parallel to AF.

__ —_ '
AD'== — ZAP = AO - OD

(e _ \=© .
%<2 p) 2+y7

Operating with 8 « o X

or

(o — 28ap) = o, (a)
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Now rp=p and ¥p'= —a'p are vectors to peints on the
curve, and hence satisfy its equa-
tion. Whence [Eq. (238)] Fig. 75 (bis).

a2p2=(a2——Sa.p)2, D
w'2a2p2 = (a2 -+ m’Sap)2 H

. 22(o? — Sap)® = (o2+ 2'Sap)*;

or
@' (o — Sap) = o? 4 2'Sap,

m"(az — 28ap) = o’ o

Hence, comparing with («), ~

r =2

or, the sides produced of ‘the
triangle APF are cut propor-
tionately, and therefore D'p'is
parallel to A¥.

8. If, with a diameter equal to three times the focal distance,
a circle be described with its cenler at the vertew, the common
chord bisects the line joining the focus and vertex.

The equation of the curve being
o’p* =(o" — Sap)’ (a)
that of the circle whose center is o (Fig. 75), referred to ¥, is
of the form [Eq. (210)]

) T(p—y) =76
or, by condition,

o p=Setfd
which, in (a), gives
2
a

Sap = Z,

which is the proposition.
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98. The Cycloid.

L3

1. Let a and B be vectors along the base and axis of the
cycloid and T8 ="Ta=7r, the radius of the generating circle.
Then, for any point p of the curve,

x=10 —78inf = r(d — sing),
y=r —rcosd=r(l—-cosd),

and the equation of the cycloid is
p=1(6 —sinf)a + (1— cosh)B.
2. The vector along the tangent is
(1—cos)a+ sind . B,
and the equation of the tangent is
7= (f —sinfd)a + (1 —cos#)B + t[ (1— cosf)a +sind . B].

3. The vector from P to the lower extremity of the vertical
diameter of the generating circle through » is

PC=—(1—cos@)B+sind . a,

and, from the above expression, for the vector-tangent »r,
S(ec.pPr)=0;

hence pc is perpendicular to the tangent, or the normal passes
through the foot of the vertical diameter of the generating cir-
cle for the point to which the normal is drawn, and the tangent
passes through the other extremity.

4. If, through p, a line be drawn parallel to the base,
intersecting the central generating circle in ¢, show that
pQ=1r(r—6§) = arcQa, Ao being the upper extremity of the
axis.
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5. With the notation of Ex. 6, Art. 86,
p' =(1—cosf)a+sind . B,
p’2=-—[(1—cos0)2+sin26]r2,
Tp' = rVI— 2cosd + costd + sin?f = r V2 — 2 cosd
=2rsinid; :
s—8 =f%rsin%0=[4r eos—é—é];r:Sr,
2T

the length of the entire curve.

6. With the notation of Ex. 7, Art. 86,

TVpp'=TV[ (f — sinf)sind . af + (1 — cos 6)%Ba]
=TV[ (6 sind — sin’d — (1— cos#)*]of
= r2(6sind + 2 cosd — 2).
0
A—A0=wf(osina+2eose—2)
/r22ﬂ'. . .
= I:E(sma —6cosh+2sind — 20)]
]
1.2 . ¢
— [5(3&110 — 0030 29)]; 3 m,

27

2T

the whole area of the curve.

99. Hlementary Applications to Mechanics.

1. If b be the magnitude of any force acting in a known di-
rection, the force, as having magnitude and direction, may be
represented by the vector symbol S, which is independent of
the point of application of the force. In order, completely, to
define the force with reference to any origin o, the vector oa=a,
to its point of application A, must also be given. For concur-
ring forces, whose magnitudes are bl bt e , we bave, for the
resultant, 8 = 3, which is true, whether the forces are compla-
nar or not, and is the theorem of the polygon of forces extended.
For two forces, 8= '+ f"; whence g*= "+ "+ 288'8", or
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b ="+ b" 4 20'0" cos 6, which is the theorem of the parallelo-
gram. of forces. For any number of concurring forces, the con-
dition of equilibrium will be 38'=0. For a particle constrained
to move on a plane curve whose equation is p= (%), dp being
in the direction of the tangent, since the resultant of the ex-
traneous forces must be normal to the curve for equilibrium, we

have
Sdp38'= Sdpf =0. (a)

2. If oa'=q} and B'is a force acting at A/ then TVa'R =a'd' sing
is the numerical value of the moment of the couple B at A’ and
—f' at 0. Representing, as usual, the couple by its axis, its
vector symbol will be Va'8! If —B' act at some point other
than the origin, as ¢} and oc'= ', the couple will be denoted by
Y(a/—9"B! From this vector representation of couples, it fol-
lows that their composition is a process of vector addition ; hence
the resultant couple is SV(a'—9y")B, and, for equilibrium,
3V(a'~y)B'=0. If the couples are in the same or parallel
planes, their axes are parallel and TS =3T. Since o —v is
independent of the origin, the moment of the couple is the same
Jor all points.  Since V(a'—y")B'= Va'8'—Vy'B) the moment of
@ couple is the algebraic sum of the moments of its component
Jorces. If the forces are concurring, and «' is the vector to
their common point of application, 3Vo/f'= VZa/f'= Va'SB'=
Vo'B, or the moment of the resultant about any point is the sum
of the moments of the component forces. When the origin is on
the resultant, o' coincides with B’ in direction, and Vo/8=10; or
the algebraic sum of the moments about any point of the resultant
is zero. If a single force B' acts at 4! we may, as usual, intro-
duce two equal and opposite forces at the origin, or at any other
point ¢ and thus replace S',, by B and Va'8, or by B's and
V(a'—")B! If { be a unit vector along any axis oz through the
origin, then the moment of B’ acting at 4! with referenceto the
axis 0z, will be —88'%', or — 8§ . (VB! If B' and ¢ are in the
same plane, in which case they either intersect or are parallel ;
or, if the axis passes through A} there will be no moment: in
these cases, o] 8' and { are complanar, and — $f'a’¢ = Q.
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3. If the forces are parallel, their resultant B =3p'=3b'Up
= UBSY'; and, therefore, for equilibrium, STB'= Sh'=0. The
moment of a force with reference to any axis oz through the
origin being — 8g'a', and the moment of the resultant being
equal to the sum of the moments of the components, we have
SBal=38p'a'{, which, for parallel forces, becomes S(Sp'. UB . al)
= S(UBSd'a . {), which, being true for any axis, is satisfied
for 3b'. a=3b'a;

[}
‘. a= Eé’_b‘ji, ®)

which is independent of UB, and hence is the vector to the cen-
ter of parallel forces. 'When Sh'= 0, the above equations give
B = 0 and « = oo, the system reducing to a couple. For a sys-
tem of particles whose weights are w! w!! -y we have the vec-
1.1
tor to the center of gravity o = E;U O'L .
0
Sw'(o.— a')=0; whence, if the particles are equal, the sum of
the vectors from the center of gravity to each particle is zero; and,
if unequal, and the length of each vector is increased propor-

tionately to the weight of each particle, their sum is zero. For
f

From this equation,

w'Sa

wl
equal particles is the mean point (Art. 18) of the polyedron of
which the particles are the wvertices. For a continuous body
whose weight is w, volume v, and density » at the extremity of

equal particles, a = , or the center of gravity of a system of

t
a, a= 2;5;’; , in which 3 may be replaced by the integral sign
if the density is a known fanction of the volume. For a homo-

Edva'
epeous bod, =
g Yy, @ Sdv

, which is applicable to lines, surfaces

or solids, v representing a line, area oOr volume. Thus, for a
plane curve p=$(t) =0, dv=ds="Tdp= T¢'()dt and
fsore@an

a=t—— ()
f 14! (1) dt
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4. (General conditions of equilibrium of a solid body. Let
the forces /2, )y act at the points a! Al «. of a solid body,
and oA =a! 0A"=a!' . . Replacing each force by an equal
one at the origin and a couple, the given system will be equiva-
lent to a system of concurring forces at the origin and a system
of couples. Hence, for equilibrium,

3p'=0, ()
SVa'f'= 0. (e)

Let & be the vector to any point x. Then, from (d),
V. 3= 0, and therefore, from (e), V. ¢58'=3Va'f'; whence

SVBla'— SVB'E = VB! (o'~ £) = 0, )
Conversely, £ being a vector to any point, the resultant couple,
for equilibrium, is 3V(a'— £)8'=0; ... ZVa/f'=0 and 38'=0

Therefore (1) is the necessary and sufficient condition of equi-
librium. k

This condition may be otherwise expressed by the principle
of virtual moments. TLet 8} 8!+ be the displacements. Then
the virtual moment of B’ is — 88'¢'; and, for equilibrium,
38B'4'=10. This equation involves (d) and (e). Thus, if the
displacement corresponds to a simple translation, §'= §"=§"
= etc. = @ constant, and we may write 38B'8' = 8358'=0;
whence, since & is real, 38'=0. Again, if the displacement
corresponds to a rotation about an axis ¢, ¢ being a unit vector
along the axis,

a'= Z‘lza'=£"l(S§0~'+ véa') = ZSZa'— CVZ&,’

the last term being a vector perpendicular to the axis. For a
1otat10n about this axis through an angle 4, this term becomes

— C'rr {Via'= —{cos0 Viu'+ sinf Via! and o' becomes
aly= — {8fa/ — £ cos 8 Via'+ sind Via!
which, for an infinitely small displacement,

= — {Sla' — (V' + 0V !
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Placing the scalar factor under the vector sign and writing £
simply for 8¢, to denote the indefinitely short vector along oz,

o'+ =o'+ Yo'

or, 8'= V! Hence ESB 8'=388'V{a'= S{ZVa'R'; or, since { is
not zero, IVa'f'=

5. Tlustrations.

(1) Three concurrent forces, represented in magnitude and
direction by the medials of any triangle, are in equilibrium.
(See Ex. 2, Art. 17.)

(2) If three concurring forces are in equilibrium, they are
complanar. By condition, B'4 "+ 8"'=0. Operating with
S. BB"x, we have 8§8'8"8"'=0

(3) In the preceding case, operating with V. 8'X, we have
VR'R"+VB'B"=0; whence, since the forces are complanar,
Tvﬁ!BN TVBIIBW or b b!! Slll(ﬁ' BH) — blbm sm(,@’ B!H) A sim-
ilar relation may be found for any two of the forces ; whence

bbb sin(B! B"): sin(B) B'":sin(B 8.

(4) If two forces are represented in magnitude and position
by two chords of a semicircle drawn from a point on the circum-
ference, the diameter through the point represents the resultant.

(5) A weight, w] rests on the arc of a vertical plane curve,
and is connected, by a cord passing over a pulley, with another
weight, w! Find the relation between the weights for equili-
brium.

(@) Let the curve be a parabola, and the pulley at the focus.
Then, ﬁom Eq. (@) of this article, the equation of the curve be-

ing p= 5?0 (y* - p*)a-+ypB, we have

() e 22
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in which 7 = radius vector. Hence
Yoo L Y
—pw +]37'w +,,.w =0,
or, since =24 p, w'=w!'" Hence, if the weights are equal,

equilibrium will exist at all points of the curve.

(b) Let the curve be a circle and the pulley at a distance m
from the curve on the vertical diameter produced. With the
origin at the highest point of the circle, p = xa + V2R — #28.
Hence, r being the distance of the pulley from w!

S(R;wﬁ_!_a) <w,a_yﬂ+(v:«+w)awu>=0;

" rw'
W= .
R+ m

(¢) Let w be placed on the concave arc of a vertical circle,
and acted upon by a repulsive-force varying inversely as the
square of the distance from the lowest point of the circle. To
find the position of equilibrium. The origin being at the lowest
point of the circle, and r the distance required, let p be the

intensity of the force at a unit’s distance; then 72; will be its
intensity for any distance 7, and

R—Q Qo 4
ot 778) (TR )0

3| PR
7= \f—

w

whence

(@) Let w'rest on a right line inclined at an angle 6 to the
horizontal, and connected with w" by a cord passing over a pul-
ley at the upper end of the line. Find the relation between the
weights. With the origin at the lower end of the line, its equa-
tion is p = 2a. If B is in the direction of w! then Sa(w'S+w"a)
=0; ... w'=w'sind.

(6) To find the center of gravity of three equal particles at
the vertices of a triangle. 4, B, ¢ being the vertices, the vector
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from A to the center of gravity of the weights at A and B is
4aB=4p. The vector to the center of gravity of the three
weights is %(AB 4 AC) = § 4B +aDC = §AB +x(—%AB+ AC);
-. w=4%, and the required point is the center of gravity of the
triangle.

(7) Find the center of gravity of the perimeter of a triangle.

(8) Find the center of gravity of four equal particles at the
vertices of a tetraedron.

(9) Show that the center of gravity of four equal particles
at the angular points of any quadrilateral is at the middle point
of the line joining the middle points of a pair of opposite sides.

(10) The center of gravity of the triangle formed by joining
the extremities of perpendiculars, erected outwards, at the mid-
dle points of any triangle, and proportional to the corresponding
sides, coincides with that of the original triangle. Let aBc be
the triangle, Bc=2a, ca =28 and e a vector perpendicular to
the plane of the triangle. Then, if m is the given ratio, B the
initial point, and Bj, Ry, R, the extremities of the perpendicualars
to BC, CA, AB, respectively,

BR; = a + Mea, BRy=2a -+ B+ meB, BR; = a+ 3 — me(a+08);
.. 4(BR; 4 BRy + BRy) = $(4a+ 28) =20+ 2(a + B)].

(11) To find the center of gravity of a circular arc. The
equation of the circle p=r{cosd .a+sinb.pB), gives dp=
r(—sing . a+ cosé . B)dd;

f¢(0)T¢'(o)do 7(cos0 « a+sing . B)d0

T f’l‘qf;'(é))dﬂ - fde

For an arc of 90° integrating between the limits 7—; and 0,

0= 2—T(a + B), the distance from the center being 213 ; which
T T



230 QUATERNIONS.

may be obtained directly also by integrating between the limits

T ™ ~ . . .
1 and ——.  For a semicircumference or arc of 60° we have, in

like manner, 2r and ?LZ
k3 T

(12) If a, B, y are the vector edges of any tetraedron, the
origin being at the vertex, then p—a, 8 — v, a — 8 are lines of
the base, p being any vector to its plane. Hence this plane is
represented by S(p —a) (B—y) (e —B8) =0; .. $p (Vo3 +
Vya+ VBy)—SafBy=0. If § be the vector perpendicular on
the base,

Sa
e

and, taking the tensors,

T(VaB + VBy + Vya) = &

6 X vol. = 2area base.
alt.

But VB + VBy + Vya +VBa+ VyB + Yay =0, in which the
last terms are twice the wector areas of the plane faces. The
sum of the vector areas of all the faces is therefore zero. Since
any polyedron may be divided into tetraedra by plane sections,
whose vector areas will have the same numerical coefficient, but
have opposite signs two and two, the sum of the wector areas of
any polyedron is zero. These vector areas represent the pres-
sures on the faces of a polyedron immersed in a perfect fluid
subjected to no external forces. For rotation, since the points
of application of these pressures are the centers of gravity of
the faces, to which the vectors are ,

Hoe+B+7), B+, G +B), (at+y),
we have the couples

—3Vi(a+B+7) (VaB +VBy+Vya) + (a4 B)VBa + (8 + )
VB + (v + o) Vay}
=—§V(aVBy + BVya + yVap),

since aVof + aVfBa =0, etc. But, Equation (123), this sum is
zero. Hence there is no rotation.
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100. Miscellaneous Examples.

In Fig. 58, F, A and K are collinear.

. In Fig. 58, aAp*—au?=2aB*—ac%.

In Fig. 18, if the lines from the vertices of the para]leloQ
gram through o and ® are angle-bisectors, omur is a
rectangle.

If the corresponding sides of two triangles are in the same
ratio, the triangles are similar.

B, a, y being the vector sides of a plane triangle, if =a+y,
show that b?=c*—ca cos B+-ab cosc.

The sides BC, CA, AR of a triangle are produced to b, E, F,
go that ¢p = mBC, AE = nca, BF = paB. Find the inter- -
sections Q;, Qg Q; of EB, FO; FC, DA DA, EB.

In any right-angled triangle, four times the sum of the
squares of the medials to the sides about the right angle
is equal to five times the square of the hypothenuse.

If ABc be any triangle, M its mean point, and o any point
in space, then

AR+ BC?+ 0A? = 3 (0A%+ oB? 4 oc®) — (8 om) 2.
If aBcp be any quadrilateral, m its mean point, and o any

point in space, then

ABY+ B2 cp?4- pA?

= 4(0a%+ 082+ 0¢?+ 0p?) — (4 oM)2— AC’— BD’,

If aBc be any triangle, and ¢!, 8', A' the middle points of

AB, AC, CB, then, o being any point in space,

AB2HBOH0a?=4(0a?+ 082+ 0¢?) —4(0B'?+0c'?H04%).
If sBc be any triangle and M its mean point, then

ABY 4 BC?4- 0a? = 3 (am? - M+ om?).

Points », Q, R, s are taken in the sides a®, BC, ¢D, DA of a
parallelogram, so that Ap = maB, BQ = mnc, ete. Show
that PQrs is a parallelogram whose mean point coincides
with that of aBcD.
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13.

14

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

QUATERNIONS.

The sides of any quadrilateral are divided equably at p, @,
R, 8, and the points of division joined in succession. If
PQRs is a parallelogram, the original quadrilateral is a
parallelogram,

The middle points of the three diagonals of a complete
quadrilateral are collinear.

If any quadrilateral be divided into two quadrilaterals by
any cutting line, the centers of the three are collinear.
If a circle be described about the mean point of a paral-
lelogram as a center, the sum of the squares of the lines
drawn from any point in its circumference to the four

angular points of the parallelogram is constant.

A quadrilateral possesses the following property : any point
being taken, and four triangles formed by joining this
point with the angular points of the figure, the centers
of gravity of these triangles lie in the circumference of a
circle. Prove that the diagonals of this quadrilateral are
at right angles to each other.

The sum of the vector perpendiculars from a, B, ¢,.... on
any line through their mean point is zero.

@, b, ¢ are the three adjacent edges of a rectangular paral-
lelopiped. Show that the area of the triangle formed by
joining their extremities is $V0* 4+ a?c’+ a?b%

Given the co-ordinates of A, B, ¢, D referred to rectangular
axes. Find the volume of the pyramid o —asBcp, 0 being
the origin.

Any plane through the middle points of two opposite edges
of a tetraedron bisects the latter.

The chord of contact of two tangents to a circle drawn
from the same point is perpendicular to the line joining
that point with the center.

If two circles cut each other and from one point of section
a diameter be drawn to each circle, the line joining their
extremities is parallel to the line joining their centers,
and passes through the other point of section.
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The square of the sum of the diameters of two cireles, tan-
gent at a common point, is equal to the sum of the
squares of any two common chords through the point of
tangency, at right angles to each other.

T is any point without a circle whose centre is ¢; from T
draw two tangents TP, TQ, also any line cutting the circle
in v, and pQ in R; draw cs perpendicular to Tv. Then
SR . ST = V&

If a series of circles, tangent at a common point, are cut
by a fixed circle, the lines of section meet in a point.

In Ex. 26, the intersections of the pairs of tangents to the
fixed circle, at the points of section, lie in a straight
line.

If three given circles are cut by any circle, the lines of
section form a triangle, the loci of whose angular points
are right lines perpendicular to the lines joining the
centers of the given circles.

The three loci of Ex. 28 meet in a point.

Given the base of an isosceles triangle, to find the locus of
the vertex.

Find the locus of the center of a circle which passes through
two given points.

Find the locus of the center of a sphere of given radius,
tangent to a given sphere.

The locus of the point from which two circles subtend
equal angles is a circle, or a right line.

Given the base of a triangle, and m times the square of
one side plus n times the square of the other, to find the
locus of the vertex.

Given the base and the sum of the squares of the sides of
a triangle, to find the locus of the vertex.

In Ex. 35, given the difference of the squares, to find the
locus.
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37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

QUATERNIONS.

oB and oA are any two lines, and mp is a line parallel to
oB. Find the locus of the intersection of 0Q and BQ
drawn parallel to aAP and op, respectively.

From a fixed point ®, on the surface of a sphere, chords
pp!, pp'’;.... are drawn. Find the locus of a point o on

these chords, such that pp'. po = m?.

A line of constant length moves with its extremities on two
straight lines at right angles to each other. Find the
locus of its middle point.

Find the locus of a point such that if straight lines be
drawn to it from the four corners of a square, the sum
of their squares is constant.

Find the locus of a point the square of whose distance
from a given point is proportional to its distance from a
given line.

Find the locus of the feet of perpendiculars from the origin
on planes cutting off pyramids of equal volume from
three rectangular co-ordinate axes. :

Given the base of a triangle and the ratio of the sides, to
find the locus of the vertex.

Show that VapVpB = (VaB)? is the equation of a hyperbola
whose asymptotes are parallel to « and §.

Find the point on an ellipse the tangent to which cuts off
equal distances on the axes. ‘

A and B are two similar, similarly situated, and concentric
ellipses ; ¢ is a third ellipse similar to A and B, its center
being on the circamference of B, and its axes parallel to
those of A and B: show that the chord of intersection of
A and B is parallel to the tangent to B at the center of c.
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